RIFTHEB A EI2025 57 BLOFREEA TR K AT FHE S

FE REBR IFREEKW) | SiesEKVA) Rk
1 W22 5 Jo N A 40 50 10k VA K2k
2 IR T PRI T 344 738 ] 5 T FEL A s % 1711 2000 10kVi5 IR 2k
3 IRV 17 280 A2 [ o TG PR A s 689 800 10k VT U2
4 KU 1846 A8 8] B I A 2D 1 2% 854 800 10KV IR
5 VT R IHARS 352 315 10k VAR YT £k
6 P Y8 A1 EEL T ULty FH AR 80 100 10KV 113/ £k
7 ZEH W X A AR 83 100 10kV &5 ) 2k
8 TENE — A AR U I F AR 2 342 315 10kVIb T4k
9 PG RNy S 316 315 10kVH 4k
10 A P A% ] B H 2R T 2% 843 1000 10kVE ik
11 SR b AR AR el i AR T 28 539 630 10K VIR F £
12 B4 0475 [R] BRI FE AR TR 2 890 630 10KV £k
13 BUSSH0 375 4% [B) B T FEL AR T 2% 778 630 10KV F £
14 B4 0275 [B] BRI FE AR TR 2 1011 800 10KV £k
15 BUSS 0 15 4R 22 18] B i FEL A T 2 1588 1250 10KV £k
16 BBt /N X FE 8 AR R 543 630 10KV ik
17 JIELA 725 e FEL 2D T 2% 831 1000 10KV 1] 35— 2%
18 I 32 S U F6 AR I FEL AR R A% 321 315 10kVAb Bk
19 R 28 IHAE AR L A% 504 630 10kv iy 2k
20 T4 1 6] b I AR K 2 776 630 10KV £k
21 B A 2 BN 83 100 10kVEE R4k
22 THAT AR 40 50 10kVEE R4k
23 10k £ [ 28 22 IR BH N AR 182 200 10k V5 [m] 2k
24 10K B M 2B A 485 A A AR 41 50 10KV ik
25 10kvH B 28 2 BURF A% -1H 97 100 10KVE & 28
26 10kv B I8 2R i A 28 48 50 10kVEH B 2k
27 10kvAEFHZR AR AT VU & X A 50 50 10kVAEBH £k
28 10kvAEFHZR AR L & X A4 25 30 10k VAL FH 2
29 L0kvAEFHER AR = & X AR 41 50 10k VAL FH 2k
30 L10kviERHZR AR S 2R R —2H AR 26 30 1OKVAERH 2k
31 LOkvAEFHZR R —H N A 42 50 10k VAL BH 2k
32 10kviHi [l 285 T & [X 587 630 10kVE B2k
33 10kvHT Il 2R BR AL 5 & X 590 630 LOKVE Bk
34 10k v f 3 28 51 S5 g A A8 80 100 10KV A8 355 28
35 10kv i3 28 i HF L T A AR 50 50 10Kk VA bk 28
36 10kv LLITHZRTEHR 2 BUR 648 172 200 10kV 113/ 2k
37 LOkv AP 2R 57 1 J5 A 389 400 10KV Vb 2k
38 ) S A R NG 380 400 10KV b2k
39 10kvAb o2k WEE A > 28 MBS A —H A 42 50 10kVib ok
40 10kv b 7T 28 WL A 37 28 WS A = 20 A A 42 50 10kVIk 4k
41 10kv b 7T 28 W57 AY 37 28 WS A — 20 A A 44 50 10kVib G4k
492 10k H T 28 5 R e o 28 65 80 10kv T 2%
43 10kV e Ay 26 e H W48 2E S e A 80 100 10kV I 2 2%




44 10KV A 42 H AT & 4% 179 200 10kV R A 2%
45 L0kV IR B R R H LG A8 217 200 10kV R A 2%
46 LOKV R B 28 0 28 H AN 5 A8 168 200 10KV Jp £ 28
47 10KV R B ZR i 2 H i 2 BUR 648 179 200 10KV Jp A 28
48 10KV R B 28 e i 28 H R 3 5 48 182 200 10KV Jp 75 45
49 LOKV o 25 28 I S 4 e H AT 28 5 48 179 200 10kV R A 2%
50 LOKV e 2R 28 I S 4 e H AT 18 5 48 176 200 10kV R A 2%
51 LOKV R 28 e i S 28 H L& AR 213 200 10KV Jp £ 28
52 LOKVREZE WIN X R H 2 64 26 30 10KV Jp A 2k
53 10KV B 28 0 i S 2RI 0 S ko 5 A8 31 30 10KV Jp & 2k
54 10KV e B 28 eI LR BR ) #1648 40 50 10kV R A 2%
55 LOKV R B 28 0 LR FU AT 3R 5 83 100 10kV R A 2%
56 LOKV R 28 0 I S 2R 3 R 28 A AR 91 100 10kV R A 2k
57 LOKV R B 28 0 I 2RI 3 1 5 A 122 125 10kV R A 2%
58 LOKV R B 28 e i 2k e Ji 2 5 4 40 50 10KV Jp 75 45
59 LOKV R BT 28 W R e w1 5 40 50 10kV R A 2%
60 LOKV R B 28 0 L 2R 11 98 5 48 24 30 10kV R A 2%
61 LOKV R B 28 I 2R 1L TR A 80 100 10KV Jp £ 2k
62 LOKV R B 28 i 2R 11K 68 5 A 25 30 10KV Jp A 2k
63 LOKV R B 28 e i 2R 11 5 5 A8 24 30 10KV Jp 75 45
64 LOKV R B 28 0 LR 11 4R 5 40 50 10kV R A 2%
65 LOKV R B 28 0 L 2R 11 38 5 40 50 10kV R A 2%
66 LOKV p B 28 e i S 2R LI L0 B AR 24 30 10KV Jp £ 28
67 LOKV R BT 28 I 2R 11 1 5 A 40 50 10KV Jp A 2k
68 LOKV R A 2B 0 i 2R 11 #8 5 A 80 100 10KV Jp 75 45
69 10KV A R BT S 1 ' &5 4 40 50 10kV R A 2%
70 10kV B A 2RV T H K 28 5 A8 24 30 10kVJE A 2
71 LOKV IR B LRVT BB 18 E AR 40 50 10KV Jp £ 2k
72 10KV E B LRITH 48540 41 50 10KV Jp A 2k
73 10KV BB VL H £ 38848 175 200 10KV % 75 25
74 10KV BRI H S o640 185 200 10kVE A 2
75 10KV BRI H 2 IHED 171 200 10kV g A 2k
76 10KV IR EF 2R VL 5 30T 2t 6 40 80 100 10KV Jp £ 2k
77 10KV R B 2RV S 30 1 6 4 163 200 10KV Jp A 2k
78 10KV E 25 28 VT B F 3 &5 7% 40 50 10KV Jp 75 45
79 10KV IR R 2RV B 302 6 A0 40 50 10kVE A 2
80 10KV B ZRIT B IS I A 40 50 10kV g A 2
81 LOKV IR B 2R SR B 54 40 50 10KV Jp £ 2k
82 10KV R A g Ik 28 5 48 80 100 10kV R £ 2%
83 10KV IR B LRI BE 28 5 A 41 50 10KV Jp 75 45
84 10KV R A LWL 158 40 50 10kV R A 2%
85 10KV IR B 4R IRl 5 A48 164 200 10kV R A 2%
86 LOKV R SRR 1 1B 22 6 A 24 30 10KV Jp 2 2k
87 10KV RIELL A 185 A 89 100 10kV 35 £
88 10KV IR I EHE R TE8 42 50 10KVl 32k
89 10KV B A 5218 £ I IHE A48 171 200 10KV 58 32 2%
90 10kVEE £ 28 4% 2 B PO7 IHRIN2 A 180 200 10KV B 37 2%
91 10kVEEF 28 402 2 BB H RINLA AR 167 200 10kV B8 5 24
92 10KV AF L3R £ BIMBUA A 41 50 10KV 2k
93 10KVIEF L F R S ERERNDY 164 200 10KV EE 32 2%
94 10KV B LR S M H ZE AT 169 200 10KV e 32 2%
95 10kV B FLFE £ BUN AR 102 100 10KV e 32 2%
96 LOKV B F L FR S IR ERN 166 200 10KV & 2k
97 10KV B 42 5% £ b A48 170 200 10KV £ 2k




98 10kVEE 28 3502 2 ol N2 A AR 40 50 10kV S 2%
99 10kV 2 25 B MO B A N2 A AR 166 200 10kV B P 2%
100 10KV LR F IR £ B HOANT A AR 41 50 10KV 8 3 2
101 10kVEEFEZE R 2 I PIAN6 A 41 50 10KV 8 3 2
102 10kVEEFEZE R £ MIMPUANS A 40 50 10kV 2 P28
103 10kVEEFEZE 3R 2 MM PUANA A 41 50 10kV B P2k
104 10KV VFLRZ R 2 IIE AR 165 200 10kVE L
105 10KVERFLE R S HEBERAE 83 100 10KV 2B 28
106 10kVERFLRF R S FIB AT 166 200 10KV 2B 2%
107 10KV FLRE R S H AT 174 200 10kV 2 P2k
108 10KVERVFLRE R 2 RINEAT 83 100 10KV A2k
109 10KV FELR AR AL 42 50 10kV B P 2%
110 10KV F LA K AR 83 100 10KV LR
111 10KV R LRI RINS A AR 82 100 10KV 2B 2%
112 10KV B LRI RIN2 A AR 170 200 10kV 2 2%
113 10KV FELR JVP RINL A AR 41 50 10kV B P28
114 10kVEE 283508 2 I AINS A AR 43 50 10kVEE F 42k
115 10KV EE 2R £ (0 7 5N 41 50 10kVEE |- 2%
116 10KV R [ 2R 2 FL RN A AR 170 200 10kVEE F 2k
117 10kVEE 2R £ FLENT &4 86 100 10kVEE |2
118 10KV R 2R 2 JED B AR 162 200 10kVEE |4k
119 10KV R 2R 2 2 AN A AR 82 100 10kVEE 4k
120 10kVEE 2R 2 2 ANI AR 82 100 10kVEE |- 2
121 10kVEE | 2B 2 R e /AR 174 200 10kVEE |- 2
122 10KV R [ 2R 2 il A AR 40 50 10kVEE |- 2
123 10kVEE 20 2 AR READ 80 100 10kVEE |2k
124 10KV _F 2R £ 35 H A FE N AR 81 100 10kVEE F 28
125 10KV R [ 2R 2 WA 40 50 10kVEE |- 2
126 10KV R [ 2R 2 LN A AR 24 30 10kVEE |- 2
127 10kVEE 2R 2 HAUS A4 82 100 10kVEE |- 2
128 10kVER 2R 2 HAE A 164 200 10kVEE 4k
129 10KV b 2R £ il S5 B AR 86 100 10kVEE F 42k
130 10KV F2RaE 2 IEMN N B S AR 85 100 10KV |4
131 10KV R 2R 2 ) R A AR 166 200 10kVEE |- 2
132 10kVEE 2R £ 4 51 BN AR 177 200 10kVEE |- 2
133 10kVEE |- 2B 2 A RBUF S A& 187 200 10kVEE |2k
134 10kVEE 2R 2 PR B S AR 84 100 10kVEE F 42k
135 10KV R [ 2B H 8 AR 80 100 10kVEE |2k
136 10KVEE PHZR B e 2 1#A A 177 200 10k V128
137 LOKVHE PR T 28 A 2 166 200 10kV & FF4k
138 10KV PHER A 1A 81 100 10KV 128
139 10KV PHER KIE A 3t A AR 393 400 10KV LF2k
140 10KV PHER RIB R 28 A 538 630 10KV fT 28
141 10KV PHER RIE A 1A 408 400 10k V128
142 10KV ES PR — SR A2 171 200 10kVE F+4k
143 10kVE B 2% B 2 HRHH H T 1A% 80 100 10kVZ Bk
144 10KVZE B2 T p e N A 82 100 10kVFH 52k
145 10kVE HLER IR SR AR 82 100 10KV HiLk
146 10KV 2 B 28 B0 A W 7 98 A AR 81 100 10kVZE Hi2k
147 10KV K2R B 55 1 A 80 100 10kVEZ H 4k
148 10KV B 28 G A 81 100 10KV H 2k
149 10kVEH LI T AL 80 100 10kVF 52k
150 10KV HLZRHL 55 Va 28 A A 81 100 10kVE 28
151 10V FLZR VY KR =i I A 80 100 10kVZE Hi2k




152 10kVEZ HLZL DY KA A AR 81 100 10KV B2
153 10V HER 1LV A AR 80 100 10KV Hi2k
154 10kVEE BRI A 81 100 10kVZ Hi 2k
155 10KV HLLL 5 i A AR 81 100 10kVZ H 2k
156 10KV B4 =4 38 AP 81 100 10KV 7 B4
157 10KV B2k = A28 AR 81 100 10kVZ Hi 2k
158 10kVF 52648 1TE HE A AR 80 100 10kVE B2
159 10KV 2R TS IO b 3 &5 AR 186 200 10KV th 2k
160 10KV 2R L IO R on & AR 258 200 10kVZE th 2k
161 10KV 28 T BT A 11 4 A5 195 200 10KV (5,4
162 10KVZ th 2k s & 4% 45 50 10kVE a2k
163 10kVZE B2 B h BUR & 48 98 100 10kVE th 2k
164 10kVZE 2k (i <5 i & 48 92 100 10kVZE th 2k
165 10kVZE kg & 48 25 30 10kVZE th 2k
166 10KV ta 2k H A & 48 185 200 10k V{02
167 10KV S th 28 i s 2 28 e s 2H 9 A 84 100 10KV th 2k
168 10KV ZZ th 28 i s =7 28 2 s H 8 A 82 100 10kVE th 2k
169 10KV th 28 i s S 28 R I A T8 N AR 81 100 10kVZE th 2k
170 10KV ZZ th 28 s 5 28 e i 2 6 A8 80 100 10kVZE th 2k
171 10KV Sz th 28 i s 52 28 2 s H 5 A 81 100 10KV (5,4
172 10KV ZZ th 28 i s 57 28 e s 2H AR A R 80 100 10KV th 2k
173 10KV ZZ th 28 i s 52 28 e s 2 3 A 81 100 10kVE th 2k
174 10KV ZZ th 28 i v 3 28 e I 2 28 N AR 85 100 10kVZE th 2k
175 10KV th 28 i s 52 28 e s 2H 1 28 N AR 82 100 10kVZE th 2k
176 10kVEZ th 28 i s S 2R I 2 1 1N AR 80 100 10KV (5,4
177 10KV ZZ th 28 i s 3 28 e s 2 1 08 A AR 80 100 10KV th 2k
178 10kVZZ th 28 i s 52 28 e s 2 1 8 A 81 100 10kVE th 2k
179 10KV (B 2535 HL AT 3 5 A 185 200 10kVZE th 2k
180 10KV 2R3 Bk 28 &5 40 182 200 10kVZE th 2k
181 10kVZE {6 28 3 B A #6 5 A 170 200 10k V{02
182 10kVEE 2 R B s 648 165 200 10KV th 2k
183 10k VI 28 A i Jsy i B 65 748 41 50 10KV £k
184 | 10kVEELFEI/RIG L — KA AF (IH) 8 10 10kVZ A2k
185 10KV B 4R At A 18 A AR 95 100 10kVZE A2k
186 10kVE LT AESFAL 28 30 10kVZE A 28
187 10kVE B RIAAK Z h 28 A 101 100 10kVZ A 2k
188 10kVE A LIRARZ A 18 A F 49 50 10kVZE A2k
189 10KV 2 Ay 28 2 1 S B s A AR 80 100 10kVEZ A28
190 10kVEZ A LR A HESFo A 113 100 10kVEZ A28
191 10kVE A LR A HISF 3 A 275 315 10k V2 25 25
192 10KV B 2R Ay HSFot A 279 315 10kVE 2k
193 10KV B LR B HSF 14 AR 320 400 10kVE 2k
194 LOKVE AL EHE Z RN AT 105 100 10kVZ 2k
195 10kVZE 28 &5 1 £ BURF 3T A4 177 200 10kVZ &2k
196 10KV A 2625 78 £ BURF AT 320 400 10kVE A 2k
197 10KV Y 28 7Y 3 & B b A AD 170 200 10kVZE A2k
198 10kVEZ B 28 A 3 & e A 2 AN AR 45 50 10kVZ &2k
199 10KV B LA 2 A4 203 200 10kVEZ A 28
200 10kVZE A 48 R 28 A8 80 100 10kVZ &2k
201 10kVE A LI URTESF AR 80 100 10KV 75 4;
202 10KV 7 7% 25 35 1 3 AN A 326 400 10kVE 2k
203 10KV Z 7Y 25 35 o8 AN AR 160 200 10kVE 2k
204 10kVA AT 25 — KPASH AR 81 100 10kVEZ A28
205 10kVA BT 25 — KPA2# AR 81 100 10kVEZ A28




206 10KV AT 25 — K BN 1# /A AR 80 100 LOKVE &2k
207 10KVE LR S 28 648 130 160 LOKVZE P2k
208 10KVESEZR EHE S e A 43 50 10kV 2
209 1OKVES R R A B E R 64 128 160 10kV 2k
210 10KV 2 3 26 4 B AT 6 28 164 200 10KV Ik
211 10kVEIEL M55 A 41 50 LOKVZE P2k
212 10kVEIEL Mg 5 48 40 50 LOKVZE P2k
213 LOkVE L M3t a4 40 50 10kVZ 2
214 L0kVE L Y2548 40 50 10k V2
215 10KV I LR M7 11 & AR 40 50 10KV 1 &8
216 10KV IH LR R M 6t 5 A8 168 200 10k VI 2k
217 10KV IELR R YR st 5 A8 163 200 10kVF {f 2%
218 10KV IR R 4 54 162 200 10KV i 28
219 10KV IR R 3 5 A 163 200 10KV i 28
220 LOKVE PR LR R PR 28 6 2 171 200 10KV Sk
221 10KV IH LR RN 1 548 41 50 10k VI 2k
222 10KV LR IR B AT 6 48 341 400 10k VI 2k
223 10KV LRI FAT 162 111 100 10kVZ 2
224 10kVZEJE LR IR AT #2 6 4 403 400 10k V2
225 10kVZ £ 283 IRIGN T 45 N A 91 100 10kVE £ 2%
226 10KVZ 2 2R AR i AT A A 103 100 10kVH £ 2k
227 10KVEE £ 2R BA N 28 80 100 10kVEE £ 2k
228 10kVZE 2 2R P48 FOSE B L A 321 315 10kVZ £ 2%
229 10kVZE & 28 B 5 3 AN AR 46 50 10kVE £ 2&
230 10kVZE 2 2R & W3 A % 80 100 10kVE 2 4
231 10KV 2 2R & i on A8 57 50 10KV £ 2k
232 10kVZE 2 R & il 18 A 80 100 10KV 2 2k
233 10kVZE 2 2R IRFE i A28 88 100 10kVE £ 2%
234 10kVZE 2 28 11 KA AR 46 50 10kVE £ 2%
235 10kVE 2 28 2 BUR A 335 315 10kVE 2 4
236 10kVE £ 28 — A 18N 4R 44 50 10kVH# £ 2k
237 10kVH £ 281 K A A A 82 100 10kVHE £ 2k
238 10kVE 2281, 2. 4. 5KPAAZE 121 100 10kVZ £ 2%
239 10kV Iy 7128 1% 11 & 48 40 50 10kV I 7128
240 10KV Ey 28 Z A & 48 66 80 10KV I, 14k
241 10kVE R WARF 5748 177 200 10kV 1 [1£;
242 10kVE MR =K EGH 85 100 10kV 5 12
243 10KV Ey = 2R BE 2 AR 42 50 10kV ) =2k
244 10kVE =285 EE AR 25 30 10kV ) =2k
245 10kVL) = 2B RHLA AR 40 50 10kVE, =4k
246 10K VIR 2 28 8K 1A A28 42 50 10KV I8 28
247 10KV 3 28 e B A A 1011 1250 10k V I 5 2k
248 10KV I3 28 1) 5 52 2% i) ps 28 A AR 41 50 10KV I &5 28
249 LOKVIU8E 28 — 73 I 52 2k T i N AR 41 50 10KV I 55 28
250 10KV 2% = 20 90 37 28 S W3 A 2R 40 50 10KV I %5 2%
251 10K VI 55 28 = 2 I SL LRV R I A AR 19 20 10k V I 3% 2k
252 10KV s 28 = W SL R4 A T AR 17 20 10k V I 5 2k
253 10KV 8 28 = 79 01 5 28 = 2 s AR 42 50 10KV I &5 28
254 10K VI EL 28 25 27 78 S 2R SR 4 R 28 AN AR 40 50 10k V I B2 28
255 10K VI EL 28 2627 78 S 2R SR F FR 1B A AR 160 200 10K VIR B2 2%
256 10KV L 28 2 FE S 2k 1 B 2 280N A 17 160 10KV I (2 2%
257 10KV L 28 2 FE s 2k 1 L 2 1848 274 400 10K VI B 2%
258 10KV 28 M A e L R m T AR 64 80 10Kk VI = 2%
259 RIS TAE SETAFS V'S 200 250 10Kk VI B2 2%




260 10KV I 28 % e AT A AR 64 80 10k V I B 2%
261 10KV I 2L 28 s bl A AR 200 250 10k V I B 2%
262 10K VIR E=L 28 B BR A A48 160 200 10Kk VI B2 2%
263 10K VI EZ 28 B B 37 A 8 A 320 400 10Kk VI B2 2%
264 10K VIR E=L 28 B B 87 A 28 A AR 320 400 10K VIR B2 2%
265 LOK VI 2 28 /)N 58 1~ S 28 7 i A AR 80 100 10k V I B 2%
266 10KV 28 Ky At A AR 160 200 10k V I B 2k
267 10KVl 228 K Ha ff A AR 160 200 10Kk VI B2 2%
268 10K VIR EL 28 ye Uk A48 64 80 10k V I B2 2%
269 10KV I B 2845 28 A AR 160 200 10KV B2 28
270 10KV L2 4% i b 22 B AR 200 250 LOK VI = 28
271 10K VIR EL 2844 Fr s A A8 80 100 10k V I B 2k
272 10KV E 28 o 8] 55 1# A AR 44 50 10Kk VI 5 2%
273 10KV 22 28 5% = K3gAAR 523 630 10k VI % 2%
274 10KV 22 46 5 |- 7= Ko /A4S 428 500 10KV Il 22 28
275 10KV 22 28 5 b 7 R 185648 lid A8 519 630 10k VI % 2k
276 10K VIR 22 28 Bk /N X A 1147 1250 10k VI % 2%
277 10K VI 22 28 KR YR AR A8 1H A AR 1463 1600 10kV I % 2%
278 JLOKV)Ifi 2 2R A b8T X £ A 1 3 4 A8 e H AR 1 2 1106 1250 10k VI % 2%
279 10k VI 22 28 3 16 ZK [l BIX A AR 682 800 10KV Il 22 28
280 10KV I 22 28 3 Ak 5 el A X 284 A8 682 800 10k VI % 2k
281 | 10kVIiZe 28 35 Ak 5 el A1 X A AR I Fa AP s 2 683 800 10k VI % 2%
282 10KV R 28 S yT IS 2R 1456 503 400 10Kk VI 12 2%
283 10K VIR 28 &y Hisg A A 519 400 10Kk VI 125 2%
284 | 10kVIIEE £k &g & [X 56 A8 A AR 2% 419 400 10k V I = 2k
285 10KV 22 28 4 o 10 3848 A5 g B 45 [ 44 687 630 10KV I [ 2%
286 10K VI 28 4= fudnos /0 A% 630 630 10KV 2 2k
287 10k VI 28 T 75 = 4 A8 S9 176 200 10k VI 12 2%
288 10k VI 2= 28 % & 55 46 A8 ZBW 341 400 10Kk VI 125 25
289 10KV o 23 VLA 55 A A8 177 200 10KVl 28
290 10KV £ VT AT 48 AR 190 200 10KV It 28
291 [LOKVIR R ZR T AT 1 # 2 A8 4 XU FE i 145 il 4 622 630 10k VI b 2k
292 LOK VI 2R BYL 38/ 25 215 200 10KVl 28
293 10KV H 284K 28 J5) S 2R LA 2848 A8 422 400 10KV It 28
294 10KV 2B K28 i S R KR R A8 48 50 10KV It £k
295 10KV H 284K 28 J5) S 2R B KTV & AR 42 50 10k VI b 2k
296 10KV I 28 78 1] Tk 288 A8 42 50 10k VI b 2k
297 LOK VIR A 28 75 1T AT 18 A AR 41 50 10KV It 28
298 10KV H 2808 X H KA A 258 315 10k VI H 2%
299 10kVIlH R F iz O A 394 400 10KVl 28
300 10K VIR 28 I8 40 ) Llel 2 AR 345 400 LOK VI A 28
301 10K VI A 28 A 3 ik 28 A8 230 250 10k VI b 2k
302 10KV 75 28 Tl fdl [X 2R 7 ik A AR 170 200 10KV 75 2%
303 10kVE 228 FUe A 028 TR A A 150 160 10kV T & 28
304 10KV Bk LA 341 400 10kVTF I 26
305 10KV R AARS13 417 400 10k V5 &2k
306 KVE B P S S R iiE A0 oy SR VIR KA 338 400 10k VT &2k
307 KVEBZRHIL I R A LR A T 247 250 10KV Bz
308 LKV R BLALSF LK K R B 136 160 10kV 5 2k
309 10KV Bk HL b5 LR i G I8 R 28 AR 175 200 10k VT &2k
310 10KV Bk Bt =r e R 5 1/ LA 308 315 10KV #i 2k
311 10KV B Bt SF LR R PR A 276 315 10k VT 2k
312 KVEBERHIL T R AR LB ) e 90 125 10KV Bz
313 VEBUL P LR A F B SR R BB 414 400 10KV B2k




314 | 10kVE Bkt 5% bl CIX FE AR fic FE AR Ik 2% 426 500 10KV #i £k
315 10KVH Bk ml kw48 216 250 10k VT &2k
316 10KV IR 28 1R =) 28 A8 118 80 10KV IR 2L
317 10KV URZE 21 4% i A2 200 250 10KV IR 2L
318 10KV IR 28 7K B 11 57 25 7K B /A AR 24 30 10k VT IR 2R
319 10KV IR ZE IR 11 28 A A 236 250 10KV IR
320 10KV URZE IR 1L 1A A 572 630 10KV IR 4
321 10KV URZE VT — AT FE A 976 800 10k VIR 2
322 | 10kVFH KZEH =~ %2 B 28 Al AR s 2% 398 315 10kVF KZk
323 LOKVET K ZRHE LA SR e LA A 251 250 10kVTF K2k
324 10KV LR B Al A A AR 41 50 10kVTF K2k
325 10k VT k28 2 JEL T 57 48 3¢ B Tios A 48 42 50 10kVTF K2k
326 10KVH KL IS 8 2 AT g A AR 24 30 10kViF K4k
327 LOKVH K& AT A 376 400 10kVTF K2k
328 10kVH K2R K IR EHIR A 165 200 10kViF K4k
329 10kVET K28 K FEH S22k RIEM 18R 42 50 10KV A £k
330 10kVH KL K IEM 28 A 41 50 10kVF A £k
331 10kVH K KZE L BUN AR 101 125 10kVTF K2k
332 10V KZR AN %2 B AT 43 50 10kVF KZk
333 10KVE RN HRAZ 41 50 10KV K4k
334 10KV K LR T[] 5 A4 44 50 10KV A £k
335 10kVE KL LR AR 341 400 10kV 7 K2k
336 10KV KL AR oA 28 A AR 41 50 10kVTF K2k
337 10kVE KZ8 R IR — B 18 A AR 42 50 10kVF KZk
338 10kVH KR AR LA 28 A 175 200 10kVE K4k
339 10kV i A2k by B SR A AR 43 50 10kVE K4k
340 10KV K28 B B2 B A 41 50 10kVH K2k
341 10kVE K4 e L AAs 47 50 10kVTF K2k
342 10KV L2 2 i A 651 630 10kVH 1.4k
343 10KV FLZAR £ R AR 351 400 10KV F4k
344 10KV 128 1 - % el S 2R 15 FF A A AR 356 400 10kVE .2k
345 10KV 128 21 - % [l 3 28 25 UM A AR 196 200 10kViF 114k
346 10KV FLZR MBS 5 7 AR 487 500 10KV F4k
347 10KV LR A 2k AhI2a A AR 381 400 10kVTF 28
348 10KV FLZR AN 2R A s A AR 389 400 10kVE .4k
349 10KV 128 #1352 39 e A8 el A AR 531 630 10kVH F.2k
350 10kVE FLZ8 AN S 2RI /N 28 AN AR 433 500 10kVE .2k
351 10KV 28 Fh 3 S 2o 3 o< /N 2 1 RN AR 522 630 10kVH F.2k
352 10KV 1. 28 3 e 3 BT s 4 AR e H A 1 329 400 10kVTF 28
353 10KV LR IERE ) AR 180 200 10kVTF 28
354 10KV AHEA 28 5 AL 24 20 A 41 50 10k VA F.2k
355 LOKVAEHLZR B AL 1 17 A 43 50 10k VA F.2k
356 LOKVHEAL R B o A AR 89 100 LOKVHE F.2k
357 LOKVHEfL R Bt e A AR 41 50 10k VA F.2k
358 1Ok VAR 28 HE R BR6# A 2 179 200 10KV HE T 2k
359 10K VAL 2R HE /R BRD A AR 80 100 LOKVHE .2k
360 LOKVAEALZRHE /R BR At A AR 81 100 LOKVHE .2k
361 LOKVHEALZRHE /R BR 3 A A 43 50 10k VA F.2k
362 LOKVHEALZR M /R BR 28 A A 42 50 10k VA F.2k
363 1Ok VAR 28 HE R BR 1#A 2 50 50 10KV HE T 2k
364 LOKVAHEAR 2R IR 4E RS 20 0 A 83 100 10k VA F.2k
365 LOKVAHEARZR IR HEAT 17 A 85 100 10k VA F.2k
366 LOKVHEfHZRIA Yk 38 A AR 81 100 LOKVHE .2k
367 LOKVHEARLZR PO AT 18 A2 167 200 10k VA F.2k




368 10K VAL 2R 5 1L i A A8 40 50 10KV F1. 28
369 10K VHEAL £ JE 1L SF28 A 162 200 10KV F1 28
370 LOKVHEAL 2R FE 1L SR 1A AR 81 100 10k VHE T 28
371 LOKVHEAL AR A58 A A8 82 100 10K VAfE FL28
372 LOKVHEAT 2 AT #F AR A AT 25 30 10KV 1. 45
373 1O VHEAL AR AT 3 A S 41 50 10K VAfE FL28
374 10K VHEAL LA #2848 41 50 10K VAfE FL28
375 LOKVHEL AR AT 1 A 81 100 10KV T 28
376 LOKVEEW RIS A AR 90 100 10k VXL PD 22
377 10KV Oy 28 KA A 20 B = 402 1065 1250 10KV 00 25
378 10KV B O 2R K AP AT AE AR 1048 1250 10kVEE L 28
379 10KV 0 28 K BP b HE XA AR 1056 1250 10KV 0a 28
380 10kVEE LR KIFA 75 AR 214 200 10KV BE 0o 28
381 10kVEE LR KIFA 65 A AR 164 200 10KV BE 0o 28
382 10KV O 2B K3 R 35 A A8 369 400 10KV 02 25
383 LOKVEE O 2R KB A2 5 AR 452 400 10kVEE 0o 2k
384 10KV O 2B K IR 15 A8 43 50 10KV 02 25
385 LOKVEE DR KR4S T 670 800 10KV BE 0o 28
386 10k VP 028 FIBFE A 1050 1250 10KVEE L2k
387 10KV 22 k% $r 18 A & 52 50 10k Vil Ji 28
388 10KV 22 ek — A A% 41 50 10K VR 2k
389 10KV %28 ik & Je kb T A% 82 100 10K VR 2k
390 10KV 728 ik £ ek VU BA A 2% 83 100 10k Vi J 28
391 LOK V[ % 28 ek £ ek VU BA 1# A 4% 83 100 10k Vi Jp 28
392 10KV R 2 ik £ Wik — A A% 83 100 10k Vil Ji 28
393 10KV 2 ik £ Wik — A A% 86 100 10KVl Jp 2%
394 10KV R 28 ik £ Wik — A L# A AR 84 100 10KV Ji 2%
395 LOKVBIT 2k 2 5l A AR 344 400 10KV Jp 28
396 LOKVBIT R 2R IR VA 9 A 183 200 10k Vil Jp 28
397 10KV R 2R VA AT 88 A A 105 100 10k Vil Jp 28
398 10KV Jp 28R VA A T8 A AR 99 100 10KVl Ji 2%
399 10KV Jp 28 1 VA A 5 A A8 41 50 10KV Ji 2k
400 LOK VT R 2R VA A 33 A 44 50 10k Vi J 28
401 LOKV i) % 28] V8) SC 2 iRIA i 4 A 94 100 10k Vi Jp 28
402 10KV % 28378 52 2R VA i 28 A 8 85 100 10k Vil Ji 28
403 LOK VAT g 28R A #1 A 168 200 10K VR 2k
404 LOKVIT 2R b8 K 8 SR A AR 115 100 10KV Ji 2k
405 LOK V[ R 224 /R 8 57 fh B 28 A 309 315 10k Vi Ji 28
406 10KV R 224 /R 8 57 0 7 Be 1# A& 335 315 10k Vil Jp 28
407 10KV B Jp 2848 /R 8 SF 28N AR 111 100 10k Vil Ji 28
408 10K VT e 28 5 — BASZ 28 ol — A A 84 100 10KVl Jp 2%
409 10KV e 235 A AR 70 50 10K VR 2k
410 10KV J8 28 B AL D5 284 20 48 T 3% 549 630 10k Vi Ji 28
411 10KV 2R IE A —H 1A 46 50 10k Vil Jp 28
412 10KV B 2R 15 Fr ] AN A 45 50 10k Vil Jp 28
413 10KV R 2RI Fr — 38 AR 27 30 10K VR 2k
414 10KVEIT R g f — dH2s AN 54 50 10KV Ji 2k
415 10KV 28 BL R B /N X A AR 513 630 10k Vi J 28
416 1OV S 2R 2544 i 3 A% 253 250 10KV il Jh £
417 10KV ] ik 28 0 JiF R 3y A 45 50 10k Vi Jh 2%
418 10KV £k 2 T R A AR 297 315 10KV 2k
419 10K VST Ak 2 30 B2 i 2 A% 273 315 10k Vi Jh 2%
420 10K VT il 28 I B Jei 1 A A 419 400 10k Vi Jh 2%
421 10KV Bl £k = P 3 A AR 163 200 10KV fh 28




422 10KV A28 K pa 24 A% 29 30 LOK V] Jih 2k
423 10KV A28 K g1 A2 105 100 LOK VI Jih 2k
424 LOK VI A28 7S k#2802 348 315 10k VB fil 2k
425 LOKVEI A 2R 7S KT #1 A2 192 200 10Kk VB fil 2%
426 LOKVEIT A28 T A 132 182 200 10Kk VB fil 2%
427 LOK VAT A28 Tk #2202 206 200 10KV B fil 2%
428 LOK VR M 28— A A48 346 400 10Kk V B fil 2%
429 LOKVEI A 2R — k3¢ A A% 40 50 10Kk VB Al 2%
430 LOKVEI A 28—k 28 A A 174 200 10Kk V B fil 2%
431 LOKVEIT A 2R — K 172 279 315 10Kk VB fil 2k
432 10KV AR TE P L AN H 24 30 10k Vi $ 2k
433 10KV # 28 K Mk & A 80 100 10k Vi $ 2k
434 10KVl # 2R S AT SR B AR 40 50 10k Vi #4 2k
435 LOK VBT 2B BTG 38 5 AR 82 100 LOK VI A2k
436 10KV P28 BLAIE IS J1 28 &5 AP 80 100 LOK VI A2k
437 10KV B H 28 BLBF G F 18 5 AR 24 30 10k Vi $ 2k
438 10KV AL B Hh 5 4 80 100 10k Vi $ 2k
439 10KV 2B A2 ML 6 5 A8 44 50 10k Vi #4 2k
440 LOK VT 2B A2 ML B 5 A8 40 50 10k Vi # 2k
441 10KV AL AL B 4 54 42 50 10k Vi # 2k
442 10KV AL AL R 3 548 40 50 10k Vi $ 2k
443 10KVl A 2B 2 2 R 28 5 8T 80 100 10k Vi $ 2k
444 LOKVEIT 2R A Z ML 1H 5 A8 41 50 10k Vi #4 2k
445 LOK VI # 2R A2 M 3t 5 A8 168 200 10k Vi # 2k
446 10KV 2R A2 M 28 5 A 325 400 10k Vi # 2k
447 LOKVE AL AL M 1154 162 200 10k Vi $ 2k
448 LOKVRT B IR AT B 160 200 10k Vi $ 2k
449 10KV # 28 K A 5t 5 AR 167 200 10KV A2k
450 LOK VT # 28 A48 5 A8 173 200 LOK VI A2k
451 10KV # 28 K A 38 5 A8 174 200 10k Vi # 2k
452 10KV LR R O 2t 548 163 200 10k Vi $ 2k
453 10KV # 2R & O A 17 5 4 42 50 LOK VI A2k
454 LOKVEIT #2751+ B & A8 80 100 10k Vi #4 2k
455 10KV RS+ B ot a4 24 30 10k Vi # 2k
456 LOKVEIT#ZR 7S+ IR 15 A8 24 30 LOK VI A2k
457 10KV AL LA 28 5 A8 86 100 10k Vi $ 2k
458 1OV SAZRARILAT 18 548 86 100 10k Vi $ 2k
459 10KV LR 2 BUN 5748 232 200 10k Vi # 2k
460 10KV ] 5 £ 57 401 EL il A AR 189 200 10KV % 2%
461 [LOK VAT 57 28 B WL 3 £ 0 A BIR AT 2 = 4 4 331 400 10KV % 2%
462 10KV [l 57 28 iy 301 . ELEUR 56 A8 724 800 10k Vil % 2k
463 10KV 3 28 Fb 1 i 46 AR e FEL AR IR 4% 587 630 10k Vil % 2k
464 10KV 3 28 B rp A AR 291 315 10KV % 28
465 10KV 4% 28 8 %2 Jry #3450 A 692 630 10KV % 28
466 10KV 38 28 76 A #1246 4 618 630 10KV % 2%
467 10K V] 3 28 2 PR 1 5 A0 594 630 LOK VR 5 2k
468 10KV ] 7K Z& Ty WL AR 571 630 10k VR 7K 2k
469 10KV /K ZR A FLAT 3 A A 90 100 10K VR 7K 28
470 10KV K ZR A FLAT 28 A A 46 50 10k VR 7K 28
471 10KV /KRR FLAT 1A 44 50 10K VR 7K 28
472 10KVl 7K 28 th R o A — A28 A AR 103 100 10k Vi 7K £&
473 1OKVBIT K 28 th /R A — 1A AR 52 50 10KV 7K 28
474 10KV K 28 8 K ol S A AR 52 50 10K VR 7K 28
475 10KV K 2R 5 R i g2 A AR 47 50 10K VR 7K 28




476 LOK VAT 7K 28 1 /R Al A% 119 100 10k VR 7K 2k
477 10K VR /K 26 KE S A 1A A8 418 500 10k VR 7K 2k
478 LOK VAT 7K 28 FEAR R 28 A AR 43 50 10K VR 7K 28
479 10K VR K2R AR AT 1A A 89 100 10K VR 7K 28
480 10K VEAT 7K 28 A 28 A A 108 100 10K VR 7K £
481 10KV K 28 AR AT 1A A8 46 50 10k Vi 7K £&
482 10KV 7K 2877 3 S Bt A 92 100 10KV 7K 28
483 10KV /K 2R SCRHEAT LA 24 30 10K VR 7K 28
484 10KV B 7K 2R 7] SCIE e A A AR 177 200 10k VR 7K 28
485 10KV /K 287 % 2 DU H A AR 87 100 10KV 7K £k
486 10KV BT 7K 28 AR A 25 3 A AR 166 200 10k VEI 7K 2k
487 1OV K R AE B A AR 161 200 10k VR 7K 2k
488 10KV /K ZRFEAT A A A 43 50 10K VR 7K 28
489 10KV 7K 28 25 e A 3 A AR 96 100 10k VR 7K 28
490 10KV 7K 28 35 e A 28 A AR 54 50 10K VR 7K 28
491 10KV /K Z8 3 EA 1A AR 42 50 10k VR 7K 2k
492 10KV ] 7K 28 Bl 3 it A el A AR 283 315 10k VR 7K 2k
493 10KV K 28 Bl g A A A8 366 315 10K VR 7K 28
494 10KV K 28 Bl 3 14 A 461 500 10k VR 7K 28
495 10KV 7K 28 5 3 4 37 A8 IR 2y A AR 92 100 10K VR 7K 28
496 10KV K 28 B 3 A A AR 44 50 10k Vi 7K £&
497 10KV BT 7K 28 = WS sy 38 8 A 302 315 10k VR 7K 2k
498 10KV K 28 — A S sk 28 A A 303 315 10K VR 7K 28
499 10KV K28 — A S ok 14 A A 430 315 10K VR 7K 28
500 10KV i 1 28 3000 52 B o fid A 616 630 10k Vi i 28
501 LOK VA T~ 2 BT 401 E N KA AR e H AR 1 2 596 630 10k VR K 2k
502 | 10KV 2 sk 2= B S ZRAR ) 37 S o BE AR A8 620 630 10k VR K 2k
503 10KV T 288 S4B AL AR R 48 579 630 10K VR 28
504 LOKVE T 2878 BLSF A 418 400 10K VR 28
505 10KV | 284 78 1 A AR 526 500 10K VR 28
506 10KV T 28 %2 & 5 46 48 721 800 10k VR~ 2k
507 LOKVE T 28 B /N X FE A 851 1000 10k VR K 2k
508 10KV 2R IR | Sp#4alic A8 820 800 10K VR 28
509 LOKVE T 28 N\ RBURE A4 482 500 10K VR 28
510 10KV T 28 S L E A 175 200 10K VR )5 2%
511 LOKVEI] 5 28 3 S BT s 6 4 167 200 10k VR )5 2k
512 LOKVEI 5 2 & SF 25 648 343 400 LOK VI 5 2k
513 LOKVEI 5 2 & HESF i 15 548 88 100 10K VR 5 28
514 10KV 3 28 S 1 # 5 AR 82 100 10K VR J5 28
515 10KV 7 2R ARV B & A8 41 50 10K VR )5 2%
516 10KV AR T L 1R 5 AR 80 100 LOK VR J5 2k
517 LOKVEI 5 2R AR 1 S 28 5 A 40 50 LOK VI 5 2k
518 10KV 2R =S4T 2t 6 48 85 100 10K VR 5 28
519 10KV T ZR AT I 6 A 348 400 10K VR J5 28
520 10KV g e fikdLaa &5 48 41 50 10K VR )5 2%
521 10KV 5 2R3l 1# & 4 41 50 LOK VI J5 2k
522 | 1OKVEE B ZRHEIT — At L R AEVT 1R 18 A AR 228 250 10k VAR P 2k
523 1OKVEE B 2618 T F AT AR A AR 80 100 10KV B 28
524 LOKVEE B 2618 T SF AT 28 A AR 168 200 10kVEE b 28
525 LOKVEE W 2R 10 F S5 A 1R AR 83 100 LOKVEE P2k
526 10KVEE 2618 1SS AR 64 80 10k VAR P 2k
527 LOKVEE R 2B AT 2t A AR 97 100 10k VAR P 2k
528 10KVEEL 28 P 2 BN L P R BN A 41 50 10KV B 28
529 LOKVEL R 28 T AT A AR 80 100 10kVEE b 28




530 10KV 4l 40R SC AR A g A 28 0 % 84 100 10k VA ¥ 26
531 10K VB R 2R Ik 40 b S 2R A A 1B A A8 82 100 10kVEE b 28
532 1OKVEE R KRN 28 A 262 315 LOKVEUR 2R
533 1OKVEE R KRN 18 A 83 100 LOKVEUR 2R
534 10K VAR B 22 R IR AT A AR 48 50 10kVEE b 28
535 | 1OKVEUVT QAT — K SR AETT LA 38N 3R 253 315 10KV YT 28
536 | 1OKVEVLARAEIT — K SR AETT LA 288 38 400 400 10k VEETT 28
537 LOKVEEVLZR BT AT 4 A 510 630 10k VEETT 28
538 LOKVERTLZR BT AT 28 N A 169 200 10k VEETT 28
539 1OKVAR VT £ 45 P 1B A A 164 200 10KVELYT 28
540 LOKVEVL R BHIT3 5 & 183 200 10k VEETT 28
541 10K VEEVL 42 S 75 28 A 88 100 10KVELYT 28
542 LOKVETLZR S A 1A 89 100 10KVELYT 28
543 10K VEEVL £ A JEURS 3 A A 225 250 10k VEETT 28
544 10KVERTLZR iR 28 A A 203 250 10KVELYT 28
545 10K VEEVL R i R 18 A 279 315 10k VEETT 28
546 10K VAT 267 7o i) SLZRA LS A 28 A A8 24 30 10KV T 28
547 LOKVELVL 2 e b LR XU E A A 96 100 10k VEETT 28
548 1OKVEEVLZB 78 2R e A A 24 30 10k VEETT 28
549 LOKVEVL Rl T AR 41 50 10KVELYT 28
550 10K VERTL 2R K A 3t A AR 330 400 10KVELYT 28
551 10KVERTT 2R K LA 2 A AR 166 200 10KVELYT 28
552 LOKVERTLZR K AR 1A 83 100 10KVELYT 28
553 10K VEEVT 2B TE Hi b S2 28 TR b A A8 24 30 10k VEETT 28
554 10K VYT 28 75 Hib 32 28 KPR A A8 44 50 10k VEETT 28
555 10KV YT 28 B 5 S 4 b R AT 38 A A 68 80 10k VEETT 28
556 1OKVEEVL 2R F X e A A 25 30 10k VEETT 28
557 LOK VARV ZR UK I 1A T 179 200 10k VEETT 28
558 10KVARYL 28 1L AT 28 A A 43 50 10k VEETT 28
559 LOKVERYT 28 1 A 1#A AR 232 250 10KVELYT 28
560 10KV K 28 A 2 28 e i AR 18 A8 165 200 10k V4 K28
561 10k VEE K W IE R 18 A 73 80 10KVELRZR
562 LOKVEL R T KME AR 132 160 10KVELKZR
563 10K VAR ZR iR iy FE A AR 26 30 1OkVELK 2R
564 LOKVELRER E B AR 24 30 10kVEE K2R
565 LOKVE R AR 2 E i A 80 100 10kVEE K2R
566 10kVEE KA A AT A% 67 80 10kVEURZR
567 LOKVEEL R ZR I 55 X L AR 216 250 10kVELK 2R
568 LOKVEL R ZR IRV AT A AR 200 250 10kVELRZR
569 10k VAR K LR IRV AT 28 A A 343 400 10kVEE K2R
570 10kVEE K ZRIRTT £ rp O AR AN AR 82 100 10KVELRZE
571 10K VAR K LR K Ik A A A 24 30 10k VL K 2L
572 10K VALK 2 AT 2 K SC Al 2 i A8 42 50 10kVALK 2R
573 10k VEE KR HAA b A AR 41 50 1OkVELK 2R
574 DRV K2R+ B 38 37 28 4 IR 3800 S 4R 45 IR 35N 130 160 10k VAR K2k
575 10KVEL KZE 2L L E AT 40 50 1OKVETRZR
576 10kVEE K2R+ B 28 L 2R VU BE T 28 N 67 80 10k VEE A 2%
577 10kVEE RZR VY BE 1A 45 50 10KVELKZR
578 10kVEEL R ZR b E K3 83 100 10k VEE K28
579 10kVELRZR b e Rt A 208 250 10KVELRZR
580 10kVEE RZR b E R A AR 109 125 10kVEE K2R
581 10kVEE K2R 7 B EM A 80 100 10k VEE K2R
582 10kVEELRZR = B A 137 160 10k VEE K28
583 LOkVEL R 2RI & & A8 40 50 1OkVELK 2R




584 10KV K2R T ghmkon nAF 28 30 LOKVEE K2k
585 10KV K ZR Nk A 85 100 10k VEE K2k
586 10k VAR K28 b ghmkas A 43 50 10kVEE K2R
587 10k VAR K2 E4hmk3s A 41 50 10kVEE K2R
588 10KV K2R Eghmkos /A Ar 41 50 10k VAR K2k
589 10KVEE K28 Eghmk 18328 41 50 10k VA K2k
590 LIOKVEKRZE T —dH A 81 100 10k VAEE K2k
591 L1OKVEERZR TR —HAE 28 30 10k VEE K2R
592 LOKVIB 2R & H BN R A A 817 1000 10k VIR A1 2k
593 10KV IS P 2872 2 4 AR AR s 2% 583 630 10k VIR A1 2%
594 1OKVIB#h 28 B3 /R 5748 461 500 LOKVIR Y%
595 LOKVIR 42k [ + 56245 Ik 28 438 400 10KV IRy 4k
596 LOKVIB#Y 2R A % Jey 55748 266 315 10kVI i 2%
597 LOKVIEHHER A AR 378 400 10kVIJS 28
598 10KVIE £k b ik 548 168 200 10KVIR &k
599 LOKVIR [ 2R AR B2 FH B2 [ 8 393 400 10kVIB |4k
600 LOkVIR [ 2R AR BRI FE 25 136 160 10kVIE 4k
601 10kVIE b 2341 J5 i 6 48 440 400 10kVIE F 42k
602 10kVIB FZBHR R &1 190 200 10kVIS |25
603 10kVIP 2B BURH#2 &6 4 338 400 10kVIE F 42k
604 10KVIP 2B BUR#1 648 369 400 10kVIE F 4k
605 10KV IR |- 2B 15 B 55 A1 AR L AP R 48 601 630 10kVIE F 2k
606 10kVIE FZR it A R 54 324 400 10kVIR |2
607 10K VIl R £& w5 48 175 200 10kViE R 28
608 10K VIBR 2RI E 5 64 212 400 10kViE R &
609 10KVl LR AE itk & & 160 200 10k Vil & 2
610 10K VIEIR 28 A & A8 163 200 10k Vil y& 2
611 I0KkVEEL HEE T 81 100 10k ViE R &
612 10KVIE{R LR HE i 54 89 100 10kViE R &
613 LOKVIlR LR Hg 1L 548 40 50 10kViE R £k
614 10K VIBIR 2R Bl Ay 21t 5 4% 41 50 10k Vil & 2
615 LOKVIBIR LR Bl A 18 5 4 40 50 10k Vil & 2k
616 L1OKkVIHEL A REZELE 81 100 10k ViE R £k
617 LOKVIHE LA Rk 648 181 200 10kViE R &
618 10k VIR AR Ml 648 118 100 10kViE R 28
619 10kVIER L IHE G4 171 200 10k Vil & 2
620 LOKVIlR R B s T a4 170 200 10k Vil & 2k
621 L10KVIlVRZEH EE R 87 100 10kViE R £k
622 10k VIE{R 2R R R 54 164 200 10kViE R 28
623 G S L S 'S 185 200 10k Vil & 2
624 10K VIBR 28 51 57 R FL &5 A 176 200 10k Vil & 2
625 10k VIH{R ZR 51 37 Nl 5 A48 82 100 10k Vil & 2k
626 LOKVIlJRE LR A 2 5 A48 88 100 10k Vil = 28
627 LOkVIlJR LR A 15 A8 81 100 10k Vil £ 28
628 10kVEEL LT AE SR 86 100 10kViE R £k
629 10k VIBR 28 = ZEVT 4E 3 5 A8 85 100 10k Vil y& 28
630 10KVIB{R 2k — FEot 5 4% 169 200 LOKVIE IR 2k
631 1OKVIERZE = FE 1 G2 84 100 10k Vil = 28
632 10KVl 75 ZR B T AL B 6 4 83 100 10kViE 7 28
633 10K VIE 7 26 Be T34 64 70 80 10k V3 75 2k
634 10KVIE 7 2R R Hak 648 209 250 10k Vil 7% 2k
635 10KV L KT HETFED 40 50 10k Vi 7 £&
636 10KVIE 2 R T 1464 174 200 10k Vil 7% 28
637 10KVl 7 28 = #2887 170 200 10k Vil 77 £&




638 LOKVIB AL 2R =2 1862 167 200 LOKVIE 7 2k
639 LOKVIE LR F & 48 98 100 1OKVIE P2k
640 10KVl FFLRIE AL AT 38 548 88 100 10k Vil FE2k
641 L0kVil PP Im b AT 28 5 A8 212 400 10k Vil BF2%
642 10kVIBE 2R84k £ BUF 648 86 100 10k Vil BE2R
643 10k VB PR £ IE AL 155 A8 186 200 10k Vil BE2E
644 LOKVIBFFLR R A 11 & 4 177 200 10KV I £
645 10k Vil PE25 iR 48 6 A5 212 400 LOKVIE I £k
646 LOKVIE LR R 3# 6 4 163 200 10kViE I
647 10k Vil B£8R 28 &5 A8 92 100 10k Vil BE2R
648 10KVIEFELL P 1168 & A8 164 200 10kViE@ P28
649 10KVIEFE 2L 0 11158 & A8 41 50 10k Vil BE2%
650 LOKVIE PR 7 1148 &5 48 83 100 10k Vil FE2k
651 10k V3l FF£E p5 11 38 5 48 82 100 10k Vil P2k
652 10KV FF£E 05 1128 5 48 168 200 10k Vil BE2R
653 10KVIEFELL P 1L 18 6 2 43 50 10k Vil BE2E
654 10K VIBFE 26408 F 5 6 A8 189 200 10k Vil BE2R
655 10KVIBEE L vh Il & A5 41 50 10k Vil B2k
656 10KV B B2 Bk BRI 3 1% & 28 189 200 10k Vil HF2R
657 10K Vil £ 28 Bk £ 6 38 6 A8 212 400 1OKVIE I £k
658 10KVIB LR BEEE 2 B & 248 166 200 LOKVIE I £k
659 10K VIBHE 28 BRI & A8 41 50 10KV I £
660 10KVl PP FLH BT 548 170 200 10kViB F 2k
661 10KV B 25 184 3L 51 & A% 45 50 10kViE FE 2%
662 10KV B 25 184 3L A & AR 171 200 10k Vi@ FE 2%
663 10KV B 25 184 3L 34 & AR 81 100 10k Vil BE2%
664 10KV B 25 184 3L ot & AR 41 50 10k Vil BE2%
665 LOKVIBFRLE L 185 A8 40 50 10kViE 28
666 LOkVIE PR H i 6% 101 100 10k Vi BF £
667 10KVl FFER P BB A A8 46 50 10k Vil BE2R
668 LOKVIlFFER A Sk 648 160 200 10k Vil BE2R
669 10k VIE PR £L 1 o8 & 28 176 200 10kV3id@ 28
670 LOKVIEHFZR it & 24 90 100 10kViBBF 2k
671 10KVl FFLR R Kl 548 84 100 10k Vi B £
672 10KVIBEHFZE R T HENER 41 50 10k Vil BE2R
673 10KVIBHFLR K rhy I & A7 41 50 LOKVIE I £k
674 10k VIBFFLR £ 1L IR T & 48 158 200 10KV I £
675 LOKVIEPFLR A 1L 68 & A8 162 200 10k Vil FE2k
676 10kViE PP 284 1L bR & 2 45 50 10KV I
677 10kViE PR 24 1L 48 5 2 44 50 10kViE I £
678 10KV PR 15111 34 5 A8 176 200 10kViE@ P28
679 10K VIE PR 1511 28 5 A8 73 80 10k Vil BE2%
680 LOKVIEIFLRAE I 185 AR 46 50 10k Vil FE2k
681 10KVIEFELL 421128 6 A 40 50 10k Vil P2k
682 10KVIEFELL 21 18 6 2 212 250 10k Vil BE2R
683 10k Vi e 26 s A DU 2H A AR 40 50 10kVik 2k
684 10KVIA S ZR A B — ) &M AT 516 630 10k Vik 3 2
685 10KVIE B 2RI 4 RS A A 96 100 10kVik H 28
686 10KVIE B 2RIE4E 0T Hh A 2 341 400 10kVik H 28
687 10kVIA B 2R R3S A A 82 100 10kVik ' 28
688 10kVIA B 2R faiili2 4 A A 83 100 10kVik H 2k
689 10kVIA B 2R Rl LA A 66 80 10kVik H 2k
690 10kViE B4 H/RF = AR 108 100 10kViL 5 &
691 10kViE B 28 B /K & X A4 187 200 10kVIE 5 28




692 10kVik B 28 B /K H & X A AR 211 200 10kVik B 4
693 LOKV B — LR PR B A T 57 50 10kV BT —2&
694 LOKV B R PUIS SF LA AR 92 100 10kV 54 —2k
695 10KV B — R AUR KA AR 40 50 LOKVE P —4;
696 LOKVEI L — R & T IR A 80 100 10KV B 4 — &%
697 10KV B 4l — 28— 43 37,68 /A A8 24 30 10KV 5 4 — 4
698 10KV — 28— 0358 A AR 40 50 10kV BT —2&
699 LOkVE{t— 2 —dp2a A8 80 100 10kV 54 —2k
700 10KV B 4l — 28— 43 37 1A AR 160 200 10KV B 4 — 4%
701 10kVE 2 L8 B 2 ik 28 A AR 88 100 10kVE 2 %
702 10kVH 2 L8 P18 £ s 18 A4 172 200 10kVE £ 4
703 10kVEE 2 L8 P1I% £ = B 3028 A A 90 100 10kVEi £ 2
704 10kVET £ 28 W% £ & B 1 #A A8 170 200 10kVE £ 2
705 10KV 2 28 P1i% 2 48N 97 100 10kVE 2 4
706 10KV 2 28 PHi% 2 3 A4 103 100 10kVE £ 4
707 10KVEE 2 2R iK% 220 A 240 200 10KV £ 4%
708 10KVEE 2 R IK 2 1 212 200 10KV £ 4%
709 10kVEY 2 25 5 B3 AR 114 100 10kVE] £ 2
710 10KV £ 28 — 433730 A A 40 50 10kVE £ 2
711 10KV £ 2 — 433720 A A5 81 100 10kVE] 2 25
712 10KVE £ 2 — /)y i 18828 50 50 10KV 2 2k
713 10KV P 2R IS L Jm A AR L F AR R 48 394 400 10k VAR 23 2k
714 10KV 76 28 75 (X 3HFE A4 [ 4 425 630 10kVZA PE 2k
715 10KV A 28 7 X 1 #5625 425 630 10kVA U
716 10KV 76 28 7 X #2625 425 630 10kVA PU £
717 10KV B m R IEE R 165 200 LOKVRE 2k
718 10KV EL U =& 8% 88 80 LOKVRE 2k
719 LOKVAY 5 28 14 [X 22 B i A AR fiC H A 1 408 500 10KV E 28
720 LIOKVAR B R4 s T 64 103 100 10KV E 28
721 10KV E £ m) g B 47 331 400 10KV 5 28
722 LOKVA S LR PR EL R 1R D 171 200 LOKVARE 2k
723 LOKVA S LR 548 176 200 LOKVRE 2k
724 10KV B LB bh 648 173 200 10KV E 2
725 10KV B 2R A k3t 5 A8 254 315 10KV E 28
726 10KV 28 H ek & 48 84 100 10KV 5 28
7217 10KV B R ER L E AT 167 200 10KV & 2k
728 10KV B 28 KHh 5748 99 100 10kVA & 2k
729 10KV B 2R 08 IR ACLH 6745 95 100 10KV 5 28
730 10KV 78 2R M & 48 180 200 10KV 5 2
731 LOKVRE LR OB RER 163 160 10KV E 2
732 LOKVAR B 28 ¢ Ly i 5 48 192 200 10kVA & 2k
733 10KV B 2Rk L 2 B A AR 336 400 10kVA & 2k
734 LOkVAREL R OF 48 157 160 10KV E 28
735 LOKVAREL RO N4 92 100 10KV E 28
736 LOKVRE L X0 Fear 74 80 10KV 5 28
737 LOKVAE R 648 385 400 10kVA & 2k
738 10KV S 28 L K & 70 80 10kVA & 2k
739 10KV B 28— JiEp &5 48 177 200 10KV E 28
740 10KVAT JHZR HH Z2 AR i 5 4% 346 400 10KV HZR
741 LOKVARIHE R Z T 648 173 200 10KV HZR
742 LOKVAIHE R Z L ar 88 100 10V AH 28
743 LOKVAT JHZR D HA 18 5 A5 42 50 10V AH 2k
744 10KVAHZR F IS /N2 87 100 10V JH 2k
745 10KV HZRF0 3 K 4H 648 169 200 10KV HZR




746 10KV 2R Fo 324 6 A 111 125 10KV H 2R
747 10KV H 28k [ 111 & 38 42 50 10k VA3 H 28
748 10KVAT JHZR R Riidtt & 4% 40 50 10KV fH 2R
749 10KVA JHZR R R 3t & 48 97 100 10KV HZR
750 10KVA HHZR A R 24 & 4% 68 80 10KV IHZE
751 10KVA HH 2R AR 14 5 4 173 200 10KV H 2R
752 LOKVAHHZR VUM R 54 349 400 10V fH 28
753 1OV JHZR T /N I & 4 173 200 10KV IHZE
754 LOKVAIHE R R i 6% 170 200 10KV HH 2R
755 10KV 2y JH 28 v 384 5 i A 100 100 10kVAS fH 28
756 LOKVAHHER v p 5748 141 160 10V AH 28
757 10KV HZR ol F 448 51 50 10V fH 2k
758 LOKVARHEZ vl |58 93 100 10KV HZR
759 10KV HZE = /N R 648 367 400 10KV HZR
760 10KV HEZE = /NH F 648 286 315 10KV HZE
761 10KV & — 2k Z i e /N X 2840 AR 400 500 10KV Z —2k
762 [lOKVES 22— 2R AT S/ X 1A AR e H AR 1K 2 400 500 10KV Z —2k
763 10KV Z — 2R A A 18D 425 630 L0kVA Z—4
764 10KV — AR E R 160 200 10kVAE —4k
765 10kVA Z— 2 /N 548 64 80 10KV Z—4
766 10KV R BZE a8 320 400 10KV Z —2k
767 10KV E— L T ER 320 400 10KV Z —2k
768 L1OKVRZ— R T EER 320 400 10V Z 4
769 10KV Z—2% Hia s 320 400 10KV Z—4
770 10OkVRZ—2k L&A 128 160 10KVR Z—4k
771 10KV H & XA & 48 156 160 10kVA H 2k
772 10KV H 48 KB s B AR 342 400 10kVA H 2k
773 LOKVA H &K 0 &748 90 100 10KV H 28
774 LOKVA H 2RI & 48 41 50 10kVA H 4
775 LOKVA H 2RI IR &4 43 50 10kVA H 4
776 LOkKVAHERIZ e 81 100 10kVA H 2k
777 10KV HZ A KE G 41 50 10KV H 2k
778 IOKVA HZE AR ZE (IH) &4 112 125 L0kVA H
779 LOKVA H 28 BLi B AT & 28 178 200 10kVA H 2
780 10KV HERE T EIMN G 82 100 10KV H 28
781 10KV HLEETEER 82 100 10kVA H 2k
782 10kVA HZ H R854 197 200 10KV H 2k
783 10kVA H 4 HRH 1864 342 400 10KV H 28
784 LOKVA HER 2/ REGD 83 100 10KV H 28
785 10KV H 2 %R 62 42 50 10kVA H £
786 10KV H 2R S k2t 5 4 347 400 10kVA H 2k
787 LOKVAHEL TEHGE 174 200 10kVA H 2k
788 10KV H 2R H'E H &4 108 125 10KV H 28
789 10KV HZE LR EEE 40 50 10KV H 28
790 10KVAS 3 2 Bl o il 65 A 346 400 LOKVA IR — 2%
791 10KV 2R L3/ X 3HAR B A [ 48 425 500 10KV — 2k
792 10KVA I — 2R /N X 284874 425 800 10KV 4 — 2k
793 10KV I — 2k v id i s 6 48 358 400 LOKVA I — 2k
794 LOKVA I8 — 2R 2R FE 3N X IH5H A 425 630 LOKVA I — 4%
795 10KVAS - 2R 0 5N 7 A AR 184 200 10KVA I — 4%
796 10KV IR — 2 W BUR 2848 48 425 630 10KV I — 2%
797 10KVAR R — 26 W U= 1 846 A8 194 200 10KV Ik — 2k
798 LOKVA Ik — 2R 7 X AL el FE A 425 1250 10KV I — 4%
799 LOkVA I — R RBUR 6% 425 630 10KV I — 4%




800 10KV I — 2 F T AR 167 200 10KV I — 2k
801 10KV A 28 32 W K FL R A AR 41 50 10k VA £8 2k
802 LOKV AR EELZR WL T LA A 165 200 10KV L EH 28
803 LOKV U 28 W 5 i AR B A AR 337 630 LOKV U2k
804 1OKVLAR 28 W /N 2 A 258 315 10k VAR A2k
805 10KV ELZE Z I X A 337 630 LOKV UL 2k
806 10KV 2R Z 3 X 14404 337 630 10k VA £8 2k
807 10K VAR A LRI LA AR 160 200 10k VAL £ 2R
808 LOKV LB ZR BT X T A8 337 630 LOKV U2k
809 10K VAL EELZR 07 3L A S A AR 41 50 10k VA £8 2k
810 LOKVALEEEZR KZE T AR 85 100 10k VA £E 2k
811 LOKVAREEER I i A AR 279 315 10k VA £8 2k
812 10KV 28 = 40 AR 337 1000 10k VAL £ 2R
813 L1OKVIEZE E R EAE 42 50 10k VA £8 2k
814 10KV 2R 2 R FLROKR A AR 93 100 10k VA # 2k
815 LOKVAR AR ot A 42 50 10k VAR # 2k
816 LOKVIR AL W R 1A 47 50 10k VAR $ 2k
817 LOKV LA ZR 52 $h 74 5 A AR 86 100 LOKV U A2k
818 10KV AR B T SE R A 85 100 10KV #A2%
819 LOKV AR ZR 2 v S A AR 41 50 10k VAR $ 2k
820 10KV AR 2R 3 12 0l N AR 337 630 10k VAR # 2k
821 |10KV UL AL I 7= A2 g A AR A =UAR L i 15 e A 337 630 10k VAR $ 2k
822 10KV #R 2R 26 47 A AR 41 50 10k VA # 2k
823 10KV AR 2 B i 3 AR 41 50 10KV #A 2%
824 10KV 2R & MR A AR 40 50 10k VAR # 2k
825 LOKVAL LR FE AT A A 49 50 10k VAR # 2k
826 NIRRT AR 41 50 10k VA $ 2k
827 LOKVAR LR e AT A A 328 400 10k VA # 2k
828 LOKV LA LR eIk 3t A AR 80 100 10k VAR # 2k
829 LOKV LA ZR I T AR 48 50 10k VA # 2k
830 10KV AR 2R AT I% B A AR 41 50 LOKV U A2k
831 LOKVAL AL B HAT A AR 41 50 10k VA $ 2k
832 10KV INZE E H 2 BN IEA 70 80 LOKV U A2k
833 LOKVIIZEE H 2 LR AR 81 100 10k VAR # 2k
834 LOK VUL FRZR AN HB A 3 A 100 125 10k VA # 2k
835 10KV AR FAZR WA HB AT K ZE A AR 41 50 10KV #A 2%
836 10K VAR BAZR P #4330 #0028 A 41 50 10k VAR $ 2k
837 10K VAR LR A HAT T # A A 41 50 10k VA # 2k
838 LOKV AL AL AN HBA IR A 41 50 10KV #A 2%
839 10k VAL H 2R H 1 38 AT 55 A 4R 40 50 10k VA # 2k
840 10KV 2R T I A AT B A AR 42 50 10k VAR # 2k
841 10KV LR HUR A& A AR 45 50 10k VAR $ 2k
842 10KV AR 2 i 1] 3 AR 40 50 10k VA # 2k
843 LOKV A AR ZR 22 By ya) N AR 80 100 10k VAR # 2k
844 10KV 2R K BHIT 2 BUR A48 40 50 10k VA # 2k
845 LOKVAR AL KIE A A 81 100 10k VAR # 2k
846 LOKVI LR T EN RS AR 81 100 10k VA $ 2k
847 LOKV AR A ZR 52 e A B FLis A4 41 50 10k VA # 2k
848 10KV # 2R 72 & A AR 41 50 10KV #A2%
849 LOKVAL LR A AT 28 A A 41 50 10k VAR # 2k
850 LOKVAR AR A A 1A AR 84 100 10k VAR $ 2k
851 10KV LR 2 BURT BT A 40 50 10k VA $ 2k
852 LOKVARL AR PO AR 80 100 LOKV U A2k
853 LOKV AR HAZR R A AR A AR 80 100 10k VAL IE 2§




854 LOKVAR LR = K IENAR 20 20 10k VAR $ 2k
855 LOKVIR 2k = R IR AN Z 42 50 LOKVU A2k
856 1OKVAL# 2R = T 1# A A 43 50 10k VA # 2k
857 LOKV IS 28 2 A N AR 42 50 10K VAR 2k
858 10KV AR I 28 B 28 A8 80 100 10K VAR IS 28
859 10KV AL 28 U5 i — A A AR 57 50 10k VLIS 2§
860 10KV LR 287 5K 28 N AR 40 50 10k VAL IE 28
861 L1OKVIIR 2R R EF 2 [ T A 47 50 10KV LI 2%
862 10K VAR 2 78 £ ] 491 8 A 40 50 10K VIR 2
863 LOKV VLIS 2R T8 A AR 42 50 10K VAR IS 28
864 LOKV LI 2841 55 — dH A 41 50 LOKV U 28
865 10KV 28 F ) AR 201 250 LOKV U 28
866 LOKV AR 28 A 3R T | A 43 50 10KV LI 2%
867 10KV AR 28 AL A B R AR 41 50 10k VAL IE 2§
868 10KV 28 [ #4543 25 7 A AR 43 50 10K VAR IS 28
869 10KV IR 28 (3 £ A% 55 A 28 92 100 10k VALIE 28
870 10KV AR 28 (AT T B 1A 46 50 10k VAL IE 2§
871 LOKV LI 28 (15 M 48 A AR 8 10 10KV LIS 2%
872 10KV IR 28 A ROK A AR 46 50 10k VAL IE 2§
873 10KV UL 28 5 A7yl 28 A AR 161 200 10K VAR IS 28
874 10KV LI 2R iR A 4 1 A 81 100 LOKV U 28
875 10KV 28 25 F i 9t A AR 40 50 LOKV U 28
876 10KV UL IR 28 25 437 741 8 A AR 45 50 10KV LI 2%
877 10KV UL IR 28 25 Fi7 y4) T A AR 43 50 10k VAL IE 2§
878 10KV ULIE 28 25 $i7 74 68 A A 41 50 10K VAR IS 28
879 10KV IR 28 25 437 741 51t 0 A 44 50 LOKV U 28
880 10KV 28 B Py 4t A A8 40 50 LOKV U 28
881 10KV UL 28 5 437 74 3 A AR 253 315 10KV LI 2%
882 10KV UL IR 28 25 Fi7 y4 28 A AR 64 80 10k VAL IE 2§
883 10K VAR S 28 A A A8 43 50 10K VAR IS 28
884 10K VAR IS 28 36 LA AR 51 50 LOKV UL 28
885 10K VAR IS 28 55 i A 48 46 50 10k VAL IS 28
886 10KV LR 28 U FEE 1084 AR 40 50 10KV LI 2%
887 10KV S 2 IR, /N A 40 50 10KV URIE 2k
888 10KV UL 28 1 55 FL A AR 40 50 10K VAR IS 28
889 10KV 28+ — K IE A 81 100 LOKV U 28
890 10KV LI 2R AR A A RS AR 82 100 10k VAL IE 28
891 LOKVAR IS 2R Al — 4L A 80 100 10KV LI 2%
892 10k VLR 2845 A2 ) )\ 58 FE N AR 24 30 10k VAL IE 2§
893 10K VARIE 2845 A2 V8 — A A 35 o8 A 41 50 10K VAR IS 28
894 10KV LR 2R 4K AR Ve — R A AR 41 50 10k VAL IS 2§
895 10k VLR 2845 A2 V8 — k48 N AR 16 20 10k VAL IS 2§
896 LOKV RS 28 — I B & BURFA AR 168 200 10k VAR 2%
897 10K VAR 28 — 1§ FL 78 /A A 24 30 10k VIR £
898 L1OKVALIE 28 — g H 68 A 2 44 50 10K VAR IS 28
899 10KV 28 — I Hi 58 /N AR 104 125 LOKV U 28
900 10KV 28 — 1§ 48 /N A 106 125 LOKV IR 28
901 10K VAR 28 — 1§ FL3g /A AP 274 315 10K VIR 28
902 10K VAR 28 — 1§ FL2g /AN AP 68 80 10k VIR £
903 LOKVALIE 28 — g B 18\ 2 40 50 10K VAR IS 28
904 10KV 28 N AR 41 50 LOKV U 28
905 10KV LI 28 I PUZH A AR 41 50 10k VA IE 2§
906 10KVALIR 28 b — 20 N AR 41 50 10KV LI 28
907 10KV 28 —Ff LR A AR 17 20 10k VAL IE 2§




908 10KVALIR 28 = 58 JE N AR 25 30 10k VAL IE 2§
909 10KV IE 26— 40 /N A 41 50 10k VAR 2k
910 LOKV Y 28 1 A #3 A AR 24 30 10k VALY 2&
911 LOKV Y28 1 7 i 7 A A 80 100 10KV b 2%
912 10KV Y 28 1 1 — 2H = 5X 8 N A 24 30 10KV Y 28
913 10KV Y 28 17 2 #3 A 40 50 LOKV UMb 28
914 LOKV ARV 28 17 & #2 /0 4 41 50 LOKV UMb 28
915 10KV PG 28 /M LA 5 A AR 42 50 10kV 7 JE 2k
916 10KV P 22 /M A 48 A AR 40 50 10kV 7 e 2k
917 10KV 4 e 28 /M LA S A AR 40 50 10KV PGy 2%
918 10KV i e 28 /NIt A 28 A AR 41 50 10V 2%
919 10KV e 28 /M AT 1R A AR 41 50 10k VP 2k
920 10KV PG 2R KA A 78 A AR 163 200 10kV 7 JE 2k
921 10KV P 22 KA A 6 A AR 284 315 10kV 7 e 2k
922 10KV 4 e 28 KA AT SR A AR 43 50 10KV PGy 2%
923 10kV P 28 KA HA 48 A AR 40 50 10V 2%
924 10KV P e 28 KA EL AT S A AR 41 50 10k Ve 2k
925 10KV 28 K A 148 A 42 50 10kV 7 e 2k
926 10KV e 28 K A 138 A 81 100 10kV 7 e 2k
927 10KV PE B 28 KA LA 128 A AR 46 50 10kV PGy 2k
928 1OV w28 K M 118 AR 388 400 10V 2%
929 10KV PE B2 KA AT 108 A AR 50 50 10k Ve 2k
930 10KV P 2R KA A 18 A AR 40 50 10kV 7 e 2k
931 10KV MR )\ KA 80 100 10kV 7 e 2k
932 10kVPH ERZR T VI AT 2 /R s A 40 50 10kV 7 B 25
933 10KV P ERER TR U AT R R AR 41 50 10KV 7/ B 2%
934 10kVIEERZR T P £ BUR T AR 215 200 10kV 7/ Bk 2%
935 10KVPEERZE T P A £ BUR B AR 400 400 10kV 78 B 25
936 10kVIEERZR T P A 108 55 48 41 50 10kV 78 B 25
937 10k VPG ERZR TR VE 2 BUR AR 160 200 10kV 7 B 25
938 10KV 78 R 28 37 R i 91 5 48 163 200 10kV 7/ Bk 2%
939 10KV 7 R 28 37 ik by 81 5 48 42 50 10kV 7/ K 2%
940 10KV 7GR 2R 37 R k] 78 5 A8 40 50 10kV 78 B 25
941 10KV 7 R 28 37 ik k) 60 & 48 41 50 10kV 78 B 25
942 10KV 7 R 28 307 ik iy 5 65 48 86 100 10kV 78 B2
943 10KV 7 BRZE ik M b A AR () 46 50 10kV 7 B 2%
944 10KV 7 R 28 37 ik iy a0 5 48 40 50 10kV 7/ K 2%
945 10KV 7 BRZE iR b 38 A AR () 163 200 10kV 78 B 25
946 10KV 7 R 28 37 ik i) 20 5 A8 41 50 10kV 7 Bk 25
947 10KV 7 BR 28 i ik iiA 128 5 48 42 50 10kV 78 B 25
948 10KV 7 BRZR M KA 118 5 48 41 50 10kV 7/ B 2%
949 10KV 7 R 28 i KA 108 & 48 84 100 10kV 7/ K 2%
950 10KV 78 R 2R 37 R i) 18 5 A8 45 50 10kV 7 B 25
951 10KV ERZE Bkl #1254 (£) 40 50 10kV 7 Bk 25
952 10KVPEERZ 0 H A R i B X () 40 50 10kV 7 B 25
953 10kVPEERZR L H Aot A AR 96 100 10KV 7 B 2%
954 10kVPEERZE L H A8t 54 (£) 41 50 10KV 7/ B 2%
955 10KV ERZR L H A T8 A 89 100 10kV 78 B 25
956 10kVPERZR L H AT 68 A A 88 100 10kV 78 B 25
957 10kVPGERZR L H A58 A 83 100 10kV 78 B 25
958 10kVPEERZRJE H A4 A A8 325 400 10kV 7 B 2%
959 10kVPEERZRJE H A 3t A A8 40 50 10KV 7/ Bk 2%
960 10KV ERZR L H AT 28 A 41 50 10kV 78 B 25
961 10KV 7 R 2R /N ELAS 1 ] A A 54 50 10kV 7 Bk 25




962 10KV BRZL /M LA N LA AR 160 200 10KV i R 2%
963 NE T T2V 40 50 10kV S 28
964 10KV B L 5 AT IA R 41 50 10KV 28
965 L10KkVE B L F A SFHAL 41 50 10kV S 28
966 10KV A KA 40 50 10kVEE 2%
967 10KV S ¥ 4 AR HE i A 40 50 10kV 5 i 25
968 10KV R A RIE AR 46 50 10kV S 28
969 10KVE 28 A AR 90 100 10kVSE i 28
970 10KV 5L 1E £ 45 f i Pz #3 A A8 43 50 10kVEEIE 2R
971 10KV 5L 1E L 5 f i Azl A A8 62 50 10k V5L IF 25
972 10kVEEIEZR R ZRT A 67 80 10kVEL 28
973 10kVEEIEZR R Z 86 A 174 200 10KVEL 28
974 10kVELIEZL R ZH5 A 103 100 10kVELIE 28
975 10kVELIEZR R Z#3 A 88 100 10kVEL 28
976 10KVELIEZE R Z#2 A A 88 100 10KV 4k
977 10kVEEIEZR R 2RI AR 40 50 10kVEL 28
978 10kVEE IE 2R IE A TE B AR 52 50 10kVELIEZR
979 10KVEL IE 2R IE A #A A AR 94 100 10KV 5 I 28
980 10KVELIE 2R IE A #3 A AR 82 100 10KV 5 1 28
981 10kV3E IFE 25 IE ik #2 A S 83 100 10KV 5 IF 25
982 10kVEL IE£R IE ikt 1 AR 306 315 10kVEL 28
983 10kVEL IEZR 4% E#5 A AR 48 50 10kVELIEZR
984 10KV IEZR A% R4 AR 84 100 10kVELIEZR
985 10KV IEZR B B3 AR 84 100 10kVELIE 2R
986 10KVELIE 2B 4% E#2 A4 89 100 10KV IF 4k
987 10kVEL IEZR 4% 1 AR 82 100 10kVEEIEZR
988 10kVEL IFE 2R ] 2 A AR 83 100 10KVEL 28
989 10KVEL IR M) 1 AR 93 100 10kVELIE 2R
990 10kVEL IE 2R % 253 A 262 200 10kVEEIE 2R
991 10KVELIE 28 % ZLF#2 A AR 435 400 10KV 4k
992 10kVEE IE 28 B2 AR g2 A48 80 100 10KVEL 28
993 10KV IE 2R BRI A A AR 84 100 10kVELIEZR
994 10kVEL IEL BRI AL 56 50 10kVELIE 2R
995 10k VBl 28 55 FE AT A AR 88 100 10KV 5 f 2
996 10KV LB 28 B AN L33 A AR 45 50 10k V5 {2
997 10kVEEAEZE A A R 2t A AR 50 50 10k VEL {2
998 10kVEL L A AL 18 AR 50 50 10KV 5 4 2
999 10kVEEflZE H gk vrog A 80 100 10KV e 4 2
1000 10kVEEpEZE H gk vr 14 85 100 10KV 5 f 2
1001 10kVEE 2R H gk vag2 A 95 100 10k V{2
1002 10KV B2 7 2 f 4% ST [ A A 278 315 10KV 52 4 2
1003 10kVEE 2R = /R b2t A AR 82 100 10kVEL {2
1004 10kVIE 2R 2 Ry 1A 99 100 10kVEL A2
1005 10KV 5 {2 oy 38 A AR 47 50 10KV 5 f 2
1006 10KV 54 2 1 4y 28 N AR 85 100 10KV EL {2
1007 10KV 54 25 1y 1 AN AR 88 100 10k VEL {2
1008 10KV 22 2R M A 3 A AR 44 50 10kV 5L 22 2%
1009 10KV B 22 28 I e M #2 A AR 46 50 10k V5L %228
1010 10KV 22 2R ERE AT R A AR 48 50 10KV EL 22 28
1011 10KV 5L 22 25 b gt A A5 54 50 10KV 5542 2
1012 10KV EL 22 ZR B LS M e JE AR 47 50 10kVEL 22 2k
1013 10k VS Z M IRE & m#2 A A 81 100 10kV 5L 22 2%
1014 | 10kVEE 222k 223} S R e & s AT 100 100 10k V5L %2 2k
1015 10KVEL 222 22 3 SR T A8 81 100 10KV EL 22 28




1016 10k VL 22 28 g o e A AR 82 100 10kV 522 2%
1017 10kVEE 2 2R 1038 A #5 A AR 81 100 10kV 522 2%
1018 10k VB 27 25 IR AT #4 A A 46 50 10kVEL 22 28
1019 10k VB 27 25 IR AT #3 A AR 84 100 10kVEE 22 28
1020 1OKVEL 22 2R AL IE AT H2 AN A 172 200 10kVE %24k
1021 10kVEE 22 2RI A 1 A AR 186 200 10kV 522 2%
1022 10kVE 22 R b e A AR 49 50 10kV 522 2%
1023 10KVIL 2R 2 BUR A 105 100 10kV 5L 22 2%
1024 10KV 5 P 28 52 55 N AR 48 50 10kVELPY £
1025 10KV B U 2B i) JRAR A48 82 100 10kVEEPY £k
1026 1OkVEE U2k i 8 —H N A 46 50 10KV g2k
1027 10kVEE UL ZEA —H AR 84 100 10KV 5 Y £
1028 10kVEE PR 15 — A2 A AR 84 100 10kV 5Ly 2%
1029 10kVEE PR 18 — A 1A AR 93 100 10kV 5Ly 2%
1030 10kV 50 28 245 = FA2#A 2 83 100 10KV Yk
1031 10kVEE PR 18 — 1A AR 43 50 10k V5 Py 2§
1032 10KVELPUZE FAZ IR AN A 91 100 10kV &Py 2§
1033 10KV B PU 2R JE 4 = A AR 232 200 10kV 5Ly 2%
1034 10KV ELPU 25 35 BT SF 28 A AR 171 200 10kV 5Ly 2%
1035 10KV B PU 2R 3F 5T SF 1835 A AR 90 100 10KV gk
1036 10KV B PU 28 Y F A A 93 100 10KV g2k
1037 1OKVELPUZE PYH: — A A 88 100 10kV &Py 2§
1038 10kV 5 PO 25 10 & BURF A AR 98 100 10kVEL Y £;
1039 10KV PO 28 Ui = B A A 83 100 10kVEL Y25
1040 10KV 5 PO 28 2 754 357 /A AR 105 100 10kVEL Y25
1041 10kVEE PUZR T PU R PO pA A AR 84 100 10KV g2k
1042 10kV 5 PU 2% b UM S B A 4R 48 50 10kV &Py 2§
1043 10KVEE PUZE b pynE — BAAAS 44 50 10kVEL P £k
1044 10KV PUZE | PymE = BAAAS 107 100 10kVELPY £
1045 10kVELPUZE | PRk —pA A4S 43 50 10kVEL Y25
1046 10kV{rf B 244 1F 2238 A48 397 400 10K Va7 B 2k
1047 10k Vi BHZR 1 #4028 575 630 10K Va7 B 2k
1048 10k Va7 28 4 V. 38 1# A A 321 400 10kv {af a2k
1049 LOKVART S0 2R 1K i ZE 3 A 321 400 10kv i Ank
1050 LOK VA WIZR IR ZE 28 A A 322 400 10k v an 2k
1051 LOK VA UZR IR i 5 17 A A 322 400 10k v faf an 2k
1052 LOKV i gn 2R FL NS AE X 28 A 2R 414 500 10k v faf ik
1053 10KV A 20 28 L U0 55 4 X 1# A AR 431 500 10kv{af a2k
1054 10k VArf Gl R FLwIsF A AR 177 200 10kv i Ank
1055 10KV HL YD 2R BR AR S LR AR A AR 81 100 LOKVEE Y2k
1056 10KV HL YD 2R BR AR S L83 A AR 44 50 10kVEL b2k
1057 10KV EL YD 2R BRAR L LR 1A AR 40 50 LOKVEE yh2k
1058 LOKVE YD LR VD PEA AN AR 93 100 10kVEL Vb 2k
1059 LOKVE YD LR VD P 3 A AR 90 100 10kVEL Vb 28
1060 LOKVEL YD 2R VD P28 N AR 46 50 LOKVE Y2k
1061 LOKVELYL 2RV P 1H N AR 85 100 LOKVHEE yh2k
1062 10V VP2 Wi hi R K % B AR 412 500 10kVEL VD 2k
1063 10kVE VLR B AT 2 A 53 50 LOKVIE Y2k
1064 10kVE VLR T B AT 1 A 51 50 LOKVIE Y2k
1065 1OKVEL YL 2R W B TH A A 81 100 LOKVE Y2k
1066 10kVE VLT e 6 A AR 44 50 LOKVIE Y2k
1067 10kVE Y27 e s A AR 83 100 LOKVEE yh2k
1068 10KV YD 28 7 B4t A AR 43 50 LOKVIE Y2k
1069 10KV YD 28 7 JE 3t A A 46 50 LOKVIE Y2k




1070 10kVE VDL F o R38N 42 50 10k V& yb £
1071 10kVE VDR F oA R o AN AR 40 50 10kVEL D2k
1072 10KV HL YD 28 5 5 LRI A AR 42 50 10kVEL Vb 2k
1073 10kVE f7 ZR LR LD A A 42 50 10KV & iy 28
1074 10kVE f R BLR L4 A A 40 50 10k VEf 2k
1075 10kVE f7 2B BRI HLE3 A AR 86 100 10KV & iy 28
1076 10kVE f7 ZB BRI HLE2 A AR 42 50 10KV & iy 28
1077 10kVEF 2R LRI LEL A 41 50 10KV & iy 28
1078 10KV R 2B IS X 2835 A% 40 50 10KV & iy 28
1079 10KV EL R LR BV S k25 AR 40 50 10KV Fy 2k
1080 10KV R ZBFEIE LR 5 AR 40 50 10k VL 2k
1081 10KV EL R 2R TS At N A 84 100 10KV fy 2k
1082 LOKVEL R ZE Wi /R IK 2R 2 5 A A 40 50 10KV & iy 28
1083 LOKVE R ZE i F /R IR 2R 15 A A 96 100 10KV & iy 28
1084 10k V& hy 2R T hi /R 48 A AR 40 50 10KV Fy 2k
1085 10k V& hy 2R hi /R 38 A AR 40 50 10k VL 2k
1086 10KV F7 28 72 Rk L4 A 84 100 10KV Fv 2k
1087 10KVEFy 28 J9 Rk L3 A A 254 315 10KV $7 28
1088 10kVE fy 28 J9 Rk L2 A 175 200 10KV EL$7 28
1089 10KV HLF7 28 29K 1l A A 42 50 10KV & iy 28
1090 10KV F7 28 8 42 2835 A% 46 50 10KV iy 25
1091 LOKVELR7 28 4= 18 A A 40 50 10KV fy 2k
1092 LOKVELH 28 i EH2 A AR 40 50 10KV $7 28
1093 10KV f7 2B 75 - A 50 50 10KV & iy 28
1094 10KVE F7 2RI 1H A 101 100 10KV $7 28
1095 10kVE LR H G 2 S BUN AR 195 200 10KV JE 2k
1096 10KV EL 8 4R A2 Ha il 5% A AR 129 160 10kVEJE 2k
1097 10kVHE B 20045 A 82 100 10kVE B 28
1098 10kVE B 2 H riF1#A A 45 50 LOKVE I 2
1099 LOkVE H 2R E i sFH2 A% 40 50 10KV B4
1100 10kVE B BT A 41 50 LOKVE H 2k
1101 10kVE B 28 A8 A 89 100 LOKVE H 2k
1102 10KVE H 28 HAU#A AR 83 100 10kVH & 28
1103 10kVEH B 28 AR 162 200 10kVE H 28
1104 1OkVE H 2R H IR 1 #A 45 50 10kVE E 2
1105 10kVE B 28 5 IRRH2 A 44 50 LOKVE H 2k
1106 10kVE H 2k 2 BUN AR 160 200 10kVH & 28
1107 10KV I H 28 i i A AR 43 50 LOKVE 154k
1108 LOKVE I 2R FiT 47 £ A 40 50 LOKVE 152k
1109 LOKVE S 28 58 AR I T A 80 100 10kVE 2k
1110 10kVE 28 5545 AN AR 41 50 10kVE 2k
1111 LOKVE IS 28 LA A2 81 100 LOKVE 154k
1112 10KVE 28 FUK AR 40 50 LOKVE 154k
1113 10KVE S 28 A A AR 41 50 10kVE 2k
1114 10KV 325 28 4% SR 5 70 31 A AR 81 100 10K VE £ 2%
1115 LOKVEE 35 28 4% SR 2 F o1 A AR 179 200 10KV E £ 2%
1116 LOKVE 15 28 4% SR B 70 1 #A AR 180 200 10KV E £ 2
1117 10kVE 2B AR A AR 10 10 10kVE 2k
1118 L1OKVE TR T AR Y SR AR S AT 40 50 10KV 128
1119  10KVE TR T A S LT AR L HIAAR 41 50 10kVEE T2k
1120 | 10KVETLR T AL T AL EEAR 40 50 10kVES T4k
1121 | 10kVETLR T RS LT ARYIFHAAL 86 100 10kVAE T2k
1122 LIOKVE TR T ALY L T ARG AL 44 50 10KV 128
1123 10V 25 — Z LA A 40 50 10KV 128




1124 10KVAS 28 R AT AR 88 100 LOKVZE T2k
1125 10KVE TR R —HKAE 80 100 10kVAE T2k
1126 10KV 28 R R AR 84 100 10KV T4
1127 10KVEF 2 o A% 42 50 10kVES T4
1128 10KV A7 B 28 i P A NA A AR 132 160 10KV ] 28
1129 10KV i 28 i 75 A N3 22 A8 26 30 10KV b 2%
1130 10KV i 28 i 7 A N2 23 A8 183 200 10KV b 28
1131 10KV B 28 ] PH AT NT A AR 85 100 10k V5 Bif 2§
1132 10KV Bl 2B BT 7Y 2 BURF A AR 95 100 10KV ] 28
1133 10KV A7 B 28 i 47 5 A AR 43 50 10k V5B 2§
1134 10KV B 28 5 5 FINS 2 A 175 200 10KV i 2%
1135 10KV B 28 55 5 AN 20 A 90 100 10KV b 28
1136 10K VA7 B 28 5 N1 A AR 89 100 10k V5 Bif 2§
1137 10KV BT 26 4T BV A A A 174 200 10k V5B 2k
1138 10K VA7 B 28 35 ELR A48 169 200 10k V5B 2k
1139 10KV B 28 s 3N 20 A% 86 100 10KV ] 28
1140 10KV B 28 B3N /0 A 44 50 10KV i 2k
1141 10KV B 28 s INT A A8 86 100 10KV ] 28
1142 NRESIERET YRS 171 200 10KV Fi] 28
1143 10KVA7 B 28 2 BURNT A AR 336 400 10KV ] 28
1144 10kVA BT 2R T #URFINS A AR 84 100 10k V5 Bif 2§
1145 10KV F7 BT 28 T #URAIN2 A AR 85 100 10KV #5 B £&
1146 1OKVA BT 2R R #URRINLA AR 88 100 10k V5 Bif 2§
1147 10KV T2k b HORFBING A AR 43 50 10k V5B 2k
1148 LOKVE B 28 b AR FINA A AR 88 100 10KV ] 2k
1149 10kV#7 B 25 | HORAINS A AR 164 200 10k V5 Bif 2k
1150 10KV ] 25 E HORFIN2 A AR 82 100 10k V5 Bif 2k
1151 10KV T2k b HORBINLA AR 82 100 10k V5 Bif 2§
1152 10k VAT HE 2R HEA AINS 65 48 96 100 10KV JE2R
1153 LOKVE BELR P FIN2 5 2 171 200 10KV Rk
1154 10KV BELR AL RINL 5 48 180 200 10KV 2R
1155 10KV A7 PE 2R HEA WA 3 A A 92 100 10k VA HEZE
1156 10KVAT BEZRHE 1 £ BURF AR 165 200 10KV 2R
1157 10KV BEZR SR & i HEAINS A AR 192 200 10KV JE2R
1158 10K VA BELZR SR & i HEAINT AR 171 200 NE IR
1159 10KV HELR SR &5 N2 A AR 172 200 NER IR
1160 | 10KVAFHRLR SR 5 R HE S R 2 im oA A8 80 100 10k VA HEZE
1161 10KV #5 HE 28 B2 7 e 45 s A AR 16 20 10KV 2R
1162 10KV BELR EAAINL G A 172 200 10KV 2R
1163 10kVAE HELR 22 R AIN2 & 2 178 200 10KV Rk
1164 10k VA5 HE 28 2 F A A RN KA AR 47 50 10KVE BEZR
1165 10KVAT PEZR 2 FIAINS & 4 171 200 10KV JE2R
1166 10KVAT PEZR 2 F RN 5 A 343 400 10k VA5 HEZE
1167 10KVAT PEZR 2 T RINT 547 182 200 10KV JE2R
1168 10KV A7 PE 2848 H 0k AR 7% X A AR 106 125 10KV Rk
1169 LOKVAE W RS DA 703 630 10KV IR 2k
1170 10K VAT 3 — 2 7 350 R o i i F A T 2% 666 800 10KV Ik — 2%
1171 10KV 3 2 0 Jir 3 IR I i H AR TR 2 1021 1000 10KV I — 2k
1172 LOKVE W G N A 257 315 10KV I — 4%
1173 10K VA I, — 2k i B A A 607 630 10KV I — 4%
1174 10KV IR — 2R L 7 #h B A AR 333 400 10KV I — 4%
1175 LOKVA IR 2R A R AR 824 630 10KV I 2k
1176 10KV 39— 28 R /N XL AR R 48 575 630 1OV I — 4k
1177 10KVAT 28 [E i Jg 8 A8 522 630 10KV I — 2k




1178 10KVAT I — 28 1 Jay A AR 691 630 10KV 2k
1179 10K VAT I — 28 A L5 e FL AR TR 28 184 200 10KVA I — 2k
1180 10KV 3 — 2R (5 F AL i L AR R 2% 172 200 1OV I — 4k
1181 10KV A7 — 2677 i A N A 258 315 L0KVE IR — 4%
1182 10KV AT 3 = 28 B 0] #p 8 A 170 200 10KV I — 4%
1183 10KV I = R BBURF A4 87 100 10KV IR =2k
1184 10KV AT = 26 BE A A AR 83 100 10k VA5 Ik = 28
1185 10k VAT I = 2R ik FLSFH M R A AR 88 100 1OV I — 4k
1186 10KV A7 3 = 28 20 0 Fic HL A0 1 4% 699 800 1OV 3 — 4k
1187 LOKVE I = 2R 16 X 22 & s A A 531 630 10KV I — 4%
1188 10KV 3 — 2R P X N R fic H AR TR 4% 514 630 10KV I =2k
1189 10KV 3 — 2R ek 2= B fic FEL AR 2% 867 1000 10KVA I =2k
1190 10KV IR — 28 i 2= BEN2 A AR 178 200 1OV I — 4k
1191 10KV I, = 2k B S i A AR 362 400 1OV 3 — 4k
1192 1OKVE I = £ 2 55 o A AR 400 500 10KV I — 4%
1193 LOKVA IR — 2Rk 6 IE A AR 83 100 10KV IR =2k
1194 10KV I = 2R s i A A 273 315 10KV IR =2k
1195 10KV 3 — e Mol Jy fic HL AR T 2% 346 400 1OV I — 4k
1196 LOK VAT It = 2R MRk S Al X A AR 259 315 10KV 3 — 4k
1197 10KV 27 I, = 2 U8 1 357 A s A 206 200 10KV Ik — 4%
1198 10KV IR = 28 KA UE A AR 551 630 10KV IR =2k
1199 10KVAF I = 28 DA Ji A AR 343 400 10KV IR =2k
1200 10KV AT = 28 AR HUm) A A 588 630 1OV I — 4k
1201 10K VAT I = 2R ARl & AR K 2% ] A AR 164 200 10KV 3 — 4k
1202 10KV I — 2R CRBE VAR JEN2 A AR 444 500 10KV I — 4%
1203 1OV I — 2R RFE VAR ENLA AR 423 500 10KV I =2k
1204 10KV IR = 2 22 B K A A AR 318 315 10KV IR =2k
1205 10K VAT I = 28 10 & K el e AR IR 4% 362 400 1OV I — 4k
1206 | 10KV I — Rk L B — 11245 B AR 2% 486 500 10KV I —4k
1207 | 10kVEEHE— 2R /K 55 EIE2 S Al AR JE 2 740 800 LOKVE 3l — 4%
1208 | 10KV IR —28 47 /R 56 K HUS fic HL AR IR 2% 392 400 10KV IR —2k
1209 | 10KVF I — 2847 /R 5 Bl T i i AR 1 2 354 400 10KVA I — 2k
1210 10KV IR — 2 2 il A AR 260 315 10KV I — 4k
1211 10KV A5 3— 26 21 Y AN A A8 310 315 10KV I — 4k
1212 LOKVE I — LR A AN 5 2 184 200 10KVl — 4%
1213 10KVAT I — LR L YEAINT A AR 107 100 10KV IR —2k
1214 10KV I — 2R <7 AT fic AR R 2 265 315 10KVA I — 2k
1215 LOKVA IR — 2 B /N X A AR 357 400 10KV I — 4k
1216 LOKVAT I — 2R 3 ) A A AR IR 4% 637 630 10KV I —4k
1217 10KV 3 — 2k IRIBUR 35 i AR IR 4% 926 800 10KV I — 4%
1218 10KV 30— 2R SUIR R fic HL AR R 2% 456 500 10KV IR —2k
1219 10KVAT I — 26 JLIINT A AR 289 315 10KVA I — 2k
1220 LOKVE W — R AT AEERAL 337 400 10KV I — 4k
1221 1OV I — 2R LR B 15 e H AR TR 4% 723 800 10KV I —4k
1222 LOKVA I — R A 2 R IR R 4% 394 400 LOKVE I — 4%
1223 LOKVAT I — R AR A 194 200 10KV IR —2k
1224 10KVAT [ 28 R A AR 262 315 10KV [m) 2k

1225 10KVAT A1 28 BH G /K 25 48 [ #% 444 500 10KV ] 28

1226 LOKVAT A 28 BHYE /KR 1548 2 449 500 10KV ] 28

1227 10KV [7) 28 8 S0 H 4 ic HL AR TR 2% 381 400 10KV [ 2%

1228 10KV [ ZRAC IR IE A 273 315 10KV [m) 2k

1229 10KV [ ZRREAIE N2 A AR 392 400 10KV [m) 2k

1230 10KV M ZRRETE NI A AR 389 400 10KV [F] 2%

1231 10KV [) 2R 4 IR e i s L F AR R 48 153 160 10KV 3 — 4k




1232 10K VAT [A] 2R S A AR 208 250 10KV [m) 2k
1233 10KV [ 2R K 32 i A AR 193 200 10k V5 [n] 2k
1234 10KV A7 [7] 28 W8 75 JE AT HL AP i #% 138 160 10KV ] 28
1235 10KV [ 2R H JR B 7 P fic AR IR 2% 201 250 10KV [F] 2%
1236 LOKVAT [ 28 2 S A AR 435 400 IREEEE
1237 10KVAT 2R A I AR 384 400 IR ESEE
1238 10KV M) 28 B 5 A 332 400 10k V5 [n] 2k
1239 10K VAT M) 28 BRI A A8 425 500 10KV [ 2%
1240 10KV [ 2R /N RGN A 43 50 10KV [F] 2%
1241 10KV [ 28 25 1 il /N 22 L FL AR R 48 625 400 10KV [ 2k
1242 10KV [ 2R K BH B AR 172 200 10k V5 [n] 2k
1243 10kVA MR Z AL 608 630 10k V5 [n] 2k
1244 10KV E; 1] 28 1o At Jmy s A8 537 630 10KV [F] 2%
1245 10KV [ 28 el T A1 FL A 2 550 630 10KV [F] 2%
1246 10KV [A) 28 bl T N2 A AR 416 400 10KV [ 28
1247 | 10kVE [ 2R DU )1 48 5 R i B 22 RN AR [ 48 655 800 10KV [m) 2k
1248 10KV A 26 i Sk A AR 88 100 10k V5 [n] 2k
1249 [LOK VA [A] 28 Y 7 55 FR 548 A =] e F A8 K 4 922 1000 10KV [ 2%
1250 |kV# [ 2R YR 7S 55 A PR s AR A Al 2 5 i LR J 2472 1250 10KV 3 — 4k
1251 10kVAEPHER B B AR 43 50 10k VAL FH 2k
1252 10KVAE FH 28 s ZK 1L BH — A 28 30 10kVAEBH 2R
1253 1OKVAEBHZR 5% BH AT DY A4 641 800 10k VAL FH 2
1254 10KVAEBHZR S BH DY A A 41 50 10kVAEBHZE
1255 LOKVAEBHZR S B —H A 33 30 10kVAEBHZE
1256 10KVAEBHZR S BH —H A 52 63 10k VAL FH 28
1257 10KVAEBHZRAE A KM A A 45 50 LOKVAERH 2k
1258 10KVAEBHEZR AL —H AT 42 50 10kVAEBH 2R
1259 L1OKVAEBHZRAE 4 —H A 18 20 10kVAE FH 28
1260 10KVAEPHER A — oA AR 20 20 10kVAE FH 28
1261 LOKVAEFH 2R A6 4F — A1 A R 45 50 1OKVAERH 2k
1262 10kVAEPHZRTE 2L A A 42 50 LOKVAERH 2k
1263 10kVAEBHER IR 2 BUR AR 70 80 10k VAL FH 2
1264 10k VAL BH 2R 4 A A8 40 50 10kVAEBHZE
1265 LOKVAEBHZR 2 LA AR 84 100 10kVAEBHZE
1266 LOKVAEBH 28 Sk B A 18 Z i WUA AR 165 200 LOKVAERH 2k
1267 10KVAEBHZR Sk A —H AR 87 100 10kVA¥ FH 2k
1268 10K VAL BH 28 Sk 1 DU 2H =y B A A8 83 100 10k VAL FH 2
1269 10K VAL BH 28 Sk 18 DY 2H 72 IR A AR 81 100 10kVAE FH 28
1270 10KVAEPHZR S DU A 80 100 10kVAE FH 28
1271 10kVAEBHZR S A A 44 50 10k VAL FH 2%
1272 10KVAEBHZR S —H A 82 100 LOKVAERH 2k
1273 10K VAL BH 28 Sk — 2H s KIFAR 167 200 10k VAL FH 2
1274 10KVAEBHZR S —H A 160 200 10kVAE FH 28
1275 10K VAL BH 2R K B VA BH 1L A AR 41 50 10kVAEBHZE
1276 10KVAEBHZR K BHYA | &5 X A4 17 20 10kVAEBHZE
1277 10KVAEBHZR KB | & X A AR 18 20 LOKVAERH 26
1278 10KVAE L LR K B A 82 100 10kVAE 3 2k
1279 1OKVAEE LR KM T AL 81 100 10kVAEFE LR
1280 10KVAEFE 2R /N A 81 100 10kVAE L LR
1281 10kVAESE 28 35 1 VU 4H A AR 41 50 10kVAE £ 4
1282 10KVAE E LR LG — HET A 84 100 10kViEE L
1283 10KVAE LR i —H AT 25 30 10kVAE 3 2k
1284 10kVAESE LR Kt —H AT 81 100 10kVAEFE LR
1285 10kVAE 3 2k ki Al B & XA 83 100 10kVAE L LR




1286 10KVAEFE 2R AN v — 2 A AR 81 100 10KVAE 2k
1287 10K VA 5 28 A 14— 21 A AR 45 50 10kVAE 3 2k
1288 10KVAEFE 28 XU K 4 AR 42 50 10kVAEFE LR
1289 10K VA 5 28 XU 1 [ 28 A 43 50 10kVAE K2R
1290 10k VA 26 25 X0 — 41 A A8 87 100 10kVAE £ 28
1291 LOKVAE FE 28 X0 — N A 46 50 1OKVAE 2k
1292 10kVAE HLZR N HE ) A Al A AR W AR IR 2% 640 800 10k VAL HH 28
1293 10KV & 2228 AR A 5K IS A AR 19 20 10kV ;22 4
1294 10KV & L AR A —HA AR 77 80 10kV ;22 4
1295 10KV AR —H AT 46 50 10KV 224k
1296 10kVZ R AR —H AT 45 50 10kVZ %2k
1297 10kV &5 %28 HRMUTFPEA AR 8 10 10kV 2 22 45
1298 10kVZ %28 H/R I — X EA AR 49 50 10kV ;22 4
1299 10kVZ %28 H IR A 16 20 10kVZ %2k
1300 10kVE L H /R —dH A 168 200 10kVZE 22 4%
1301 10kVE 22 H /R 2 BURF AR 163 160 10kVZ: %2k
1302 10kVZ R H/RZ VAR —HAE 25 30 10kV ;22 4
1303 10kVZZZE H/R 2 I KL —H A 82 100 10kV ;22 4
1304 10KV 2R DU 22 3 — dH A AR 337 400 10kV ;22 4
1305 10kVE 225 I K2 AN 83 100 10KV 224k
1306 10KVE R L E LD —HAT 204 250 10KV 2 42 &
1307 10kVZ R HE L —HAE 40 50 10KV 2 45 &
1308 L1OKVE R A A — A A4 83 100 10KV 42 &
1309 10kVE AR LRIy = HAAR 87 100 10KV 2 45 &
1310 L10KVZEARZEIRHE KL —HAE 42 50 10KV 2 5 26
1311 10kVZ RZRIRH B K L —H AR 82 100 10KV 2 42 &
1312 L10KVERZIRH 28 6 X A% 168 200 10KV 2 42 &
1313 10kVZRZIAH 2 S BUN AR 366 400 10KV Z 2k
1314 L1OKVERZIRH P 5 A 242 200 10KV 2 42 &
1315 10KV R pkim A 74 80 10KV 2R 4k
1316 10KV E R LAY —H AR 45 50 10KV Z 2k
1317 LOKkVZ R A —H AR 41 50 10KV 2 45 &
1318 10KV Z R AR Bl A 40 50 10KV 42 &
1319 LOkVZ R A AT A AR 41 50 10KV 2 45 &
1320 10KVE RZEAFE —H A 88 80 10KVE R4k
1321 10kVZ ARZE AR 24 A 157 160 10KV Z 2k
1322 10KV RL T E XA 41 50 10KV 2 45 &
1323 LOKVE R NE A 77 80 10KV 42 &
1324 L10KVE R HJER M A 80 100 10KV 2 42 &
1325 |  10kVERZE B8] HI/RPUKRBA A% 44 50 10KVZ A 4
1326 | 10kVERZE E5) HI/RVIKRBA =A% 80 100 10KV K 4k
1327 10kKVERL O —H A 168 200 10KV 2 42 &
1328 L1OKVE AR ZE i1 A 41 50 10k Vi A 2
1329 10KV Ei A 23 ] 7 8 B2 A 160 200 10k Vi A 2k
1330 10KV E AR 2R 1 R K A AR #2 41 50 10KV A2
1331 10KV E AR ZR B /ROK A AR 86 100 10k Vi A 2
1332 10KV E AR ZR (1 R K3 A A 56 50 10k Vi A 2
1333 LOKVE AR ZRARTT A #E A AR 82 100 10KV £o A 2%
1334 LOKVE AR ZRIRT A #5 A A 41 50 10KV £f A £
1335 LOKVEE AR ZRBR T AT #3 A A 92 100 10KV A2k
1336 10KV AR LR ARAT AT #2 2 A8 89 100 10KV £f A 25
1337 10KV ARZEARAT AT 81 A AR 91 100 10KV £f A £
1338 10KV A LL BRATHA N AR 40 50 10KV £o A 2%
1339 10kV AR ZEEARYIAA A 49 50 10KV £f A £




1340 10kVELRZE EARWIZA L 41 50 10KV £f A £
1341 10KV AR ZEEARYI2 A2 42 50 10KV £f A 25
1342 10kVELARZEEARYI L AA 53 50 10KV £h A 2%
1343 10KV AR LR BE £ BUN AR 360 400 10KV £f A £
1344 10k VAR LR BE RO A AR 82 100 10KV A LR
1345 10k VAR ZE AR /RIZBH AR 41 50 10k VA 2R
1346 10KV AR ZE AR IRIE S #1 A AR 45 50 10k Vi A 2
1347 10kVELRZE A RIZ 24 #2 A 86 100 10k Vi A 2k
1348 10kVE AR A RIZ 28 A A 40 50 10KV £f A £
1349 10KV AR ZR AR RIE 1 H T A AR 47 50 10KV A2
1350 10KV AL A RIZRA AR 41 50 10k Vi A 2
1351 10KV AL AR RIZE2 A AR 42 50 10k Vi A 2
1352 10KV AR 2R 22 B A 44 50 10KV £o A 2%
1353 10V AL /RIGEE A 130 160 10k Vi A 2k
1354 10kVE AL /RIGgA A 40 50 10KV A2
1355 10V AL /RIGE3 AR 46 50 10k Vi A 2
1356 10V AL /RG22 A AR 85 100 10k Vi A 2
1357 10kVE AL /RINEL AR 88 100 10k Vi A 2
1358 10kVE AR RIER #2 A 82 100 10KV £f A £
1359 10kVERZEAR S 1 82 A A 47 50 10KV A2
1360 10KV E AR ZRARAZ#3 A A 83 100 10k Vi A 2
1361 10kVE AR ZRAAZH1 A 41 50 10k Vi A 2
1362 10kVE BELR AR TH A 41 50 10kVE HELk
1363 10kVE FELR T A IA6E A 41 50 10kV 2 LR
1364 10KV FRELR T KA 5HA AR 44 50 10kV% Bk
1365 10KV S B2 55 Rk an A 42 50 1OKVE Rk
1366 10KV S B2 5 ARk 3t A 43 50 10KVE Rk
1367 10kVE FEZR AR 28 A 68 80 10kVE HELk
1368 10kVE BELR AR 14 53 50 10kV ' LR
1369 10KV BRELZR KA 33 A AR 86 100 10kV% Bk
1370 10KV S FELR KA 21 0 A 40 50 10kVZ 2k
1371 10KV S LR KA 17 A 42 50 10kV% FE 2k
1372 10kV 2 FELZR o1 L 4 K3 A AR 40 50 10kV 2 REZR
1373 10KV LR o1 L fr K2 A AR 40 50 10kV 2 LR
1374 10KV LR o1 L fr K1 A AR 47 50 10kV% Bk
1375 10KV S B 2R 24 B 74 3t A 40 50 1OKVE Rk
1376 10KV S BRE2R 24 B ya 24t 0 A 40 50 10KVE Rk
1377 10KV 2R 24 BR VA 13 A AR 40 50 10kV 2 LR
1378 10kVE FELR & RAT6 A 40 50 10kV ' LR
1379 10KV S FRELE 2 R A b A AR 44 50 10kVE B2k
1380 10kVE LR E R4 A8 43 50 10kVZ 2k
1381 10kVE LR E RT3t A 45 50 10kV% FE 2k
1382 10kVE BELR B RAT 28 A 42 50 10kV 2 LR
1383 10kVE RELR B RAT 1A 41 50 10kV ' LR
1384 10KV B 2R g X 28 A AR 178 200 10kV % Bk
1385 RS 57 AN ELYNG'S 174 200 10kVZ 2k
1386 10kVE FELR 2B A 3t A AR 49 50 10kV% FE 2k
1387 10kVE FELk FE B A28 A 40 50 10kV 2 LR
1388 10kVE FELR FE B AT 14 40 50 10kV 2 LR
1389 10KV LR AT FEARIATRA AR 172 200 10kV% B4k
1390 10kV 2 LR AT AL SHA AR 333 400 10kVE B2k
1391 10kVE FELR AT AL 28 A AR 49 50 RED 357
1392 10kVE BELR AT AL 18 AR 165 200 10kV 2 LR
1393 10KV R 2833 2 47 [l [X 4446 A8 322 400 10kVE Lk




1394 10KV 2 B 2R 338 [2 7 el [X S#AH A 335 400 10kVZ 2k
1395 10KV % R 2835 E2 47 [l [X 2446 A8 321 400 10KVE Rk
1396 10KV 2 28 33 2 4 bl [X 1846 A5 327 400 10kVE HELk
1397 10KV Bk ot 18 A AR 40 50 10kV 2 LR
1398 10kVE FE4L 1 45 A A 16 20 10kVE B2k
1399 10kVE Lk b 4 AN AR 40 50 LOKVE Rk
1400 10kVE LR 3 A AR 40 50 10KVE Rk
1401 10kVE ki a2 AR 40 50 10kVE Lk
1402 10kVE BELAZ I FT 1A A 44 50 10kV% B4k
1403 10kVE BELR - s FT6s A A8 41 50 10kV% Bk
1404 10KV JE 26 A~ I A+ 51 o8 A 41 50 10kVZ 2k
1405 10kVE FELRA- WS AT 4 A AR 69 50 10kV® FE 2k
1406 10KV 284~ WA 3 A AR 45 50 10kV 2 LR
1407 10kVE BELR - s ft 28 A A8 44 50 10kV% B4k
1408 10kVE BELR - I FT 18 A A 54 50 10kV% Bk
1409 10kVS B LR iy 2 BUR & 48 340 400 10kVZ 2k
1410 10KV K 2R S ot A AR 175 200 10k V2 2k
1411 10KV ik £ E S5 A AR 40 50 10kVZ K 2k
1412 10KV K R i R SE 3 A AR 43 50 10kV 2k
1413 10KV B K 2o Hff R FESF 28 A AR 64 80 10V Kk 2
1414 10KV B K 2R R FESF 1R A AR 161 200 10KV ik 2k
1415 10KV R ZRFEAFEF IRA AR 66 80 LOKV & e 2k
1416 1OKVE K ZE B FE M 18 A AR 148 160 10k VK 2k
1417 10kVE KRR A FE28 A 469 630 10k VK 2k
1418 10KV R 26 K 48 5 N AR 78 80 10kVE R 2
1419 10KV K 2R IS A st A AR 167 200 10k V2
1420 10KV S K 2R 33 A 4t A 64 80 10k V2 2k
1421 LOKVE K LR AT 1 A A 170 200 10kV 2k
1422 10KV KRR T Z A8 A A 41 50 10kV 2k
1423 10kVE IR AR 1T 2 AT T8 A A 41 50 10kV % 1k 28
1424 10KV KRR T Z A6 A 44 50 10k VK 2k
1425 10KV KRR T2 A3 A 177 200 LOKV & e 2k
1426 10KV KRR T Z A28 A 345 400 10kVZ % 2k
1427 10KV K 26 e It T A 206 200 10kV 2k
1428 10KV 2 R 26 th i 22 B A A 89 100 10KV 1 £k
1429 10KV K28 e 2 IR T A AR 25 30 10kVZ 2k
1430 10KV K 28 i 2 B X 3 A AR 168 200 10kV 2k
1431 10KV Ak 28 e £ B X 28 A AR 414 400 10kV & 2k
1432 10KV K28 e 2 B X 18 A AR 221 200 10k VK 2k
1433 10kV B 4k 2 i % 2 BURF AR 460 500 10V Kk 2k
1434 10KV K ZE e 2 R AR 116 125 10k V2
1435 10KV K28 1 £ i B 5 A 407 500 10k V2 2k
1436 10kVEZRZEER Bl 648 171 200 10kVER FE LK
1437 10kVERFE L Bl BiA &4 51 50 10kVEE FE £
1438 10kVERZE LR Bl AT 28 &5 A8 71 80 10kVEE ZE 4%
1439 10kVEZRJE LR Bk 18 5 48 174 200 10k VEE 82
1440 NES 1 PRUEISES 47 50 10kVEE FE£;
1441 10k V&g ZE 26 4k 5 &5 48 89 100 10kVEE ZE 4k
1442 UNES £F TN N=ES 53 50 10kVEE FE £
1443 1OKVERZEZE H K 38 6 % 83 100 10kVE4E FE 4k
1444 10KVERZELR (K 521t 5 4% 139 160 10k V&g FE 2k
1445 10KVERZELR K 5 17 6 4 84 100 10k V&g FE 2k
1446 10kVZRZEZE H I &4 331 400 10kVEEFE £
1447 10k V&g Z€ 28 H 48 1 25 )T 40 A8 B A8 T 2% 276 315 10kVEE FE £




1448 10kVER IR H R FZ a4 179 200 10kVEE 82
1449 10kVERZEZE H 1T EM B W B L 4% 361 400 10kVEE FE £
1450 10KVERZELE HE S BUR 648 336 400 10kVEEFE £
1451 10kVEEFELR H R £ BURF2H A AR 83 100 10kVEE FE £
1452 10KVERZELR FL i1l & 48 81 100 10kVEE e
1453 10kVEZRFELRRE R E 6 40 50 10k V&g FE 2k
1454 10kVERFEER BE REK Grat 5 A8 41 50 10k V4R FE 2L
1455 10kVEEFE LR RE R H I 648 41 50 10kVE4E 34k
1456 10kVERZELZRE /R 48 82 100 10kVEE FE £
1457 10KVER LR RE R\ TR EF 40 50 10kVEE ZE 4k
1458 10KVERZELRRE R 15 A 40 50 10k V&g FE 2k
1459 10kVERFEER VR R A2 43 50 10k VEE FE£;
1460 10KVER ZE LR AR 114 & & 165 200 10k VEEFE £
1461 10kVERZEZEARHE 548 136 160 10kVEE FE £
1462 10kVERZE 2R H #5186 28 44 50 10kVEE ZE 4%
1463 10kVZRIELE H /R ot 5 48 40 50 10k V&g FE 2k
1464 10kVZRIELE H /R B4t 548 80 100 10k V&g FE 2k
1465 10kVZR L H /R B3t 548 40 50 10k VEE 82
1466 10kVZRIELE H /R et 5 4 42 50 10kVEE FE £
1467 10kVERFEEL H R L 1HE A 160 200 10k V4R 2828
1468 10KVERZE LR AT ARG A 41 50 10k VEE 82
1469 10kVERZELEHE L& 4F 80 100 10k VEE FE£;
1470 10kVZR IR LR\ 1 75k 548 41 50 10k VEEFE £
1471 10kVZRFELR )\ - it 548 75 80 10kVEE FE £
1472 10kVERZEZR )\ i &4 161 200 10k V4R 2828
1473 10kVZRIELR )\ 1 F =G4 167 200 10k VEE 82
1474 10kVEEZEZR )\ b &4 47 50 10kVEE FE £
1475 10KV & PR 2R 4 W RIA —FE A 168 200 10kVEE R 2k
1476 10KV &t B2k 485 1 2 BURF AR 200 200 10kVZ5 B 28
1477 LOKVEE RZR £ R ETUHAZ 42 50 10KV Rk
1478 10KV RZR F R 2 —H A 46 50 10k V45 2k
1479 10kVEE R EXEILE AR 82 100 10k V45 2k
1480 10KV &S jE 26 F 58 38 = H28 A A 17 20 10kVZ5 B 28
1481 10kVEE FE2E F 58 38 =18 A4 41 50 10kVZ5 B 28
1482 10KV EE PRZE |H S #% 18 20 10kVEE R 2k
1483 10KVES K2R B K B 1 15 R A AR 40 50 10k V45 2k
1484 10kVEE FRZR BE K B T3 A 41 50 10k V45 2k
1485 10KV &S PRZR B K Bt T KK A A 41 50 10kVEE R 2k
1486 1OKVEE R B K B - — H AR 83 100 10kVZ5 B 28
1487 10KV 4E R 28 AU BH 1L A 2 83 100 10KV Rk
1488 10k V& R RIFTE A AR 83 100 10k V45 2k
1489 10k VES JBRZE KU — A BH 1L A AR 81 100 10k V45 2k
1490 10kVEE RE K\ AT H A AR 81 100 10kVZ5 R 28
1491 10KVt R K\ = KA A 17 20 10kVZ5 B 28
1492 10k V&5 R 2k )\ A AR 17 20 10kVZS B 28
1493 LOKVEERRER IV AR 42 50 10k V45 R 2k
1494 10kV & ] 28 25 Wi /N R A AR 46 50 10k V45 [m] 2k
1495 10KV [7) 28 45 1780 1 A A8 1026 1250 10kVZE [ 28
1496 10k Vg [ 268 22 LA AR 80 100 10kV&h m 28
1497 10KV &[] 28 A% DU 2H A 169 200 10KV 4 ) 2%
1498 10kVEhE I ZeARys —HE KA 17 20 10k V45 m] 2k
1499 10KV 4[] 28 AV — ZHL Wik <57 A A8 130 160 10k V45 [m] 2k
1500 1OKVEE 2R ARV —H AL 25 30 10kV & [m) 28
1501 10kVEE MR AW — 4 AR 85 100 10k V& [m) 28




1502 10kVEE MR AR —HAE 42 50 10KV 4 [m) 2k
1503 10KV & [ 284 IR A A AR 43 50 10k V45 [m] 2k
1504 10kV&E M 28 /NA AR 81 100 10kV&E M 28
1505 10KV & [m] 28 [ 4 K LA AR 29 30 10k V& [m) 28
1506 10KV & [ 28 [ fE 78 A A8 81 100 10kV4S [ 2k
1507 10KV & 7] 28 [ AR A Bl IA VA A 16 20 10k V45 m] 2
1508 10kV 4 [ 42 S ol 4 A A8 45 50 10k V45 [m] 2k
1509 10KV & Al 28 L 3L XU A 2 17 20 10k V& [ 2%
1510 10kVEE M2 LIL—H AT 41 50 10k V& [m) 28
1511 10KV ZLAR 28 34 58 A 3 A AR 41 50 10kVAL IR 26
1512 10KV ZLAR 28 4 58 A 21t A A 162 200 10k VAT R 22
1513 1OKVZLRZE A B M 1A 351 400 10k VAT HR 28
1514 10KV ZLHE 2R PEAS £ T AT A AR 83 100 10k V4T 2k
1515 10KVZLHEZR PEAS £ AR 80 100 10k V4T 2k
1516 10KVZL LR PSR —H AR 80 100 10k V2T e 2%
1517 10KVZL#ELE B T — dH A A 81 100 10k V4L He 2k
1518 10KVALRELL 4T3 — A 82 100 10k V2T e 2%
1519 10KV LB AL £ A 320 400 10KV 3 2k
1520 10KV LR = 228 170 200 10KV AT 3 2k
1521 10kVZL LR = 2 14 88 100 10k V2T e 2%
1522 10KV ZLMELR i S AN AR 80 100 10k V4L He 2k
1523 10KVZL#ELR VDR —dH A 81 100 10k V2T e 2%
1524 10KVZL#EZR VDR = H A 43 50 10k VAT 2k
1525 10KVZL #ELR PR —H A 42 50 10k V4T 2k
1526 10KV ZLHELR Sl A 183 A AR 44 50 10k V2T e 2%
1527 10KV 2L 28 S 7 37 A A 81 100 10k V2T e 2%
1528 10kVZL LR R SF i A 43 50 10k V2T e 2%
1529 10KVZL#e 4V 3# A3 42 50 10k V4T 2k
1530 10KV #4282 82 100 10k V4T 2k
1531 10KVZL 2RV 15438 84 100 10k V2T e 2%
1532 10KVELHEZR AR A 85 100 10k V4L He 2k
1533 10KVELHEZR AR —H A 82 100 10k V2T e 2%
1534 1OKVELHEZR AR —H A 84 100 10k VAT 2k
1535 10KV R R A4 A 86 100 10kVAT R4k
1536 10kVZL R R A3 A 164 200 10kV4L R4k
1537 10kVZL RERME R 28 A8 43 50 10k VAT £
1538 10KV RERME R AT 18 A 164 200 10kVZT £
1539 10KV A n 28 25 LU FH BTt A 80 100 10k VA ik
1540 LOKVA 2R 9 s SR e Ik A 161 400 10k VA7 ik
1541 LOKVAT 2k o B i il A AR 89 100 LOKVAT gk
1542 LOKVAINZR A REFTENERAE 42 50 10k VA ik
1543 LOKVA INER A ) Rk a2 A AR 96 100 10k VA7 fink
1544 LOKVAINZR AT ZR1IA AR 161 200 10k VA ik
1545 LOKV A LR Vs A 161 315 10k VA7 ik
1546 10KV A IR A E AW X A AR 80 100 LOKVAT gk
1547 LOKV A 2R A R IE A AR 87 100 LOKV AT gk
1548 LOKVAINZE 2 BA2 A% 83 100 10k VA7 ik
1549 LOKVA LR 2 HOp1 A2 85 100 10k VA hn 2k
1550 10kV A INZk2065k37 /3 A8 80 100 LOKVAT gk
1551 10KV (1A 2R3 L A2 82 100 10kV 1 4F 28
1552 10KV [ A= 2R3 A7 2B g 1 A3 41 50 10kV I 4E 2k
1553 10KV [ 4 28 1 il A A8 80 100 10kV 4 2k
1554 10KV EELRIE RN B — AR 40 50 10kV H4E£8
1555 L0kV HAFE LR T8 AR 43 50 10kV I 4F 28




1556 10KV AHEZRAE 721 N EAAR 24 30 10kV [ 4E 2k
1557 10kV FAE 28 KA AT LA AR 47 50 10kV 1 4F 28
1558 10kVEHAELR KA K3 A 92 100 10kV H4E£8
1559 10KV (A28 KA k2 A AR 40 50 10kV I 4E 2k
1560 10KV ELEB 2621 N 1% R B 28 160 200 10KV FL 2%
1561 10KV LB 28 8 JE i 6 8 40 50 10kV FL {0 2%
1562 10KV FLAER 2 A% & A 88 100 10kV L4 2k
1563 10KV LA 2R (7K A 28 5 AR 171 200 10KV LA 22
1564 LOKV LR ok A 1 # 6 2 47 50 10kV FL 42k
1565 10KV FLARZR FL YU 6 28 199 200 10kV L4 2k
1566 10KV ELARZR LY/ 2240 A 663 800 10kV FL 42k
1567 10KV ELARZR H Fhlot 548 169 200 10kV L4 2k
1568 LOKVELARZE H FA 154 178 200 10KV LA 28
1569 LOKV LA BTk 38 5 A8 107 100 10KV LA 22
1570 LOKV LA ZR BTk 24 5 A 108 100 10kV L4 2k
1571 10KV FLARZR Al 45 A 3t 5 A8 41 50 10kV FL 42k
1572 10KV LA R 5 ot 5 A 41 50 10kV L4 2k
1573 10KV LA 2R pl A M 18 5 AR 41 50 10KV LA 28
1574 10KV LN 4 86 100 10kV FL 42k
1575 10KV FLARZE B H A4t 5 A8 86 100 10kV L4 2k
1576 10KV ELAR R G & 4 44 50 10kV FL 42k
1577 10KV FL/K 2R I8 Ik A #5 5 A 41 50 10kV LK 2k
1578 10KV FL/K 2R IA IR A #4 65 A2 170 200 10kV LK 2k
1579 10KV FL/K 2R IA IR AT #3 65 4 178 200 10kV LK 2k
1580 10KV FL/K 2R IR IR AT #2 65 A 84 100 10kV LK 2k
1581 10KV FL/KZRIE S 5 48 40 50 10kV LK £k
1582 10kV FLZK R i 8 Rk X 5 A48 181 200 10kV LK 2k
1583 10KV LK 2R H M #3548 181 200 10kV LK 2k
1584 10KV LK 28 H A #2 548 168 200 10kV LK 2k
1585 10KV LK 2R B H A #1 648 334 400 10kV LK 2k
1586 10kV BT 28 LU # AT #2 &5 48 306 315 10kV LT 2k
1587 10KV FLBT R FLUDE R #1 5 48 259 315 LOKV BLFT 2k
1588 10KV A2 g 28 ) JBE A AR 50 50 10KV AR 28
1589 10KV G2 H B A 76 80 10kVA 2
1590 10KVAR MG 26 | 28k A3 51 50 10kVA G2k
1591 10KVRILZE HH R L EHEAR 42 50 10kVAFL 2k
1592 10KV HLZR + B JE 50 2k — A 28 A AR 83 100 10k VAL 25
1593 10KVZRFLZR B JE 502k — A 18 AR 43 50 10kVAFLZR
1594 10kVARHLLR G SF A AR 70 80 10kV A FLZR
1595 10kVy 2k — R ATer & 48 40 50 10k VAK 28
1596 10KV 2k Ik AR 11sE 48 42 50 10k VA& 7 2k
1597 10KV T ZRBT A 78 5 48 41 50 10k VI K 2k
1598 10KV T 2B~} A 6t 5 A8 25 30 10KV T2k
1599 10KV | 2B >} A bt 5 A8 40 50 10kVy% T 28
1600 LOKVIE 2R B ) 4o 5 45 44 50 10KV T 4%
1601 10KV T ZRF |4 3t 5 48 41 50 10V K2k
1602 10KV T ZRFi Aot 548 40 50 10k VI K2k
1603 10KV T 2B~} A 18 5 A8 41 50 10KV T2k
1604 10KV R 28 Pk Ak et & 48 89 100 10kVy% T2k
1605 10KV R 28 Nk AR 68 & 48 82 100 10KV 4k
1606 10KV R 28 i ARt & 48 41 50 10V K2k
1607 10KV 28 i AR 3t & 48 40 50 10k VI K 2k
1608 10KV R 28 Pk 28548 42 50 10KV T2k
1609 10KV 28 A AR 14648 42 50 10kVy% T 28




1610 10k Vi 2R gt st 548 85 100 10k V] T 25
1611 10kVir] PRt 1 548 162 200 10kViA] |25
1612 10KViA] N £ LA Rl & 48 101 125 1OkVir[ £k
1613 LOKVin] N a8 86 100 LOkV{i[ £k
1614 10KVl N — 4 a4 87 100 10kViH] £k
1615 10K VIA] R 4R PEik % B G A 89 100 10KV~ £&
1616 10k VI FZRiE A 3t 548 40 50 10kV{r[ R £k
1617 10kVin] PRS2 548 74 100 1OkVir[ £k
1618 10kVIn] PRSI 1# 54 40 50 LOkV{i[ £k
1619 10kVin] F&Rb #3848 86 100 10k V] 28
1620 10kVin] F&RibH28 548 84 100 10KV 28
1621 10kVin] PR H 18548 85 100 10K Vi 28
1622 10KV FERRR R 2 B A8 86 100 10k V] | 28
1623 10k Vi R £R R 748 55 A8 89 100 10k V] 28
1624 10k Vi [ £RRR 7538 55 A8 42 50 10K VY[ 28
1625 10k Vi T £RRR 728 55 A8 43 50 10K Vi 28
1626 10kVin] PR B R85 A8 41 50 10K VY] 28
1627 LOKVii] PR BRI 43 50 LOkV{r[ £k
1628 LOKVii] FERAR TH A 86 100 LOkVii[ £k
1629 10kVIE] R 45041 )28 4 48 44 50 10kViH[ £k
1630 10kViR] QDU 18548 84 100 10K ViR 28
1631 10kVin] P&k 5 a4 80 100 10k Vi) 2%
1632 10kVin] 2k 5 R 1454 164 200 LOkVir[ £k
1633 10KVYA] |28 = K FE3 540 212 400 10k V] 28
1634 10kVIF] R4 =5 g8 648 212 400 10kViH] R £k
1635 10KV R 2k =K IFE1# 54 212 400 10KV 28
1636 10k V{A]_F 2R 4k 64 & 48 212 400 10k Vi k28
1637 10kVin] b2 4t m4s 5748 108 125 10KV I~ 2%
1638 10k V] b2 438448 212 400 10KV 2%
1639 L0Vl _EZR KRB & 212 400 10KV 25
1640 10kVin] HZR A 4548 212 400 10k Vi k28
1641 10kVir] 2R ARJe2# 548 ChD 120 100 10k Vi k28
1642 10kVii] FZEARJe24 6748 (IH) 47 50 10KV |- 2%
1643 10k Vi 2k H — s Ar 212 400 10k Vi _F- 28
1644 10kVin] B2k H — a4 212 400 10kViA] 4k
1645 10k Vi 2k H — et 48 212 400 10KV 4k
1646 10k Vi 28 H i — s 548 177 200 10k Vi _F 28
1647 10k Vi 2k H — 4548 86 100 10k Vi [ 28
1648 10k Vi) 2k H — 3548 80 80 10k Vi _F- 28
1649 10k Vi) 2k H — oA 204 250 10kViA] 4k
1650 10kVir] 2R H —dHis a4 170 200 10KV 42k
1651 10k Vi 28 Hig — 42548 170 200 10k Vi k28
1652 10kVin] 2k H —dH1s 548 165 200 10k Vi [ 28
1653 10k Vi 2k H — 4t A8 176 200 10k Vi _F- 28
1654 1OkVi] Rk Hyk—dHan s & 165 200 10KV 25
1655 10kVir] 2k H — #3548 69 80 10KV F 4k
1656 10k Vi 28 Hig — 42548 182 200 10k Vi k28
1657 10kVin] 2R H —dH1s 548 212 250 10k Vi [ 28
1658 10Vl FZk H a4 648 80 100 10k Vi _F- 28
1659 10KVl _E2k H A3 &6 48 84 100 10KV 25
1660 10kVir] 2k H 2548 91 100 10k ViR _F 28
1661 10kVin] R£k Ha(1# 548 81 100 10k Vi k28
1662 10k VI] 2RI A fHAZE 183 200 10KV I 2%
1663 10KVl &R IE R 1648 212 400 10KV 2%




1664 10k Vi 2R Ig i —dHon s AR 190 200 10kVyA] | 2%
1665 LOKVyA] |- 2R 15 st & A8 212 400 1OKVyA] 2k
1666 10KV &G54 Ar 184 200 10k VyA] 2%
1667 LOKVI] | 2k % Hrsa & A 212 400 10KVyA] 2k
1668 10kVir] b2 I8 Hran 548 212 400 10KV &%
1669 LOKVyA] |- 2815 3 &5 4 212 400 LOKVyA] 2k
1670 10kViT] F 2886451 212 400 10k V] _F 2k
1671 10KV 4R35 os & Ar 139 160 10k VyA] b 2%
1672 10kVIE] &G54 A8 90 100 10k V] b 2%
1673 10k VY b 28 b /N E R A 1 AR T 212 315 10k V] | 2%
1674 10kVYD e 28 19 3 A AR 40 50 10kVyb 2k
1675 10KVP 2Rk RL A AR 42 50 LOKVYb B2k
1676 10KVYD e 2830 N AR 40 50 10kVIP 2k
1677 LOKVYD R IR HLA AR 40 50 10kVIP 2k
1678 10KVYD R LR IHAE A AR 41 50 10kVIP 2k
1679 LOKVYD e 28 7% A A A8 41 50 10kVyb 2k
1680 10kVYD e 2835 i A AR 40 50 10kVyD 2k
1681 LOKVYP LR IR R AT T S A 44 50 10kVIb 2k
1682 LOKVYP R IR AR AT T 2B AR 40 50 10kVIb 2k
1683 10kVYP R MG AR 2 AR A AR 40 50 10kVIP B2k
1684 LOKVYD 2RI AR A /R IS A 43 50 10kVyb 2k
1685 1OKVYD o 28 AR A A8 42 50 LOKVYb B2k
1686 LOKVID R v BLRK AR 40 50 10kVIP 2k
1687 10kVYD IE 28 75 A AR 41 50 10kVIb 2k
1688 10kVD o 28 =5 8 N AR 44 50 10kVIP B2k
1689 N o R PANG'S 45 50 10k Vb ik 2k
1690 LOKVYD IR 2R 75 FEAT 48 0 A 87 100 10k Vb ik 2k
1691 LOKVYD sk 28 5 FE A 33 A AR 43 50 10k VbR 2k
1692 LOKVID IR 28 5 FEA 13 A AR 40 50 10k VbR 2k
1693 10KVID IR 2R VD IR SEAT 6 A AR 41 50 10k VbR 2k
1694 10KVID IR 2R VD IR SEAT SR A AR 24 30 10k Vb ik 2k
1695 LOKVID IR 2R VD IR SEAT AR A AR 82 100 10k Vb ik 2k
1696 10K VYDl VD IR R A 3 A AR 95 100 10V ik 2k
1697 LOK VYDl R VD IR R A 28 A AR 80 100 10k VbR 2k
1698 10kVYDiB R f LA 8 A A 41 50 10k VbR 2k
1699 LOKVID IR 2R DA T A A 61 50 10KV by 2k
1700 LOKVD IR 2R L Ay 61 A 25 30 LOKVybyi 2k
1701 10kVYDl e DA 5 A A 41 50 10KV ik 2k
1702 L0KVYDIl R DA 3 A A 25 30 10k VbR 2k
1703 10kVIDiB R f DA 28 A A 41 50 10k VbR 2k
1704 LOKVID IR 2R DA 17 A A 41 50 10KV by 2k
1705 NN R RN PGS 83 100 10k Vb ik 2k
1706 LOKVYDIBZR AT I\ AT 1A 47 50 10KV ik 2k
1707 10KVYD R 2848 /R EE AT SR A AR 42 50 10k VbR 2k
1708 10KVYD R 2648 /R AT AR A AR 43 50 10k VbR 2k
1709 10k VYD 2R 4l R A 33 A AR 42 50 10k Vb ik 2k
1710 10k VYDl 2R fl R A 18 A AR 42 50 10k Vb ik 2k
1711 10KVYDJsk 2848 /R EE AT #E6 A AR 24 30 10V ik 2k
1712 10KVYD R 2848 /R EE AT 2 A AR 40 50 10k VbR 2k
1713 10KVYD R 28 JE 7 I GE AR 85 100 10k VbR 2k
1714 10KV R 2 AR A A8 24 30 10KV by 2k
1715 10K VYDl 2R AR A 28 A AR 25 30 10k Vb ik 2k
1716 10KVID IR R AT #1 A2 26 30 10k VbR 2k
1717 10k VYD K 2 BUR AR 254 315 10k VbR 2k




1718 10k VYDl R /R i kb A AR 28 30 10k Vb ik 2k
1719 10kVYDil R /R 4 A AR 40 50 10k Vb ik 2k
1720 10K VYDil R /R k) 3 A AR 41 50 10k VbR 2k
1721 U R YN N PA NG S 43 50 10k VDR 2k
1722 10k VYDl KR A 18 A AR 43 50 10k VbR 2k
1723 10KV D i 28 M\ BUR 91 /8 A 40 50 10k Vb ik 2k
1724 10KV D i 28 M\ BURS 8# 8 A 40 50 10k Vb ik 2k
1725 10KV jik 28 M\ BUR T8/ AR 40 50 10k VbR 2k
1726 10KV jik 28 M\ BUR 683 A 40 50 10k VbR 2k
1727 10KV jik 28 M\ BUR 58/ AR 40 50 10k VbR 2k
1728 10KV D i 28 M\ BURS 48 8 A5 40 50 10k Vb ik 2k
1729 10KV D i 28 M\ BURS 38 8 A 47 50 10k Vb ik 2k
1730 10KV jik 28 M\ BUR 288 A 41 50 10kVIb ik 2k
1731 10k VYD 26203 k37 A A 90 100 10kVJE YN LR
1732 10KVAR /S 2642 B Ve Ao & AR 338 400 10kVAR 7S 28
1733 LOKVAR AN B I TH 5 A8 165 200 10KVAR 7S 28
1734 LOKVAR AN B 14t 548 165 200 10KVAR 7S 28
1735 LOKVAR AN IR B I3 5 A8 172 200 10kVAR /N 28
1736 LOKVIR AR B 28 54 166 200 10kVAR /N 28
1737 LOKVIR AR B I 154 169 200 LOKVER /N 28
1738 10KVAR /N ZR T4 648 320 400 10kVAR /N 28
1739 10KVHEAS 28 i 1L A AR 40 50 10k VA AS 2k
1740 LOKVHFEARZB B F My —dH AR 86 100 10kVAfE A 2R
1741 1OKVHE A ZE XS K M3 A AR 26 30 10KV A 2R
1742 LOKVHF A 2R iy 1 — A 93 100 LOKVHFA 28
1743 LOKVHE A 2R Tyl & 2 2 2 A AR 174 200 10KV A 2k
1744 LOKVIE AR LR ZIEL JE A 181 200 10k VA AS 28
1745 LOKVAE AR A B A AR 204 200 10k VA A2k
1746 LOKVIE AR ZE A B A3 A AR 94 100 10kVAfE A2k
1747 LOKVHFAZR KL 1L AR 40 50 10KV A< 28
1748 LOKVHE AR 2R K KIA A AR 80 100 10k VA AS 28
1749 LOKVHFAS 28 28 A AR 40 50 LOKVHE A 2k
1750 10KV AS 2848 48 115 100 LOKVHFAS 2R
1751 1OKVAFAS 28458 N\ A A 154 160 10KV A 2R
1752 10V i — 28 T AE 548 160 200 LOKVHF R — 2%
1753 10KV — 28 B AT F AR 84 100 10k VA bd 2k
1754 10KV d — 2 B AT AR 25 30 10k VA bd — 2k
1755 10KV AT b — 2 o R I AR )i 2 A% 24 30 10KV b — 2k
1756 LOKVAHF i — 2R /R F 28 A AR 160 200 10KV b —%k
1757 10K VAT b — 2Ry /R IS 18 A AR 85 100 10KV i — 4%
1758 LOKVAF b — 2R B A = A AR 253 315 10k VHfE pd — 2k
1759 LOKVAF i — £ ZL T A — A A AR 42 50 10KV B — 2k
1760 LOKVHF i — 2R BT — A A AR 45 50 10KV b —%k
1761 LOKVHF b — 28 B 250 Hh A AR 82 100 10KV b —%k
1762 LOKVAHF i — £ 3% AT — A A AR 85 100 LOKVHF R — 2%
1763 10KV i — 2RI Bl — A AR 164 200 10k VHfE pd — 2k
1764 LOKVAF i — 2 i BELBUR & A8 85 100 10k VA bd — 2k
1765 10KV B — 2R I 22 R A AR 45 50 1OKVHE i — 4%
1766 LOKVHF d — 2R s S —BA R A AR 85 100 LOKVHF i —2k
1767 LOKVHE b4 — 2R 22 —BA LA AR 84 100 LOKVATF e — &%
1768 LOKVHF b — R FHE N TS AR 257 315 10k VA pd —2k
1769 10K VHE b — 2R PHi— BAIR LA AR 163 200 10k VA pd — 2k
1770 10KV B — 2R P 2BA e L A AR 166 200 10KV b —%k
1771 10KV = — 28 XS M KA A AR 61 50 10V = — 4%




1772 10KV = 2k X NN EES A 176 200 10kVHF = 2k
1773 1OV = 2 A3 AR 364 400 LOKVHE= 2k
1774 10KV = 238 — k2 A% 281 315 10V = — 4%
1775 LOKVHF = 2RI —H A 114 100 10kVHE = — 4
1776 10KV = 2R Pehi) LA 160 200 10KV = 4%
1777 10KV = 2k B 3|S5 T L 48 253 315 10kVHF = — 28
1778 10K VHE = 2k /N K8 SR S Jl A AR 41 50 10kVHF = — 28
1779 LOKVHF = — 2 KKV AR 88 100 10KV = — 4
1780 LOKVHF = 2R AR AR 610 630 10k = — 4
1781 LOKVHF = 2R /R A — 1A A 299 315 10KV = — 4
1782 10KV = 2R R /RHfE— a2 A AR 97 100 10kVHF = 28
1783 LOKVHE = 2R R R HE— a1 AR 88 100 LOKVHE= "2k
1784 LOKVHF = —ZRBHYE A & A 550 630 10KV = —4;
1785 1OV —— 2Rk A e A AR 541 630 10V = —%;
1786 10KV = — R B H AT — ALl R ID A AR 161 200 10KV = —%;
1787 LOKVHF = — 2 R M) A 188 200 10kVHE =—2%&
1788 LOKVHF = — 2R /NKIE AR 88 100 10kVHF = —2&
1789 10KV = — R A FL s — W2 648 670 800 10V = —%;
1790 L0kVHE = — R A FLE — i1 648 526 630 10V = —%;
1791 10KV =R =FKELE I EAR 532 630 LOKVHF=—2%k
1792 10KV Ak 5t 28 5= X 346 A 212 500 10kVHE =2k
1793 10KV Ak 5t 28 5 X 2446 4 212 500 10kVHE =28
1794 10KV 528 5 X 1#AH A 212 500 10kVAE 2k
1795 LOK VA VD 2R IA B IR A 18 A AR 41 50 1OKVAT VD 28
1796 10KV b 2216 IR 2 A N AR 43 50 10KV b 2%
1797 10K VAT /R 2% (5 H A 38 8 A5 175 200 10k VAT /R 2k
1798 10K VA R £6 8 H Af o AR 44 50 10kVHI] /R 28
1799 LOKVE /R 2R €0 H A 1#A A 41 50 10K VA /R 28
1800 1OKVA /R 28 4L o7 A48 42 50 10k VA /R 28
1801 1OKVAT] IR 28 JE )ik 288 2 47 50 10K VA /R 2%
1802 LOKVAT/RZRJE [ ik 17 A A 47 50 10KVAT /R 2%
1803 LOKVAI /R 2R AR A T8 A A8 25 30 10kVHI] /R 28
1804 LOK VAT IR ZRARAR AT 48 A AR 41 50 10KVA /R 2%
1805 LOK VAT R 2R AR AR A 3 A AR 43 50 10kVA /R 28
1806 LOKVAT R 2R AR AR A 28 A AR 89 100 10K VA /R 28
1807 LOKVAT IR ZRAR A AT 180 A 41 50 10k VAT /R 2k
1808 LOKVAI /R £ ARk A 61 A8 45 50 10kVHI] /R 28
1809 LOKVAIIAE 2R AN HH T A A 7 52 A AR 41 50 10KV 2R
1810 LOK VAT 2R A $H VS A 2 A AR 320 400 10K VAIHT 2%
1811 LOK VA HT 2R A FH VS AT 48 A AR 40 50 10K VAIHT 2%
1812 LOK VA HT 2R A $H VS A 3 A AR 40 50 10K VAIHT 2%
1813 LOK VA HT 2R A $H VS A 28 A AR 40 50 10K VAIHT 2%
1814 LOKVAIHT Ze APV AT 18 A AR 40 50 10K VAIHT 2%
1815 10KV AMR 2R Ve IR 5 A AR 212 630 10kVAHPY 28
1816 10KVAMR 28 1 5/ 2on & 48 212 400 10KV 28
1817 10kVAMNE 282 5K KB & 48 212 400 10k VA28
1818 10KVAMEZR 2B G4 212 630 10KVAP 28
1819 LOKVAMEZR 7 KIF & 212 400 10KV FE 28
1820 L1OkVANEL E AR RS E & 212 400 10KV AP 28
1821 10KVAN 28 P Bk & 4% 212 400 10KV 28
1822 1OKVAM 2R B Bk 28 65 A8 212 400 10k VAN 28
1823 1OKVAM 2R P /b2 5 A 212 315 10k VAN 28
1824 LOKVAPMEZR H 5ot &5 4% 212 400 10KV FE 28
1825 10K VAR JFE 28 8 B 6 48 212 630 10KV AP 28




1826 LOKVARPU 2R = s 3 28 £ ni s A8 160 200 10k VAU 2%
1827 1OKVARPUZRIE T8 & 38 182 200 10KV AU 28
1828 10KVAMPUZR DU R IA S & A8 183 200 10kVAHPY 28
1829 LOKVAPPUZE VY g ik 28 5 A 212 400 10kVAhPY 28
1830 10KVA fH 4R —H AT 81 100 10KVA ffi 28
1831 LOKVA A ZR IR VA AR 68 80 LOKVA ffi 2k
1832 10KV AR A LA KIS A AR 65 80 10k VA £ 2
1833 LOKVAR LA —H AT 46 50 10KVA ff1 28
1834 LOKVA R A TEIE A 25 30 10KVA ff 28
1835 LOKVA AR L AT 83 100 LOKVA ffi 2%
1836 10KVA 2R EARK —H 1A 41 50 10k VA £ 28
1837 10KVA f 28 R Ao A AR 23 20 10k VA £ 2
1838 LOKVA /1 28 AR A B N AR 82 100 10KVA f 28
1839 10KV AR A ZE KR —HIgAAR 40 50 10KVA ff 28
1840 10KV A A 28 K BHA LA A AR 81 100 10kVA £ 28
1841 10KV A A28 K BHA = dH 14 A2 92 100 10k VA £ 2k
1842 10KV A A 28 K BHA —H AR 88 100 10k VA £ 2
1843 LOKVA A 28 R 1l A4 81 100 10KVA ff1 28
1844 LOKVA A28 KR ZERH 1L A 40 50 10KVA ff 28
1845 10KV A ff 28 K EERf 20 A A5 95 100 10KVA ff 28
1846 LOKVA A 28TV A 26 30 LOKVA ffi 2k
1847 10KVA fA 28 )\ A A —dH A 85 100 10k VA £ 2
1848 10KV A AL\ Mtk AR 71 80 10KVA ffi 28
1849 LOKV A AL\ Ak —H A 49 50 10KVA ff 28
1850 1OKVA A 28 )\ A BUR A2 189 200 10kVA £ 28
1851 10KVA A 28 = 5K FE V) N AR 40 50 LOKVA ffi 2k
1852 LOKV AT 2R HH I H AT 43 50 10kVAH7 2k
1853 LOKVARET LR EHE _HAE 81 100 10KV A #7248
1854 LOKVARET LR HEHE —HAE 81 100 10KVA #7248
1855 10KV HHE —HAT 84 100 LOKVA T2
1856 10KV AT 28 B F N H28 A AR 41 50 10KV A AT 2k
1857 LOKVARHTER B F N HI#A R 41 50 LOKVAHTZE
1858 10KV 2R 5 HF —H AT 90 100 10KV A28
1859 LOKVARET R EHELH A 66 80 10KVA #7248
1860 10KVA 722 B - LA 1#A T 16 20 10KV A28
1861 LOKVARET R EHE —HAT 81 100 LOKVAH 2R
1862 LOKVAHT R A AT VU 2H A AR 85 100 10k VA HT 2k
1863 LOKVARHT R AR = A 43 50 10kV A #7 2k
1864 LOKVARHT R A —H AT 69 80 10KVA #7248
1865 LOKVATZE AR 2 B M IUH AT 93 100 10KV AT 28
1866 LOKVAEZE AR 2 B 5N AR T 65 80 10KV AT 28
1867 LOKVAETZE AR 2 B HEMN —HAE 80 100 10kVAHT 2k
1868 LOKV AT R A £ BUM AR 221 250 10KV AT 28
1869 LOKVARHT R A —H AL 272 315 10KVA #7248
1870 10KVA B £ 31 4 28N A8 94 100 10KV AT 28
1871 LOKVAHTER BE SR AT A AR 87 100 10KV AT 28
1872 10KVA #7286 K Hh A48 82 100 LOKVAH 2R
1873 LOKVA S 28 5 R A — 4l LA AR 98 100 10kVA ;28
1874 10KV A Y 28 E S 28 A AR 83 100 10kVA Y 28
1875 10KV A ZRIA K KA 18 A2 41 50 10kVA Y 2k
1876 10KV A ZRIA RN = HAAR 17 20 10kVA Y 2k
1877 LOKVAYG ZRIA R —2H A 45 50 10kVACY; 2k
1878 LOKVARIT R IAR —H AL 87 100 10KVA Y 28
1879 10KV A Y 2818 JRFL A 71 80 10KV A 28




1880 LOKVAB R E TTIIH A 64 80 LOKV AT 2k
1881 LOKVARBI R E T —HAE 103 100 10kVACY; 2k
1882 LOKVARYG 2R 1 =H A 66 80 10KVA Y 28
1883 10KV A 35 28 32 el DY 2H /3 A 42 50 10KV AT &
1884 10KV A 35 28 32 e XU 23 A% 45 50 LOKVA T 2%
1885 10KV A 5 28 35 [l — 21 1Bl A g A AR 26 30 10kVACH; 2k
1886 10KVA Y 2638 e —H A 165 200 10kVACY; 2k
1887 1OKVAY) 2845 K1l A 70 80 10KV A 28
1888 LOKVAY 2R & i T a4 114 125 10KV AT 28
1889 1OKVAHG ZR 4R & DU A A 68 80 10kVA Y 28
1890 LOKVARI AR G ANH AT 41 50 LOKV AT 2k
1891 10KV Y 2R & A4 41 50 LOKV A2k
1892 LOKVARI MR & LA AT 24 30 10KVA Y 28
1893 LOKVARII MR & —H AL 107 125 10kVA Y 28
1894 10KV ARV £ 4R & = 4 i A A 172 200 1OKVAC S £
1895 LOKVARI AR & LA AT 68 80 LOKV AT 2k
1896 LOKVARBI R G —HAE 177 200 10kVACY; 2
1897 LOKVAYS 2R Ak K 1L A 84 100 10kVA G 28
1898 LOKVA TS 28 Bt KA A 82 100 10kVA Y 28
1899 1OKVA B 28 Bt K L3 i A 28 30 LOKVA T 2%
1900 1OKVA B 28 Bt S L DU T A 82 100 10kVACH; 2k
1901 10KV AR ZR B K L R AR 83 100 10kVACY; 2k
1902 LOKVA Y 28 AR N A 87 100 10KVA Y 28
1903 LOKVA Y ZR AR I Hh 22 A AR L 200 250 10kVA Y 28
1904 10KV il E /N X A% 279 315 1OKVA S £
1905 LOKVA Y &R /N A 91 100 LOKV AT 2k
1906 10KVA TS 280 KIS A AR 82 100 10kVACY; 2k
1907 1OKVAY) Ze il £ FH A 106 100 10KVA Y 28
1908 LOKVAYI IR 2 BT TN —H A 52 50 10KV A 28
1909 10KVA Y Z8HE10 £ SEIRIE /N FINA AR 86 100 10kVACH; 2
1910 10KV ki £ KIFE AL 82 100 LOKV AT 2k
1911 LOKVAYI 2R s —H A 84 100 10kVACY; 2k
1912 LOKVA B 2R s —H A 44 50 10kVA ;28
1913 LOKV ARG 28 1 5 — A MF L AR 84 100 10KV A 28
1914 LOKVAHI R s —H A 82 100 10kVA ;28
1915 LOKVARI &R/ m kAR 68 80 10kVACH; 2k
1916 LOKVAY 28 Kim KA 45 50 10kVACY; 2k
1917 10KV A 28 K EFA AR 134 160 10KV A 28
1918 10KVA Y 28 K ZE AR 44 50 10KV AT 28
1919 10KVA 5 26 K EPAS A AR 84 100 10kVA ;28
1920 1OKVA Y 26 S8 R U A 83 100 LOKV AT 2k
1921 LOKVAY 28 58 —dH A 89 100 10kVACY; 2k
1922 LOKVAHG 28 28 0 — L A A 44 50 10kVA G 28
1923 10KV A Y 28 58y — 2H H ol A AR 81 100 10kVA Y 28
1924 LOKVA Y 2k 52— H AN A 25 30 LOKVA T 2%
1925 10KV A Y 2R AR A A AR 45 50 10kVACH; 2
1926 10KV H JH 28 3B 5 64 42 50 10kV H i 2
1927 10KV H M2 WIE 238540 88 100 10kV H i 2
1928 10KV H M HIE 24640 336 400 10kV H i 2k
1929 10kV A 12k b3 £ 82 5745 345 400 10kV A i &
1930 10KV HMZ RIE 2 H1 64 181 200 10KV A 2k
1931 10KV JH R BR 5 B A A &5 48 363 400 10kV H i 2k
1932 10KV H jh 2 Hi oAk X #1 5 AR 841 1000 10kV H i 2
1933 10kV H JHZR I Ib AT I 548 24 30 10kV H i 2




1934 10KV A i 28 F0 9 b 26 4 A5 258 315 10kV H i 2k
1935 10KV H JHZRIL 5 A #5 & A% 165 200 10kV H i 2
1936 10kV H Mz & N X &4 261 315 10KV A i £k
1937 10kVH A BN 54 258 315 10kV H i 2
1938 10kV H 2k 2 & i 64 567 630 10KV A i 2k
1939 10KV H JH 2R At B8 A =) F5 4 487 400 10kV H i 2
1940 10kV H IR T dioga 648 40 50 10kV H i 2k
1941 10kV H Jh 2R F s fi3g#3 &5 48 40 50 10kV H i 2k
1942 10KV H 2R s fi g2 548 45 50 10kV H i 2
1943 10kV B 2R Fradr a1 &4 41 50 10kV A i 2k
1944 10KV H 45387 26 4B il 46 48 399 400 10kV H @435 £k
1945 10KV H 05387 2k @ A AR 163 200 10kV H @435 £k
1946 10kVH W32k 2 ol A 468 400 10kV H W58 £k
1947 10KV H W8 2k (1 e i A A8 426 400 10kV H W8 £k
1948 10kVH Wi 2 i/ X 548 440 500 10kV H W8 £k
1949 10kV H W37 2 3 oA X #2 5 4% 844 1000 10kV H @435 £k
1950 LOKV H W87 2 3t PR ot &5 4% 52 50 10KV A #3352k
1951 10KV H Wi gk dm R 14 6 48 266 315 10kV H W58 £k
1952 10KV 90538 2k 3l 76 46 A8 383 400 10kV H W8 £k
1953 10KV A @ geakolb /N X &2 264 315 10kV H W8 £k
1954 10KV H @387 26 0% bl $64 406 400 10kV H @435 28
1955 10KV H @438 £ B AL 5 FEA0AR TR 28 303 315 10kV H @435 £k
1956 10KV H 537 26 M8 37 PO 4R A 305 315 10kV H W58 £k
1957 LOKVH Uk AR HE s a4 1021 1250 10kV H W8 £k
1958 10kV H [EZEE A H i 6% 187 200 10kV A [l £
1959 10kV H [ 28 AR B Sp2s & A7 44 50 10kV A il 2k
1960 10kV H & HURBLSF 186 A8 43 50 10kV H Fe 2k
1961 10kV H el 28 #Adi A IR B s 4 161 200 10kV A e £k
1962 10kV H [l £k A 3 548 327 400 10kV A e £k
1963 10KV A [ 28 #hh it ot & 45 325 400 10kV H Fd £
1964 10kVH [ ZR At 14 548 333 400 10kV H b 2
1965 10kV H [l £ A i g4 5 A48 165 200 10kV H Fel 2k
1966 10KV H il 28 8 & b 6 4 133 160 10kV A e £k
1967 10kV H el 28 KAl Rk th 5 4 42 50 10kV A e £k
1968 10kV H Fel ZR 35 B 6 48 17 20 10kV A e £&
1969 10KV A [ 2k )\ CKBE 1 3 548 176 200 10kV A il 2k
1970 10KV H [El 28 ) UKL 28 5 A8 24 30 10kV H Fe 2k
1971 10kV H p £k ) OKB 13548 160 200 10kV H e 28
1972 10KV H H 28 183 4 ) LI & A% 265 315 10kV A £k
1973 10kVA iR 64 322 315 10kV A £k
1974 10OkVAH R EZ T Rtad 475 500 10kV H 2k
1975 10kV H 28 Z BB i 5 s 6 A48 252 315 10kV H 2k
1976 JLOKV H H 2R 21 Ji Bl BH I 55 A P # AR L AR A 658 800 10kV H £k
1977 10KV H H 28 00 %2 ey 46 A8 500 400 10kV A £k
1978 10KV A mp 2835 B BAFE A8 367 315 10kV H Hh 4k
1979 10kVH &R A HE P4 AR 811 630 10kV H 2k
1980 10kVH H 2R H Rl 54 25 30 10kV H 2k
1981 L1OkVH &ty 548 320 400 10kV H £k
1982 | 10KV H A1 3 o0/ 2 4 A8 (] b e FE AR s 4 696 800 10kV A Hi£k
1983 10KV H H 28 E B 1846 2 413 315 10kV H h 4k
1984 PV H rf 28 P e S 28 21 Ji B v 27 56 A0 fic H A8 I 1060 1250 10kV H £k
1985 10KV H 2B L BE 14 & 4 276 315 10KV A 2k
1986 10KV H 2R AT 1HFE A 690 630 10kV H 12k
1987 10kV H 2R MU X 648 664 800 10kV A Hi£k




1988 10kVH 2 A %R 648 464 400 10kV H 2k
1989 10kVH IR B IRAE AR 376 400 10kV H 2k
1990 10kVH N & FRIE 2 769 800 10kVH T~k
1991 10kVH TR E&ske1 548 187 200 10kVH N4k
1992 10kVH N2 T R2eE % 342 400 10kVH T4
1993 10kVH F LR &4 87 100 10kVH Rk
1994 10kV N2 £ it X 5 A8 514 630 10kVH Rk
1995 10kVH FZK) &4 161 200 10kVH N £k
1996 10kVH PR G4 272 315 10kV H F£&
1997 10kVH FERH B /X 648 187 200 10kV H 2k
1998 10kV H F &z il = k4 572 168 200 10kVH R4k
1999 10kV H T2k ih = A3 & 48 168 200 10kVH T2k
2000 10kVH T &z ih =hf2a 548 83 100 10kVH T~k
2001 10kVH T zeih =mf1a 54 331 400 10kVH T~k
2002 10KV H N 2R I o % s A AR 695 800 10kV H F£&
2003 10kV H T 2835 #: R X e A8 1000 1250 10kVH T2k
2004 10kVH TR IR B AR 176 200 10kVH Rk
2005 10kVH FZenflEa2 648 265 315 10kVH T~k
2006 10kV H R85 #EiE s o 548 74 80 10kVH N4k
2007 10kVH F&es 1l 648 350 400 10kV H F£&
2008 10KV H T 2R A5\ & 48 106 100 10kVH Rk
2009 10kV ) F £ — A ig28 648 40 50 10kVH T2k
2010 10kVH T4 Rk p1e64 42 50 10kV H F£&
2011 10K V3BT [ 0 28 DU Al 4 Ly R A AR 1104 1250 10kVLVb £k
2012 LOKVHHZR BB & [X 844 1000 10KV'E BT 2k
2013 10KV s 2R A i & X 288 315 LOKVE Frk
2014 10KV — 2% A5 5 & [X 549 630 10kVE BT 2k
2015 L0KVHT I — R IR 5 & X 1096 1250 10kVE #7 2k
2016 10KV ZRHE B AT T A% 16 20 10kV-2T 2%
2017 10KV RN RS AR 87 100 10kV 321 2%
2018 10KV} 2L 28 i EE A 41 50 10kV-21 2%
2019 LOKV 3} 2T 28 35 4 N AR 40 50 10KV} 42k
2020 1OKV=F 2L 2B Bl 28 A A8 41 50 10kV-2T 2%
2021 10KV} 2L 2RI AR MM TR A8 40 50 10kV-2T 2%
2022 10KV} 2L 2B IR AR Vb B3P T A% 42 50 10kV-21 2%
2023 LOKV 3} 2T 2R I8 AR 43 50 10KV 3} 412k
2024 10KV} 2L 2R MR 438 A A8 43 50 10kV-21 2%
2025 10KV} 21 28 4% 1 A AR 40 50 10kV-27 2%
2026 10KV 3|21 28 4% 5 A AR 40 50 10kV-2T 2%
2027 10KV} 2128l 1 A48 322 400 10kV 341 2%
2028 10KV} 4028 K4 A 40 50 10KV 3} 412k
2029 10KV LR AR A A B AR 25 30 10kV-21 2%
2030 10KV ZLZR AR A T8 AR 40 50 10kV-2T 2%
2031 10KV} 21 2R 4K 108 A 84 100 10KV 3|42k
2032 10KV AE 2830 e fl —H A AR 45 50 10KV 3| 28
2033 10KV} A5 28 HE Ath A A8 40 50 10KV |- H 28
2034 10KV} AR 28 $ha A AR 41 50 10k V- #i5 2k
2035 10KV} 2R e S LA AR 43 50 10KV} fib 2k
2036 10KV AR 2R AT R & AR 85 100 10KV 3| 28
2037 10KV F AR 28 H kAR 42 50 10k V- fi5 2k
2038 10KV F S 28 i 1 A8 41 50 10k V- #i5 2k
2039 10KV |4 28 RAR Vb hi il A 41 50 10k V- #5 2k
2040 10KV} 4% 28 KA Mk i - A 26 30 10KV 3| 28
2041 10KV RS 2R KA Mk R R A 40 50 10KV 3| 28




2042 10KV A 2R KA Tk —HH A 46 50 10KV 3| 28
2043 LOKV S| AR 2R R A T AT 8 A AR 337 400 10KV} fib 2k
2044 10KV i 2R R AR Vb 68 A AR 161 200 10KV 3| 28
2045 LOKV S| AR 25 18 i #f 28 A AR 84 100 10KV 3| H 28
2046 10KV S| AR 281 i #1844 207 200 10k V- #5 2k
2047 INEREETIE S YNE'S 83 100 10KV 3| 28
2048 LOKV=F A& 2R K S 2t A 43 50 10KV 3| 28
2049 10KV AR 2R AR SF 1# A A 80 100 10KV 3| # 28
2050 10KV |- #2541 58 8 A AR 45 50 10KV |- # 28
2051 10KV AE 284~ 22 N AR 41 50 10KV 3| 28
2052 10KV AR 2R L R BE N 45 50 10KV |- H 28
2053 10KV F AR 2R 110 = A48 49 50 10KV 3| 28
2054 10KV AR 2R — MM DU R E AR 44 50 10KV 3| 28
2055 10KV RS 2R L R E AR 47 50 10KV |- # 28
2056 10KV} HE 2% = R FE N AR 40 50 10k V- #5 2k
2057 10KV B 28 55 47 A 8 A AR 40 50 10kV$i7 B 2k
2058 10KV BR8N 7o A AR 40 50 10kV$i7 B 2k
2059 10KV BF 28 9t A 6 A AR 81 100 10kVH7 BE 28
2060 10KV iz B 28 3 1 A 5 A AR 81 100 10kVHi7 BE 28
2061 LOKVH7 BE 2R T8 A 3 A 28 87 100 10kVHi R 2k
2062 10k VH7 BR 2R 95 i R 2 5 A AR 83 100 LOKVHi BE 2k
2063 10KV AR 2R o A A 1 A A8 80 100 10kVHi7 B 2k
2064 10K VHL BR 28 96y 4 A AR 80 100 10k V7 B 28
2065 10KV BB 2845 1 AT #2 6 A8 81 100 10k V7 B 28
2066 10k V7 B 26 AT & 28 163 200 10k Vi Bf 2k
2067 10K VH7 B 28 AT 1 A 64 20 A8 80 100 10kV$i7 BE 2k
2068 10KV B 28 AT 17 A 58 0 A8 80 100 1OKVHi BE 2k
2069 10K VH B ZR AT 3 AT 48 A A 80 100 10k V4 B 28
2070 1OKVHE B ZR AT 3 A 38 A 80 100 10k V7 B 28
2071 10kVH7 BR 2Rk IR AT H9 A AR 46 50 10k V7 BF 2k
2072 10kVH7 BR 2R SR A48 A AR 41 50 10kV$i7 B 2k
2073 10kVH7 BR 2R R R HT AR 41 50 10k V7 B 2k
2074 10kVHE BR 2R SRR Rk 6 AR 40 50 10kVHi7 BE 28
2075 10kVH7 BR 2R IR k5 A AR 41 50 10k V7 BF 2k
2076 10kVH7 BR 2R IR k4 A AR 40 50 10k V7 BF 2k
2077 10kVH7 BR 2R R A #3 AR 40 50 10kV$i7 B 2k
2078 10kVH7 BR £k R Rk #2 A AR 80 100 10kVHi7 B 2k
2079 10kVHE BR 2R SRR Rh#1 AR 42 50 10kVHi7 BE 28
2080 10KV BFZE IR M #1004 40 50 10kVH7 BE 28
2081 LOKVH7 BE 28 AR BAfT 68 25 41 50 10kVH7 B2k
2082 10K VH7 B 26 A A 5 A AR 40 50 10kV$i7 B 2k
2083 10K VHL BR 2R A B AT 4 A A8 41 50 10k VHi7 B 2k
2084 ORI DAI5 % NEEY N RENGS 45 50 10kVHi7 BE 28
2085 10K V7 BE 28 A B A 28 A A 80 100 10kVHi7 BE 28
2086 LOKVH7 BE 2R AR BART 18 A2 81 100 10kVH7 BF £k
2087 10KV B 28 BB AT E2 B = A AR 43 50 10k V7 BE 2k
2088 10k V7 B 2% B B A+ 9# 8 A 80 100 10kVHi7 BE 2k
2089 10KV BB 28 B HE A 8% A AR 81 100 10kVHi7 BR 28
2090 10k V7 B 28 B BE A 78 AR 80 100 10kVHi7 BE 28
2091 LOKVH7 BE 28 L BE AT 488 25 80 100 10kVH7 Bk
2092 10KV B 2% B B A+ 38 8 A 86 100 10kV$i7 B 2k
2093 10k V7 B 2% BB A+ 28 8 A 84 100 10kV$i7 BE 2k
2094 10kVH7 B 2R & 5L H s AT #5 A4 40 50 10kVHi7 BE 28
2095 10kVHi BR 2R 5 B H s AT g4 A4 41 50 10kVHi7 BE 28




2096 10kVH7 R 2R & B H KA #2 A28 41 50 10kV$i7 B 2k
2097 10kVH7BR 2R 5 B H s AT #1 A 40 50 10kVHi BE 2k
2098 10K VH B 2% o SR #9 A A8 131 100 10kVH7 BE 28
2099 10K VH B 28 H AT #8 A AR 83 100 10kVHi7 BE 28
2100 LOKVH7 BE 28 ip AT #e A 25 80 100 10kVHi Bf 2k
2101 10K VH7 B 28 i #5 4 A8 58 50 10kV$i7 B 2k
2102 10k VH7 B 28 H #iui 4 A A8 114 100 10kVHi7 B 2k
2103 10K VH B 28 H ST #3 A A8 192 200 10kVHi7 BE 28
2104 10KVHL BR 2R H b #1 548 50 50 10kVHi7 BE 28
2105 10k V7 BEZR H #upf#16 /A AR 25 30 10k Vi Bf 2k
2106 10KV BF 28 #uk #1154 48 80 100 10KV B 25
2107 10kVHr B 28 #ubf#14 A AR 41 50 10k Vi Bf 2k
2108 10k VA7 BE 28 #A k#1348 40 50 10kVHi7 BE 28
2109 10KV BE 28 #uk 12448 80 100 10kVHi7 BE 28
2110 10kVHr BEZR HH #obf#1 1A AR 81 100 10kVHi R 2k
2111 LOKVRIBRZR — KA AR 86 100 10kV$i7 B 2k
2112 10k Vi BR £ #1 AL AR 160 200 LOkVHi BE 2k
2113 10kVEFH LR B3 A 65 80 10KV & A 28
2114 LOkVEFH R EA 1A 42 50 10KV & A 28
2115 10kVEFP R B2 AT 98 100 10KV & A 28
2116 10KV E ML s A 170 200 10kV & 2k
2117 10KV EM LR B4 A 203 250 10kV & 2k
2118 10KV EFZE A & 2 BUF A4 111 100 10KV & A 28
2119 10KV EFHZRIIA 2 O A 93 100 10KV & A 28
2120 LOKVEMP LA 1125 A 83 100 10KV & A 28
2121 LOKVERZE 1L 15 A 88 100 10kV & 2k
2122 LOKVE 2R A VL IH 3 A 44 50 10kV & 2k
2123 LOKVE LR A VT IH 28 A AR 31 30 10KV & A 28
2124 10KV E AR 28 47 VTN 15 A AR 81 100 10KV & A 28
2125 10kVEFIZR PP AR R AR 27 30 10KV & A 28
2126 LOkVEMLL I AR 85 100 10kV & 2k
2127 10KV ML VP A 1L 28 A 168 200 10kV & 2k
2128 10KV E 2R AP T S A AR 84 100 10KV & A 28
2129 10kVEFHLR (PP SFJdi2a A AR 47 50 10KV & A 28
2130 10KV EFZE PP F 1A AR 160 200 10kV & 4 2k
2131 LOkVER LD A ZAE AT 84 100 10kV & 2k
2132 LOKVEM LI T A 42 50 10kV & 2k
2133 LOKVEM L T —H A 177 200 10KV & A 28
2134 10kVEM L IURE AR 42 50 10KV & A 28
2135 10kVEMLIURE AR 95 100 10kV & 2k
2136 10kVEMZEIR /R 55 AR 42 50 10k V& #p 2k
2137 10kVEMZEIR /R 45 AR 84 100 10KV E 1 25
2138 10kVEFF IR 1A 84 100 10KV & A 28
2139 10k V2R M o A A 29 30 10KV & A 28
2140 10KV ERZE K 145 A48 41 50 10KV & A 28
2141 LOKVAEFP LR I 135 A4 44 50 10kVE P2k
2142 10KV EAH £ K 25 A A7 48 50 10KV E 1 25
2143 LOKVEMZE KU O 15 A 56 50 10KV & A 28
2144 10KV FTZR T D58 A 87 100 10kV & 128
2145 10KkVE L 2R T 48 A4 41 50 10kV & 14k
2146 10kVE DR O3t A4 43 50 10kV& D2k
2147 10kVE LT D2t A4 48 50 10kV& 2k
2148 LOKVAE CTZR T D 1A 84 100 10kV & 128
2149 10kVAE D28 A KA A 26 30 10kV & 128




2150 10kVE DR AR B AR 60 75 10kV & 2%
2151 10KVE TR AL A IE ) = A 96 100 10kV & 128
2152 10kVE DL 28 A 127 100 10kV & 128
2153 10kVE DS 1A 90 100 10kV & 128
2154 10KV [T KPR & p AR 24 30 10kV & 128
2155 10KV T4 K7 i b A 62 75 10kV & 128
2156 10kVE (T4 K PG A 48 A 173 200 10kV & 128
2157 10KV/0o FEZRE 5303 5 48 212 400 10kV Ly 25
2158 LOKV.0r 2R tH 201 i 5 212 630 10kV Ly 25
2159 10KV 3k 25 v 28 1 DY 2 A 45 50 10KV Ik 22
2160 10KVl Ik 28 5 28 1 AL AR 44 50 10KV {35 28
2161 10K VAR 28 Z 1 A AR 263 315 10Kk VA g 28
2162 10K VA3 £ 5 /R JE F AR 41 50 10k VLI 28
2163 10K VA £ 3R 2 B AR 41 50 10k VLI 28
2164 10KV A3 28 3R JE — 2 A8 41 50 10KV Ik 22
2165 10KV IR 2L 3R & — 2L AR 44 50 10Kk VA b 28
2166 10k VAR 2R M A A8 86 100 10Kk VA Ik 28
2167 10K VA Ik 28 5= 0 11 A A% 168 200 10k VLI 28
2168 10KV bk 2k S2 4 = DUZH A AR 53 50 10k VLI 28
2169 10KV 45 28 K 1A 38 162 200 10KV {35 28
2170 10K VAR 2B B 5 A AR 85 100 10Kk VA b 28
2171 10K VA= IR 28 K5 T A% 163 200 10KV {35 28
2172 LOKVAEIR 2R 11 LA AR 48 50 10k VLI 28
2173 10KV IR £k AL e A AR 43 50 10KV BRI 28
2174 R EINEES  YAe's 87 100 10KV FE A 28
2175 10KV eI R 1 2 b AR 28 A8 44 50 10kV HE A 28
2176 10KV SR VR 202 ] K 37 =2 28 bk H- 28 A A 1 88 100 10KV FE A 28
2177 10KV 5] 28 il K 3 52 28 B K 3 AT A AR 83 100 10KV BRI 28
2178 10KV R IR ZE i K 3 S 26 4 IR AL 81 100 10KV BRI 28
2179 10KV S VI 28 B A 38 = 28 R 35 e A AR 1 83 100 10KV I 28
2180 | 10KV FE TR £ B K35 37 28 R £ BURF A AR 1 172 200 10KV 5 £&
2181 10KV R VI 22 i) K 35 52 28 i i A 3% 41 50 10KV FE A 28
2182 10KV SR VR 2 il K 3 = 2R me e 38 A 43 50 10KV BRI 28
2183 10KV SR VR 2 ] K 37 =2 2k e W 28 A AR 1 81 100 10KV BRI 28
2184 10KV R V[ 42 ] 2K 35 =2 2 ) o 28 A A 49 50 10KV HE A 28
2185 10KV BRI 28 B /R 28 AR 41 50 10KV I 28
2186 LOKVEIR R IE R 2 A 41 50 10KV FE A 28
2187 10KV FE IR 2818 B =7 280K JBE J& 4l <5 A AR 172 200 10KV BRI 28
2188 10KV BRI 28 5 BE A AR 46 50 10KV BRI 28
2189 10KV RS T AR 46 50 10KV I 28
2190 10KV DRI SE A 43 50 10KV I 28
2191 10KV ZR £ AT A AR 83 100 10KV FE A 28
2192 LOKVEER A A ZE N AR 41 50 10KV BRI 28
2193 LOKVEEIR IR Z e AR 47 50 10KV BRI 28
2194 10KV ZR SR £ FEN2 A A 42 50 10kV 521l 28
2195 10KV IR 26 A a5 A 1 R IR AR 41 50 10kV HE A 28
2196 10kV il 28 A i AT # i ZE AR 86 100 10KV FE A 28
2197 10KV £6 AR 3 H A 84 100 10kV FEil 28
2198 10KV IR 2R 1 e ZE A AR 43 50 10KV BRI 28
2199 10KV R I FZ TN 42 50 10KV BRI 28
2200 10KV S 2 b5 5 e A% 41 50 10kV HE A 28
2201 10KV I £ 4% 1 g8 A AR 42 50 10KV FE A 28
2202 10KV FE A 2R A A A AR 43 50 10KV BRI 28
2203 10KV A R AR 41 50 10KV BRI 28




2204 LOKV IR R A e AR 49 50 10k V g i 2k
2205 LKV LI AR 162 200 10k V g i 2k
2206 10KV I 28 B 2 N AR 44 50 10KV HEA 28
2207 10kV 2l 28 A A AR 41 50 10kV FE A 28
2208 10KV Z6 S2 RBUR A 45 50 10KV I 2k
2209 10KV ZR 2R 2 H/RERAT 42 50 10KV B 2k
2210 10KV SR 2 L RERAE 41 50 10k V I 2k
2211 10V LS /R 2 el ZE N 41 50 10KV HEA 28
2212 10kVEEZR SR 2 B AR 44 50 10kV FEF 28
2213 10kVEEZR /R E I Z /AR 41 50 10KV I 28
2214 10V ZR 52 R 2 PG TE N 41 50 10k V g i 2k
2215 10KV SR 2 FREAE 41 50 10k V I 2k
2216 10KV BRI 28 JE 3 28 A A8 42 50 10KV HEF 28
2217 10KV IR 28 2 R R A 41 50 10kV FEF 28
2218 NIRCREEEZIE YA 41 50 10KV I 28
2219 10KV I 28 1 B A AR 42 50 LOKV B 2k
2220 10KV FE 2R )5 B LA 82 100 10k V I 2k
2221 10KV FE A 28 5 16 45 Bo] 74 BE JE A AR 41 50 10KV HEA 28
2222 10KV BRI 28 75 8 A 5 5 ZE A 82 100 10kV B A 28
2223 10KV BRI 28 35 8 A & A e AR 42 50 10kV i 2k
2224 10KV LR ALK AR 46 50 10k V 5 I 2k
2225 UNYE R EEEARAE PNE'S 43 50 10k V I 2k
2226 10KV B 261% 51 A N A 42 50 10KV HEF 28
2227 N REERRIER 4-F Y 'S 42 50 10kV B A 28
2228 10KV B 2615 51 2 I8 EE A A AR 44 50 10KV B 2k
2229 10KV B 2615 51 £ BUR AR 191 200 10k V 5 2k
2230 10KVERIHZR %51 £ RAL K SEBE A AR 42 50 10k V I 2k
2231 LOKVERIHZR 5 2 LI M RS AR 44 50 10KV HEF 28
2232 10kVEEZ % 2 FRERAE 42 50 10kV FEF 28
2233 10KV I 28 )\ 35 3l B /A A 43 50 10KV 3l £k
2234 NIRRT VAR 42 50 LOKV B 2k
2235 10KV BRI 28 T ft30 A48 47 50 10k V g i 2k
2236 10KV BRI 28 b L3 A8 45 50 10KV HEA 28
2237 L0V #UR £ RN 19 20 10kV B A 28
2238 10KV L ik B 648 82 100 10kVEEE 4
2239 10KVEEEEZE IR ZE AR 43 50 10KV B EE 2k
2240 10KVEEEELR I 2 e R 64 81 100 10kV g HE 28
2241 10kVHEEE LR I 2 MR EAR 42 50 10KV 5 HE 28
2242 1O0KVEEEEZE i £ B E RN 42 50 10KV B EE 28
2243 10KV EEEELE 5 £ oF R ZE N A 43 50 10kV 5 EE 2
2244 10KVHEEELR HE 2 EE R ZE AR 46 50 10KV B EE 2k
2245 10KVEEEEZE 1 2 BURF AR 190 200 10kVJFEHE 28
2246 10KVEEEELR HE 2 P AR 44 50 10KV 5 HE 28
2247 10KVEEEEZE e & B g8 N AR 84 100 10KV B EE 28
2248 10KV BE EE 2 I 2 BY IR ZENQ A AR 66 80 10kV 5 EE 2
2249 10KVEREEZE I £ 55 R ENT A AR 41 50 10KV EE 2k
2250 10KV LR I & 4T A 42 50 10k Vg HE 2
2251 10KV EE2R (1 2 B ZE N A 170 200 10KV 5 HE 28
2252 1OKVEEEEZE i 2 B B AR 42 50 10KV B EE 28
2253 LOKVE LR L L iEH2 AN A 84 100 10kVJE Nk
2254 LOKVJELL TR —HAE 344 400 LOKVER4h 2k
2255 10KV ZR Y e AT = a2 A 62 75 10kVJE 42k
2256 LOKVJEGNZR G e —dHE1 A 43 50 10KV YN LR
2257 10KV LR e — B3 A 41 50 10kVJEYHZE




2258 LOKVJRANZR 2L B M A 108 100 LOKVEgh 2k
2259 10k Vi A £ BT Jis — 418 A AR 198 200 10k Vi At 2k
2260 10KV A 2 A6 52 Bt T A8 340 400 10kVJEC A 28
2261 10KV A £k vk B A8 187 200 10KV A2k
2262 10K VJEE A 28 1 & 1R 8 A 528 630 10KV JEC A 28
2263 10KV i 25 28 i i DY ZH VT LA A 85 100 10k V)i £ 2k
2264 10K ViR £ 28 i) i F2H A A 41 50 10k V)i £ 2k
2265 10KV £ 2R G IR A AR 95 100 10k Vi A 2k
2266 10kVJE BT 2L 38R — HH#2 AT 183 200 10KV A 28
2267 10KV B ZRSER — A —H AT 185 200 10KV i A 28
2268 10KV £ 2k A b ol AT A AR 40 50 10k V)i A 2k
2269 10kVE AL AN —HR K FEDR 44 50 10k Vi £ 2k
2270 10KV A 2R LB — BA A AR 97 100 10k Vi A 2k
2271 L10KVE A ZR B IL LA E AR 91 100 10k Vi A 2k
2272 LOKVJE AR 2R B & —2H N AR 81 100 10kVJE A 2k
2273 10K VJER AR 2R [ i = ZH28 A AR 81 100 LOKVER A 2k
2274 LOKVJEE AR LR P i —4H - I8 1#A AR 360 400 LOKVER A 2k
2275 10KV EL A7k 28 )6k Jil 28 A A8 82 100 10kV E 3k 2k
2276 10KV E=L Ak 28 B 7 5 2 Ff 3 (2 ZE AN AR 42 50 10KV L4 2%
2277 10kV ELARR 2B K] P £ [l 34 JE A AR 45 50 10kV E2 (% 2k
2278 10kVEEARZR R P 5 £ G Pe A% 42 50 10kV E2 (% 2k
2279 10kV AR ZR B 7 5 2 BURN2 A AR 43 50 10KV 2k
2280 10KV EL Ak 28 Bl 75 £ 2 BURINT A AR 45 50 10kV E 3k 2k
2281 10kVEEARZEFT P 2 LA R A 84 100 10KV EL 48 2%
2282 10kVEEARZEFT PEH £ JE PESFRE A8 168 200 10kV E 3k 2k
2283 10kV AR ZR R P 5 2 37 LA e A AR 50 50 10KV 2k
2284 10kV AR ZR R P 5 2 3 S B X A AR 16 20 10kV E2 (% 2k
2285 | 10kVELARZRRIVEE 2 FEAE R TEAD 42 50 10kV E 3k 2k
2286 10kV AR ZR R P 5 2 I JR AN AR 85 100 10kV E2 (% 2k
2287 10kVEEARZRRT PEH £ & ESFRi A 47 50 10KV EL 48 2%
2288 10kV AR ZB B P 5 2 s AIN3 A 44 50 10kV E2 (% 2k
2289 10kV AR ZR B P 5 2 sk SF Be A 85 100 10KV 2k
2290 10KV E=LAFk 28 i 4 28 A A8 82 100 10kV R 2k
2291 10KV AR 2R K 22 8 AR 43 50 10kV E 3k 2k
2292 10KV E A 28 X 4> 78 AN A 83 100 10kV 45 26
2293 10KV ES 4 28 1 i 2 N AR 43 50 10kV E2 (% 2k
2294 10KV EL AR 28 75 ik 28 A AR 162 200 10kV E2 (% 2k
2295 10KV EL AR 28 1 N2 A A 41 50 10kV R 2k
2296 10KV AR 28 N1 A A 83 100 10kV E2 (% 2k
2297 10kV LR R E EMRZEN2 A AR 41 50 10kV E k26
2298 10KV AR 28 “F AR 25 A 41 50 10KV 2k
2299 10kVELRER D e AR 83 100 10kV E2 (% 2k
2300 10KV E2 4 28 gl #h 28 N AR 42 50 10kV 3k 2k
2301 10kV ELAR 2R A e JE EENS A AR 44 50 10kV LA 26
2302 10KV LA 28 F B e EEN2 A AR 86 100 10kV E 3k 2k
2303 10KV ELAR 28 F Fa 28 AR 86 100 10KV 2k
2304 10KV AR 2R 7 FEAIN2 2 A 44 50 10kV E2 (% 2k
2305 10KV LR 2R FF RN A AR 162 200 10kV E 3k 2k
2306 10KV ELRER BN A AR 52 50 10kV E 3k 2k
2307 10KV AR 2RV B AR 43 50 10kV E 3k 2k
2308 10kVERZR SR & 2 AR AR 93 100 10KV 2k
2309 10kV LR SR £ K ZEAAR 40 50 10kV E2 (% 2k
2310 10kVELRZR SR & 2 HHH AR 41 50 10kV E 3k 2k
2311 10kVEREE MR A B AL 43 50 10kV 48 26




2312 10kVELRER BE B I8 A AR 44 50 10KV 2k
2313 10KV AR 20 fE 2 8 N 42 50 10kV E2 (% 2k
2314 10KV E=L k28 B 7 ALl N AR 84 100 10kV R 2k
2315 10kV LR 2R L7 £ BURF A AR 354 315 10KV EL 4 2%
2316 10kVEMRERJUR REAT 41 50 10kV E2 % 2k
2317 10kVERER R REENLAAR 27 30 10kV 2 3k 2k
2318 10kV ELARZR 3 AT R ZE A 326 400 10kV E2 (% 2k
2319 10KV EL AR 2R R HIUK i A A 41 50 10kV L4 26
2320 10kVELRER B 4EN2 A AR 46 50 10kV E2 (% 2k
2321 L1OKVEEARZE B ENT A ZR 161 200 10KV 2k
2322 10kVELARER MG FE AR A AR 81 100 10KV 2k
2323 10KVELMR 2R 35 28 TN 43 50 10kV E2 (% 2k
2324 10kV {2k b3 28 b gg A\ AR 43 50 10kV 3k 2k
2325 10kV {28 b B PG A A AR 162 200 10KV L4 2%
2326 10KV EL N 2R X0 & J8 S 2R I FE AN AR 84 100 10kVE R4k
2327 10KV T 26 XB % 28 A3 46 50 10kVEL R 2k
2328 PkVEL R £ % B 38 5 48 B g 38 ) AR A I FE AN 41 50 10KV 28
2329 10kVEL R 2R 5= HLIESZ 4R D AR 44 50 10kV T 25
2330 10kVEL 2R3 HIE S 2Rl R A 41 50 10kVE R £;
2331 10kVEL R 2B 5% B IR LRI ZE AR 43 50 10kVEL R4k
2332 10KV EL T 2B 5% B 28 AR 44 50 10kVEL R 2k
2333 10KV T 2874 B35 A4 41 50 10KV £;
2334 10KV EL T 284 ZE & A 44 50 10kV T 25
2335 L10kVEL FER Tl AR 86 100 10kVEL R 2k
2336 10kVEL R 2Rk & 2 M AT 178 200 10kVEL R4k
2337 10kVEE FZBKR# 2 TR TEAR 93 100 10kVE T £;
2338 10kVEL R 2R IBUR 32 265K 75 2 BUR A AR 177 200 10kV [ T 25
2339 10KV L 2RI M A S22 5K 5 SN2 A AR 168 200 10kV T 25
2340 10kV LT 2RI M A S 28 oK 3 SENL A AR 262 315 10kVE R £;
2341 10KV R 43 M e f A A 180 200 10kVE F 28
2342 LOKV) 13— 2% S A A A 269 200 10KV )13 — 2k
2343 1OV I3 e AW S B S R A A AR 168 200 10KV 113, — 2k
2344 LOKV) 13 — 2K S 2 R IA s it A AR 733 800 10KV 113 — 2k
2345 10KV )13k — 2R /K 7 7 28 41 2 B A AR 260 250 10KV 113k — 2k
2346 LOKV )38 = 2K 7 32 26 21 K FH AR 640 800 10KV 1|38k — 2%
2347 10KV 13k — Ze MR A SC R MRS A A8 88 100 10KV 1138 — &
2348 | 10KV 3k — ZR MR I AN S 28 bR S Be A AR 84 100 10KV 1131 — 2k
2349 | 10KV bRl 32 48 — A 1T AR 703 630 10KV 113 — 2k
2350 10KV 13— 28 JE T A48 216 200 10KV )13 — 2k
2351 LOKV )38k — 2 \ -7 2R F T LTE AT 42 50 10KV )13k — 4%
2352 10KV 1130 28 )\ 134 L 2R B LA A AR 105 125 10KV )13 — 2k
2353 10KV 130 28 )\ 134 L 28 )\ 1 A A8 94 100 10KV 113 — 2k
2354 10KV ) 13 — 24 110 A AR 196 200 10KV 113, — 2k
2355 LOKVI R AR TR A T AR 213 200 10KV )13 — 2k
2356 | 10KV )11 35k — 28 WRAK &) 57 28 R AK A 288 A 89 100 10KV )13k — 2%
2357 | 10KV — 2R BRAK A SLER R AT 1A 96 100 10KV 113 —%k
2358 | 10kV) 13— 2R K VA A 32 28 Ky s DY 2 8 A 162 200 10KV 113 —%k
2359 | 10kV) 13— 2R KA 2R Ky k) — 1A AR 161 200 10KV 113 —2k
2360 | 10kV)I3— 2R KA A 28 Kk = 20 A4 162 200 10KV 113 —%k
2361 | 10kV) 13— 2R KA A 28 Kk — 21 A A 164 200 10KV )13k — 2%
2362 V13— 28 Ky k) Sz 28 1l B2 oy S 2811 BB R & X 101 100 10KV )13k — 2%
2363 V)13 — 2R Ky Skl oy SR I A — 4 151 160 10KV )13k — 2%
2364 V) 13— £ K AT S 2kl B4y S 2k 1L BB 2 SR e 44 50 10KV )1 38k — 28
2365 KV — 2R K VAR S22k FBE oy 28 R EALA 236 250 10KV 113 —%k




2366 | 10kV/IIR—ZR KGR 28 LR R A 280 250 10KV )13 —%k
2367 LOKV) 13— 2R A KA 2 A 337 400 10KV 113 —2k
2368 10KV 13— LKAl A A A 88 100 10KV 113 —%k
2369 | 10KV I3k —2& 11 B 28 1L B2 2 BURFA AR 168 200 10KV 113 —%k
2370 LOKV) 13— 28 Je il i A~ A% 81 100 LOKV 13— 2%
2371 LOKV) 13— LR ALK S A A 339 400 10KV 113 —%k
2372 10KV 1130 — 2R JE W A LR FEM 28N A 517 630 10KV 13— 2%
2373 LOKV) 13— ZR FEMM A LR FEM 18 AR 338 400 10KV 113 —%k
2374 LOKV) 13— R % & AT A A 728 800 10KV 113 —%k
2375 LOKV 1Ly 28 5 L 2H BB £ 2 82 100 10KV il 2%
2376 10KV L 2R S i 2 0 & A8 82 100 10kV 1L 7 26
2377 10kVIL 2R D1l 4] a4 42 50 10KV 1L 7 2%
2378 10KV L1 7 2RV VR N 4l & 48 42 50 10KV 1117 2%
2379 10KV 1L 7 2R T R T U 4 & 48 162 200 10KV 1L 7 2%
2380 10KV Ly 2R TR 1 5 4 80 100 10kV 11§/ 2k
2381 10KV LR TR /DA 212 315 10KV 1L 3 2%
2382 10kVIL T ZR R ot 6 A2 128 160 10KV 1L 75 2%
2383 10KV L FZR il s 578 83 100 10KV 1117 &
2384 10KV LI 2R VR H BT A8 0 A8 R 2% 157 160 10KV 1L 7 2%
2385 10KVILITHEZR D M2t 540 197 200 10kV 1§ 2k
2386 LOKVIITEZR Y &M 1864 192 200 10KV 1L 7 2%
2387 10kVILFFZR /DA FAH G648 212 400 10KV 1117 2%
2388 10KV Ll 28/ se by H 4 & A7 212 400 10KV 1L 7 2%
2389 10kVILTHZRE AL 40 50 10KV 1L 7 2%
2390 10kVIL 2R KR4 64 82 100 10kV 1L 28
2391 10k VI 2R KRt 5 48 163 200 10KV 1L 7 2%
2392 10kVIL i ZR KRt 648 161 200 10kV 11 3/ 2k
2393 10KV I 2R Kyl iR1# 54 88 100 10KV 1L 7 2%
2394 10KV 1L Ff 4R R e 5 48 41 50 10KV 1L 7 2%
2395 10KV 11 5/ 28 KU i & 745 178 200 10kV 1L 28
2396 10KV T ZR RV AT R 648 81 100 10kV 1L 7 26
2397 10kVIL £k r AT LA 648 82 100 10KV 1L 7 2%
2398 LOkVILTF A R A e & 212 250 10KV 1117 &
2399 10kVIL TR \ K G 76 80 10KV 1L 7 2%
2400 10KV Ly ZRARIR A 28t 5 A 84 100 10kV 11§ 2k
2401 10KV T ZRAREN 11 548 162 200 10KV 1L 7 2%
2402 10KV Ll i 28 H 22 40 A8 5 0 T o 212 630 10KV 1117 2%
2403 10kV 172185 648 212 400 10KV 1 78 £&
2404 10KV REPERRIT 548 82 100 10kV 11 £
2405 10KV 1L 28 B3 T AE e 46 A8 5 A8 T 2% 174 200 10kV 1L R 28
2406 10kViL R 2R & R H 648 47 50 10kV 11 £&
2407 10kViL R 2R & FH 648 74 80 10kV 11 £
2408 10kVIL REMLE &4 42 50 10kV 11 £&
2409 10kVIL REA RSB 212 250 10kV 11 £
2410 10kVIL-RZR 13t 54 163 200 10kViL R4k
2411 10kVIL-RZR 24 54 171 200 10kVil 2k
2412 L10kVIL-RZRE I 1#E 86 100 10kVil &2k
2413 10KV LR 286 i & A8 86 100 10kV 11 £;
2414 10KV/SOR 28 Wridf S S 2R i i R o &5 AR 131 160 10kV/RKZR
2415 10KVEURZR Wrid RS2k i R g s 48 41 50 10KV K ZR
2416 LOKV/SINZE L I & A8 84 100 10kV/S 312k
2417 10KV HIZR R k3t &5 48 40 50 10kV/Z 2k
2418 LOKVR LR R kot 548 166 200 10k VS 2
2419 LOKVRHIZR R kg5 A48 43 50 10k VI 2k




2420 LOKV/R LR K Bos & 48 42 50 10kV/S 12k
2421 LOKV/R IR KB 14 548 43 50 LOKV R HlZk
2422 10KV A% HE 28 BT B R 5t 5 A8 41 50 10kV /R B 2%
2423 10KV A% R 2R BT Wi 3 At 78 5 AR 42 50 10kV /3 EE 2%
2424 10KV /% BR 2R i) i FO ) 6 65 A8 44 50 10kV A2 Bl 28
2425 10KV % B 2R i) 4 35 +f 5 65 48 51 50 10KV 2 Bl 28
2426 10KV A% BF 2R BT 30 At 4 & AR 44 50 10kV A% R 2k
2427 10KV 2% BE 2R BT i 30 A 38 5 AR 43 50 10kV/R B £%
2428 10KV 2 B 2R BT i 30 A 18 5 AR 72 80 10kV /3 ER 2%
2429 10KV BRZR EE AR IA K 20 5 A8 51 50 10kV A% BE 2k
2430 10KV R 2R R IE AT 18 5 AR 41 50 10kV A% BE 2k
2431 10KV /R BR 28 E AIAHE Bt & 4% 80 100 10KVZ2 BR 2k
2432 10KV/RBRZE HARIA £ BUN 1# 548 147 160 10KV EE 2%
2433 10KVIRBRZR FHFi AT 4 548 42 50 10kV /3 ER 2%
2434 10KVIRBRZR R AT 3 5 48 41 50 10KV BR 2k
2435 10KV BRZR R R ff 2t 5 A8 43 50 10kV A% R 2k
2436 10KVIRBRZR R Fip 1 5 48 44 50 10kV A% BE 2k
2437 10KV A% B 28 FH 47 S5 i 5 4 48 50 10kV /R B 2%
2438 10KV HR 2R #% 43 5 A 50 50 10kV /3 B £%
2439 LOKVIRBEZR T ¥E ZE2t 6% 91 100 10kVZZBR 2k
2440 LOKV/RBRZR T A E 154 48 50 10kV A% R 2k
2441 10kVIR BB R & A4t 5 48 42 50 10kV A% R 2k
2442 10KV A% HE 283 &8 A 3t 5 A8 45 50 10kV /R B 2%
2443 10KV A% HE 283 &8 A 28 5 A 41 50 10kV /3 ER 2%
2444 10kV/R BRI B AT 1 54 42 50 10kV/ZBR 2k
2445 10kVIR BB LR MR HESFA 5 A8 42 50 10kV A% R 2k
2446 10kVIR BB LR M FESF2t 5 A8 41 50 10kV A% BE 2k
2447 10KVIR BRZRFRFESF LE A 40 50 10KV EE 2%
2448 10KV 2% HE 2R MOl A 25 3 & A8 24 30 10kV /3 ER 2%
2449 10KV BE 2R 180y /N eH 8 AR 44 50 10KV BR 2k
2450 10KV/RBRER ER A 548 43 50 10kV A% BE 2k
2451 10kV/RERZR Aot 6 A8 45 50 10kV A% R 2k
2452 10kVZZ BB £E A=A 1H 6 A 43 50 10kV/R B 2%
2453 10kV/RBRZE K AT s 54 () 45 50 10kV A% BE 2k
2454 10KV BEZR K A 70 5 25 40 50 10KV A BBk
2455 10k VIR B 2R 3 ) 64 5 48 40 50 10kV A% R 2k
2456 10k VR B 2R 3 A 51t 5 A48 40 50 10kV A% R 2k
2457 10KVIR BRZR AT 4 5 48 43 50 10KV EE 2%
2458 10KVIR BRZR B A 3 5 A8 41 50 10V ER 2%
2459 10KV BE 2R K B i 2t 5 2 44 50 10KV A BBk
2460 10KVIR BRZR 3 A 14 5 48 41 50 10kV A% R 2k
2461 10KV B 28 = HE A 64 6 A7 41 50 10kV A% R 2k
2462 10kVAZ B2 = BE AL 3g &5 A 41 50 10kV/3 B 2%
2463 10kVAZ B 28 = BE At 2g & 48 43 50 10kV /3 ER 2%
2464 10kVZZ BB 28 = B AT 18 6 2 45 50 10KV A% BBk
2465 10KV /% B 28 = B S74# 5 45 335 400 10KVZ2 B2k
2466 10KV A% B 28 = B 55 3# /8 A8 320 400 10KVZ2 BR 2k
2467 10kVAZER 28 = BESF28 6 A8 44 50 10kV/R B 2%
2468 10KV A% 35 28 Fi 75 A A8 42 50 10kV/R H 28
2469 LOKVIRE 2RI FE A4 5 4 164 200 10kVAYH 4%
2470 10K VIR 2R [T B A 3 5 A8 47 50 10kV A2 2%
2471 10KkVIR LR H A 2tt 5 A8 40 50 10kV AT H 2
2472 10KV A2 B 2B [ A 18 5 A8 45 50 10kV/R H 2%
2473 10KV R E LR AT R AT A AR 71 80 10kV/R H 28




2474 L1OKVIR LR A Rt a4 50 50 10kVAYH 28
2475 10KVIR B LR AR R34 44 50 10kVAYH 28
2476 LOKVIR LR AAG Rot A 52 50 10KV Y 28
2477 LOKVRE LA R 1A 44 50 10KV Y 28
2478 L10KVRE SR R AR 80 100 10kV AL FH 2%
2479 LOKV R AR IER A T = A 43 50 10kV/R H 2%
2480 10KVIRE LGSR N A 46 50 10kV/R H £k
2481 10KVIR B 2GSRIt SFog A 44 50 10KV Y H 28
2482 LOKVIRE LGSR ESF 1A 99 100 10KV Y 28
2483 LOKVRELRALE AR 322 400 10kV /2 H 25
2484 10kV/RH L FE A 38 5 4% 42 50 10kV/R H 2%
2485 10kV/RH L A 185 41 50 10kV/R H 2k
2486 10KV/RH LR NS 648 94 100 10KV Y EH £k
2487 10kVIR 28 KA 1)K #3 83 100 10KV Y 28
2488 10kVASH 28 K aF#st 540 40 50 10kV/RH 2k
2489 10kV/R 4 KAt ¥aa 5% 41 50 10kV/R H 2%
2490 10kV/RE 28 KAt #h3a 54 40 50 10kVAYH 28
2491 10kVRE LR KAt #ht 548 24 30 10KV Y 28
2492 10kVRE L KAt #1454 41 50 10KV Y 28
2493 10KVAS B 28 5 R A5 e A0 44 50 10kV/R H 2k
2494 10kV/RH L E R4 5% 48 50 10kV/R H 2%
2495 10kV/R B E R 38EH 45 50 10kV/R H £k
2496 10kVIRE LR E R Al2t 548 50 50 10KV Y 28
2497 L10KkVRE L E R 1454 48 50 10KV Y 28
2498 10kVRRE LR E R FH a4 49 50 10kV A2 28
2499 10KkVIRE LR E RSP 87 100 10KVAYH 28
2500 10KV F 48 B AL BHIBUN A8 431 500 10kV/R H 2%
2501 10KVR L AL HE R 28548 387 400 10KV Y 2k
2502 LOKVR L AL BB 1354 46 50 10KV Y 28
2503 10KV A3 B 28 B RKIA A8 & AR 346 400 10kV/RH 2k
2504 LOKV A B LR AN THE B 275 315 10KV 4% H 4
2505 10kVR B LR AR IA R 68 5 A8 51 50 10kV/R H £k
2506 10kV/R LR AR IA Kb 55 A8 40 50 10KV Y 28
2507 10KV /R L AL 28 A 163 200 10KV Y 28
2508 10KV 2% 5 28 B R A e &5 A8 200 200 10kV AL FH 2k
2509 10KVR L AL E R 269 315 10kV/R H 2%
2510 10kVRE LR IS LA B &4 83 80 10kVAYH 28
2511 10KV 2% 3 45 g AL 28l iy A A8 162 200 10KV Y 28
2512 LOKV /R HE R AR 28 A (£) 57 50 10KV Y 28
2513 10KVR LM At A% 58 50 10KV 4% E 4;
2514 10kV/REF 28 — BESFIHE A 203 250 10KVAYH 28
2515 10kVIR 2Rt A 40 50 10kV/R 2%
2516 10k V7% b 2R Bl A8 42 50 10kV/R 128
2517 10kVR EZR A B A28 A A 45 50 10kV/R 2%
2518 10KV 2R A M 1A AR 44 50 10kV 7% |25
2519 10kVIR 2R S KIE K5 A AR 41 50 10kV 7% |2
2520 10kVZ% B2 S RiIAF 48 A 41 50 10kV/3 -2k
2521 10kVIR 2R 8 AKIA K 38 A AR 44 50 10kV/R 2%
2522 10kVIR B2k 8 KAk 28 A A8 50 50 10kV/Z 2%
2523 10kV % B2k SARANM 11 A 48 50 10kV A% k45
2524 10kVIR 28 5 B s A AR 48 50 10kV/3 -2k
2525 10kVZ2 F 42 & B 48 A 46 50 10kV/Z -2k
2526 10kVIR 2R BRI 3 A A 54 50 10kV/R 128
2527 10kVIR 2R BT 28 A 43 50 10kV/Z 2%




2528 10KV A% 288 BEA 17 A A 42 50 10kV A% F 2k
2529 10KVA% 28 H A 2 A% 64 80 10kVZR 2k
2530 10kVR B2 HR A 1# A8 48 50 10kV A% b2k
2531 10kVIR BZR 8 Z M8t 43 50 10kV A% E 2k
2532 10kVIR F 2R3 1A 41 50 10kVA% E 4k
2533 10KVA% 2R3 Z ke a4 44 50 10kV A% F 2k
2534 10KVA% 2872 2 k5t A 41 50 10kV A% E 2k
2535 10kVIR B2 8 Z M4 A 44 50 10kV A% F 2k
2536 10kVIR B2 R Z A3 A 42 50 10kV A% E 2k
2537 10kVIR F 2R3 Z 282 180 200 10kVAY E 4%
2538 10KV 2RI Z M 18 A 92 100 10kV A% F 2k
2539 10kVIR 2R 22 AR B2t A AR 40 50 10kVZR 2k
2540 10kVIR B 2R AR BRI A 42 50 10kV A% b2k
2541 10kV A% 2B T ARIE AT 3SR A AR 86 100 10kV A% E 2k
2542 10kV A% 2B TRIA A28 A AR 47 50 10KV 4%
2543 10kV A% _FZRTARIE A I RA AR 54 50 10kVA% F 4k
2544 10kV A% _F 2R V)8 AT A A AR 42 50 10kV A% E 2k
2545 10kV A% 28 3% 30 R 3 A A 81 100 10kVAY 2k
2546 10kV 2% | 28 3% 30 A ot A A5 42 50 10kVAY 2k
2547 10KV A2 b 2R 1) 7% 30 ) 188 A8 44 50 10kVZ% | 2%
2548 10KV/R FE LR & FE M &8 86 100 10k V /R B 2k
2549 10KV /R A7 2876 [0 40 A8 A0 1 o 212 315 10kV/R A7 2k
2550 10kV/R F 2R IR H B AR e 2 212 400 10kV/R 1 2%
2551 10kV/R f1 £ 7K W AR 8 AR IR 4% 212 400 10kV/R 128
2552 LOKV/R M 28 RIS 1 & 28 212 400 10kV/R M2k
2553 LOKV/R MR 2R KU ot 5 48 212 400 LOKV /R #r 2k
2554 LOKV/RMFZE EXR T 68 84 100 10kV /R B 2k
2555 10KV/RIFZE EX 648 113 125 10KV /R MF 2R
2556 LOKV/R MR 2B M T & 48 89 100 10KV /R MR 2R
2557 10KV /R MR BT - 5 L4l &4 80 100 10KV /R HF 2%
2558 10KV /R M 28 B = 167 200 10kV /R M 2k
2559 LOKV/RMF 2B L4 &4 88 100 10kV /R B 2k
2560 LOKV/RF & BTE T a4 88 100 10kV/RMF 2R
2561 LOKV/RIFERBTE F PG48 84 100 10KV /R MR 2R
2562 LOKV/R#F 2B G 7 L 6% 89 100 10kV/R MRk
2563 LOKV/R I A K & 4 212 400 10kV /R M 2k
2564 1OKV/R k28 5 48 212 400 LOKV/R#r 2k
2565 LOKV/R Mgk 18625 212 400 10KV/R 2k
2566 10KV /R R 2R A pliie & 48 109 125 10kV/R il 2k
2567 10kV/R &k i RIA 1A 648 83 100 10kV/R 2k
2568 10kV/R Bk o RVA A 648 169 200 10kV/R B 2%
2569 LOKV/R IR ZRIA /R & 48 198 200 10kV /R i 2k
2570 10KV RIF I RAES R & 162 200 10KV/R 28
2571 10KV/R T 26 M Sk 548 178 200 10k VR 28
2572 1OKV/RIF£RAT AR A & 4 46 50 10kV /R fF 2%
2573 10kV/RIT R 2 BUi & 748 164 200 10kV /R i 2k
2574 10kV/RIFF 2R 2 BUff 2t 5 4% 163 200 10kV /R i 2k
2575 LOKV/RHIZR R e 100 125 10KV /R 12
2576 10KV /R 31 28 3 R 25 45 7% 40 50 10KV /R W12
2577 10KV/RHNZE Vb | & 2 212 315 10KV /R 31 2%
2578 LOKV/RIZR P HUN 2 5 A 100 125 10kV/R 312k
2579 10KV /R INZE R A AR 212 315 10kV/R 32
2580 LOKV/RINZR T #EFT & 48 212 315 10KV /R 12
2581 10kV/R 2R 7K 55 47 A8 A% 4 212 315 10KV /R W12




2582 10KV/RINZR K 5 & 48 212 315 10kV/R 312k
2583 10KV R INZR/NE S 2R /NiE 5 A 212 400 10kV/R 312k
2584 10KV /RN LR Kyl i 4 ot 5 48 40 50 10KV /R 12
2585 LOKV/RINZR Ky bl 14 5 48 80 100 10KV /R 12
2586 LOKV/RINZR Kyl b 4 & 4 100 125 10KV /R 31 2%
2587 LOKV/RINZR K T & 128 160 10kV/R 312k
2588 10KV/RINEZR Kyl Edlg 648 160 200 10kV/R 312k
2589 LOKV/RINZR Kty B &4 128 160 10KV /R 12
2590 LOKV/RHLER B scl 5 A48 24 30 10KV /R 12
2591 L1OKV/RIIZE e IH &35 160 200 1OKV/R Hl 2k
2592 10KV /RN 2E B T & A8 200 250 10kV/R 312k
2593 L1OKV/RINZE = K EEE 212 800 10kV/R 312k
2594 10kV=F i 1#/3 45 S9 176 200 10KV e B2k
2595 10kVE BLE AT 510 630 10kVE &£k
2596 10KVE ELESTLFHE 510 630 10KVE 24k
2597 10KV'E 7 28 A IR i K F AR AR IR 4% 549 630 10kVE 75 2k
2598 10kVE BELAKEMN AT 407 400 10kVE 752k
2599 LOKVE LW & X A4 413 400 10kVE &£k
2600 10KV E 25 28 7K B R N AR 252 315 10kVE &£k
2601 LOKVE LK) F% 80 100 10kVE 754k
2602 10kVE ELA R Rt n 400 500 10kVE 752k
2603 10KVE LA L 185648 660 630 LOKVE ZE 2k
2604 1OKV'E 26 k) VA AE A8 427 400 10kVE &2k
2605 10KV E Z LB e s A 483 400 10kVE &£k
2606 10KV B 28 R BUR & % s #E AT 320 400 10kVE %28
2607 LOKVE ELILEAAD 365 400 10kVE 72k
2608 10KV'H 28 £ KB 592 630 10kVE 752k
2609 LOKVE LK /N AE 739 800 10kVE &£k
2610 10KV LAl R A 430 500 10kVE &£k
2611 10KV E 2528 K PAAR AR AR [ o 800 1000 10kVE %28
2612 1OKVE 228 — E M A AR IR 4% 504 630 10kVE 75 2k
2613 10KVE 75 28 — CMr A 284 AR A0 i 8 504 630 LOKVE ZE2k
2614 10KV E VD 25 38 HE A AR 40 50 10kVE Vb 2k
2615 10kV B W LRI 2= K A A 16 20 10kVE Vb 2k
2616 LOKV'E VD281 B DU 24H A AR 40 50 LOKVE ¥h2k
2617 10KV E LR HE —H A 40 50 LOKVE ¥h2k
2618 10KV E LR HE = H A 24 30 10kVE Vb 2k
2619 10KV E WL —H A 27 30 LOKVE ¥k
2620 LOKVE WL LA AT 25 30 10kVE Vb 2k
2621 10KVE DA —H AT 26 30 LOKVE ¥h2k
2622 LOKVE DR —H AT 17 20 LOKVE ¥h2k
2623 LOKVE LN —H AT 18 20 10kVE Vb 2k
2624 LOKVE W It £ BUR A AR 180 200 10kVE Vb 2k
2625 LOKVE WL = —HAE 67 80 10kVE Vb 2k
2626 LOKVE WL —H A 20 20 LOKVE ¥b2k
2627 10KV E YD 28 /K A AR 83 100 LOKVE ¥h2k
2628 L1OKVE LR —dH A 47 50 10kVE Vb 2k
2629 10KV E P Ze Bk = dH A A 165 200 LOKVE ¥k
2630 L1OKVE LR —H A 44 50 10kVE Vb 2k
2631 10KV E Vo Ze bk A AR 83 100 LOKVE ¥h2k
2632 LOKVE WD LIA S —H AT 85 100 LOKVE ¥h2k
2633 LOKVE W LIN S —H AT 84 100 10kVE Vb 2k
2634 LOKVEWLREXBE T AT 41 50 10kVE Vb 2k
2635 LOKVE Wy A AR 81 100 10kVE Vb 2k




2636 LOKVE W R R R AL 163 200 10kVE Vb 2k
2637 10KV E W LA KB T A 40 50 10kVE Vb 2k
2638 10KV 'E MF 2% 11 5 Y FL 20 A AR 86 100 10kVE Hr 2k
2639 LOKV'E#FEL (35 A 160 200 10kVE M2k
2640 L1OKVE ML A5 = H A 84 100 10kV'E MR &k
2641 1OKVEFE A S —HAE 166 200 LOKVE #rzk
2642 10KV E MR AT — A4 132 160 10kVE B 2k
2643 10KV MR AKSE DU A A 64 80 10KV E MLk
2644 10KV E MR AKIE LA A A 45 50 10kV E MLk
2645 LOKVE MR AKEE —. =4 A 164 200 10kVE Hr 26
2646 LOKV'E MR 2R AT pR 3 A A8 89 100 LOKVE #r gk
2647 10KV B MF 288 I DU 2H A 40 50 10kVE B 2k
2648 LOKVE MrZopn IR L A 44 50 10KV E MLk
2649 LOKVE B IR —H AL 83 100 10KV E #E 2k
2650 LOKVEMF 2B K = A2 45 50 10kV'E MF &k
2651 LOKVE MR 2B Ik —H A 83 100 LOKVE #rk
2652 10KV E B A LA A 26 30 10kVE B 2k
2653 10KV E MrZR U2 A AR 46 50 10KV E MLk
2654 10kVEMF2R AL A A4 171 200 10kV E MLk
2655 LOKVE MR A —~ =H A% 71 80 10kVE Midk
2656 LOKVE PRI —H AT 42 50 LOKVE #rk
2657 10KV By 5 28 J& 5 5 Wl Wik =i 47 A8 AR TR 2% 504 630 10KV E B £&
2658 10KV 52 0 28 b Jo A 98 A AR 84 100 10kVEE 2k
2659 10k VEE B EL R o AT 88 N AR 84 100 10kVSE 28
2660 LOKVEE LR BN BT T8 A A 86 100 10kVE e 4%
2661 10k VEE B £ R o Ad 64 A AR 82 100 10kVEE 2k
2662 10KV EE B £ R I Ad 58 A AR 41 50 10kVEE 2k
2663 10KV 52 26 il Jo A 4 A AR 164 200 10kVEE 2k
2664 10K VEE B EL T o AT 38 A 83 100 10kVSE 26
2665 LOKVEE R 2R BN AT 288 2 92 100 10kVEE 2k
2666 10K VEE B ER R AT 1#AAR 81 100 10kVEE 2k
2667 10KV S e 28 hn g At 9 A AR 46 50 10kVEE 2k
2668 10KV 5= e 28 hn 0 g AT 8 A AR 91 100 10kVEE 2k
2669 10KV e 28 hn g At T A AR 84 100 10kVEE 2k
2670 10KV S e 28 i3 A 198 A 48 81 100 10kVSE 26
2671 LOKVEE LR i isi i 188 A AR 40 50 10kVEE 2k
2672 LOKVEE LR I risi i 1 T A AR 84 100 10kVEE 2k
2673 10KV 5= e 28 i A 168 A 48 81 100 10kVSE 26
2674 10KV 5= e 28 i A 158 A 48 45 50 10kVSE 28
2675 10KV S e 28 i A 148 A A8 82 100 10kVSE 26
2676 10K VR e 2 i A 138 A 41 50 10kVEE 2k
2677 LOKVEE 2R I drisi i 128 A AR 335 400 10k VS 2k
2678 10KV S e 28 i A L1 A AR 41 50 10kVSE 26
2679 10KV 5= e 28 i A 108 A 48 163 200 10kVSE 26
2680 10kVEEFELR 2B £ BURF A AR 331 400 10kV5E 2828
2681 10k VIR JE 4R I i Ay b A AR 161 200 10k Vo FE 2k
2682 10KV oS ZE 2R hn g AT 4 A AR 82 100 10k Vo FE 2k
2683 10KV 5= ZE 28 hn W igi At 3 A AR 83 100 10kViEZE4k
2684 10KV S ZE 28 hn g At 28 A AR 83 100 10kVSEZELR
2685 10KV ZE 2R hn i AT 1B A AR 89 100 10kViE 284k
2686 10kVIR JR LR AR Ot A AR 41 50 10k Vo FE 2k
2687 10kVIR JRER AT 8 A AR 43 50 10k Vo FE 2k
2688 10KV FE LG AT THA AR 40 50 10kV5E 228
2689 10k VI FREL AT 68 AR 167 200 10kV5E 2828




2690 10KVIR JR LR AR Bt A AR 47 50 10k Vo FE 2k
2691 10kVIR JRER AT At A A 83 100 10k Vo FE 2k
2692 10KVIR JRER AT 28 A 82 100 10kVSEZELR
2693 10kVIR ZEZR P A 108 A AR 81 100 10kVSZZELR
2694 LOKVEE RPN 1HAZ 83 100 10kV 2 2E 4k
2695 10kVZ 28 AL SFot mAp 176 200 10kV 22 B 2
2696 10kVZ 28 A SF LA 170 200 10kVZ: 2k
2697 10kV% 4 2R A LF ot N AR 169 200 10kV % 4 28
2698 10kV%Z M 2R A ILF 1A 165 200 10kV % 4 28
2699 10kV% 4 ZRAEHLAT A AR 162 200 10kV 22 14 28
2700 [ B Ly LR T L B o SR BH B 27 30 10kV 22 B 2
2701 [ 2B G SCER Bl 0 B o SR K] 66 80 10kV 22 14 25
2702 10K V22 1 28 3 3l o0 S R P 28 A AR 165 200 10kV % 4 28
2703 10k V22 1 28 Bl e L R P R 1A AR 164 200 10kV % 4 28
2704 V%2 1 237 I 5% S 2k il 1 62 43 7 2R 1 Uk R A 24 169 200 10kV 22 14 28
2705 10k V22 B 2R3 S R il s 18 A AR 177 200 10KV 1 2k
2706 kVZE 4 20T P LR T S5 A 9 2R TS5 A 38 42 50 10kV 22 B 2
2707 BBy RS FSFA 7 328 T SF 450 S04k 1 40 50 10kV %2 14 £&
2708 BBy SR FSFA 7 2R T SF 450 S0 2R 1 45 50 10kV % 4 28
2709 10kV % P 28 % 528N 351 400 10kVZ 14 £
2710 10KV % B 2R 2 X 10N AR 350 400 10KV Z: 4 2k
2711 10KV Z R LRI & 48 84 100 10kV 22 % 2k
2712 10KV R 2635 M4t 5 A8 178 200 10kVZ FE 2%
2713 10KV R L6325 e A3t 5 A8 40 50 10kVZ FE 2%
2714 10KV FE LR3F M2t 5 A8 221 200 10KV FE 2%
2715 10kVZRS LR o 1 548 413 400 10kVZ FE 2%
2716 10KV ZIK LS RIE A GHSEAEHD 88 100 10KV 22 & 2k
2717 N RPN 86 100 10KV Z2 & 2k
2718 10KV %2 18 £R BT SR8 A A A 40 50 10kV 225 2k
2719 10KV 22 9% 2R BT /R B AT 28 A AR 40 50 10k V2235 28
2720 10KV ZZI8 28 I8 A 28N AR 84 100 10KV 22 & 2k
2721 L0KVZIE A ARIL A28 A 27 30 10kV 22 2k
2722 10kVZIE LR BARIL A1 A 90 100 10KV Z2 & 2k
2723 10V ZIE R BARIL AR 46 50 10kV 225 2k
2724 10kVZIERBEARIL AR 22 20 10k V2235 2%
2725 10kVZIE R % R M SEBE A AR 263 315 10kV 22 2%
2726 10kVZ2 3% e L A AR 16 20 10KV 22 & 2k
2727 10KV 2235 28 58 BE A AR 116 100 10KV Z2 & 2k
2728 10kVZ K 4R 5 R4 AN AR 86 100 10kV 2235 2k
2729 10KV 22 9% 2o 4 5 H SE e A AR 92 100 10KV 2235 28
2730 10KVZIE LR FH AT AR 42 50 10kV 22 2k
2731 10kVZ & L8 R AT 3 A AR 47 50 10kV 225 2k
2732 10KV %2 18 2R 18 JRIE KA A AR 55 50 10kV 223 2k
2733 10KV 22 3% 2818 IR 1B KBA2# A AR 45 50 10kV 225 2k
2734 10KV 22 2R IK IRIE 2 I IRIE M AR 40 50 10kV %2 1% 2%
2735 10kVZ & LRI IRIE £ BUN A 92 100 10KV 22 & 2k
2736 10KV 2298 28 4] 2 A A AR 16 20 10kV 225 2k
2737 10k V2% 28 H A HLA 3 A AR 41 50 10kV 223 2k
2738 10kVZ I8 2R HASFLSEBE A AR 86 100 10kV 225 2k
2739 10kVZIE R HASHL AR 88 100 10k V2235 28
2740 10kVZIE R HASFL— A AR 84 100 10kV 22 % 2k
2741 10k V28 0B T /R 1#A AR 85 100 10kV 225 2k
2742 10k V28 R AR AT 28 A A 165 200 10kV 223 2k
2743 10k V22 1% 2R ARk VY BA A 49 50 10kV 225 2k




2744 10kVZ & LR AR FL A A 42 50 10kV 22 2k
2745 10kVZ KRR — BA A 47 50 10kV 22 2k
2746 10k V228 R AR — BA 1A AR 83 100 10KV 22 & 2k
2747 10kVZ I AR —BA A 41 50 10kV 225 2k
2748 10KV 2298 2R AR — PA 28 A AR 40 50 10k V2235 2%
2749 10kVZIK LR B B A 16 20 10KV 22 & 2k
2750 10kVZIR R RN B A 91 100 10kV 225 2k
2751 10KV 2298 28 22 FE M 6 A AR 55 50 10kV 223 2k
2752 10KV 2298 28 22 T M 3 A AR 91 100 10kV 2235 2k
2753 10kV 2 R 2 AL AR 255 315 10k V2235 28
2754 10KV Z29% 28 22 FEhH N A 82 100 10KV 22 & 2k
2755 10KV 228 28 22 FEAt N A 111 100 10KV 22 & 2k
2756 10KV ZZ IR LR 22 128N A 25 30 10kV 223 2k
2757 10KV ZZ IR 2R 22 TIH A AR 41 50 10kV 225 2k
2758 10k V2 & 2R 22 JRIA 3N 44 50 10k V2235 28
2759 10KV 22 9% 2R 1 2 b —BA A AR 43 50 10kV 22 2k
2760 10KV 22 % 2R 2 R 2 A A AR 92 100 10kV 225 2k
2761 10KVZIE LRAE I SE L AR 89 100 10kV 223 2%
2762 10kV 22 2R R A AR 8 10 10kV 225 2k
2763 10KV 228 28 7 H A 45 50 10k V2235 2%
2764 10KV ZIS L T T A4 85 100 10KV 22 & 2k
2765 10KV ZFEL I T R ER 28 N2 163 200 10kVZ: 4 2k
2766 10KV Z L T R EM E AL 83 100 10kVZ H 2k
2767 10KV 22 LR 7 T Xk 3 A AR 49 50 10kV % 14 28
2768 10KV 22 PR 28 4 T 0 % B A4 A AR 67 80 10KV 1 2k
2769 10KV ZFLRIE AN 55 50 10KV Z: 4 2k
2770 10KV Z LR NP AT A AR 82 100 10kV 22 B 2
2771 L0KVZ LA KR 28 A A 85 100 10kV % 4 28
2772 10KV LKA 1A 163 200 10kVZ: 4 2k
2773 10KV FELRFE TN 25 30 10kV 22 14 28
2774 10KV ZELR 2 R AAR 43 50 10kV 22 1 2
2775 10KV 2 2% 7= di kS o N A 87 100 10kV 22 B 2
2776 10KV 2 FE 28 7= i A 18 AR 43 50 10kV % 1 2
2777 10KV A28 RKFE AR 41 50 10kV % £ 2%
2778 10KV %2 A 2R BT 46 S Bt A A 82 100 10kVZ2 A 2%
2779 10KV % A 28 e 8 SF AR 43 50 10KV B2k
2780 10k V22 £ 28 7 LA AR 45 50 10KV B 2k
2781 10kV % A 28 55 A A 46 50 10kV % £ 2%
2782 10KV % A 28 55 AR A AR 28 30 10kV % £ 2%
2783 10KV 22 £ 28 H A& Ik AT A AR 44 50 10kVZ2 A 25
2784 10kVZ B LRILAFFE AL 81 100 10kV 22 Ay 2k
2785 10kVZ B LR I 28 A 40 50 10kV 22 £ 2k
2786 10k V2 A 28 % 3L AR 43 50 10kV % £ 2%
2787 10KV % A 2835 DA A AR 40 50 10kV % £ 2%
2788 10KV 22 75 28 25 b A 4D 172 200 10kV22 A 285
2789 10kVZ AR IFHSF AR 86 100 10kV 22 Ay 2k
2790 10KV %2 A 28 75 MM A AR 49 50 10kV 22 £ 2k
2791 10KV % A ZRARAE TFBE A A 46 50 10kV % £ 2%
2792 10KV % Ay 28 22 ff 28 A AR 43 50 10kV % £ 2%
2793 10KV Z B 2R P 22 A 1 H A A 87 100 10kVZ2 A 4%
2794 10KV 22 JiF 25 3k J B ) 5 A8 25 30 10kV 22 Jif 2k
2795 LOKVZFLRIFEA PG 24 30 10kV 22 Jif 2k
2796 10KV % 2R FAT FH2 5 A8 40 50 10k V22 i 28
2797 10KV % 2RI 30 At 4g & AR 89 100 10kV 2 )i 28




2798 10KV % i 2R IE IS b 30 5 48 191 200 10k V22 28
2799 10KV 2 2RI g A 2f & AR 392 400 10kV 22 Jif 2k
2800 10KV 2 2RI i 3g AT 18 5 AR 105 100 10KV 2 ) 28
2801 10kVZ TR ARk s 5 A8 40 50 10kV 2 )i 28
2802 10kV 22 JiF 2 A ki 3g & 2 33 30 10kVZ 2k
2803 10k V2R Ak ot & A8 16 20 10kVZ T2k
2804 10KV 2 R AR 18 5 49 50 10kV 22 i 2k
2805 10KV ZE— R 548 25 30 10kV 22 ) &
2806 LOKV % JiF 2R 2515 ! L 2k 3f 5 48 80 100 10k V22 28
2807 10KV 22 FER258E 128 65 48 40 50 10kV22 T 25
2808 10KV 2 T LR 2518 1 1# 6 48 24 30 10kV 22 Jif 2k
2809 10kVE G4 B /RA AR 84 100 10kVE 5 2%
2810 10kVE G2 O RA AR 91 100 10kVE 5 2%
2811 10kVE G4 &R —H AR 86 100 10kVE 5y 2%
2812 10kVE GRS —HAE 41 50 10kVE D4
2813 10KV Ly 28 3k 8 = 2H B 1L A48 40 50 10kVE 2k
2814 10kVE G 2R — L A 40 50 10kVE 5 2%
2815 10kVE G HEA R AR 85 100 10kVE 5 2%
2816 10kVE G2k HEA E L AR 82 100 10kVE 5y 2%
2817 10kVE LB S BURF AL 174 200 10kVE 2%
2818 10kKVE SR TR _HAE 25 30 10kVE 2k
2819 10kVE SR TR HAE 68 80 10kVTE 5 2%
2820 10kVEGL TR AT 64 80 10KV 5 2%
2821 10KV T2 Bl 22 X0 00 il A AT 53 50 10kVEHE 4
2822 LOKV 52 58 28 X0 0o V8] 5 THT A AR 84 100 10kVEH £
2823 LOKVERHZEAG 0o b — A 173 200 10k V8 2k
2824 10kVEFH LR 3 B A FOESE AR 25 30 10kVEHH 28
2825 10KV E R —4H N A 26 30 10KV EHH 4%
2826 10KV R 26 % & —2H A 44 50 10kVEH £
2827 10KV LR 32 [ T A4 85 100 1OKVETEL
2828 LOKVERZEEL 2 M A2 43 50 10kV 0525
2829 LOKVELRIBE R AL 42 50 10kVEHH 28
2830 LOKVERHZE Y e A L A AR 29 30 10kVETHLL
2831 LOKVERZE I e i —H AR 53 50 10kVETLL
2832 LOKVERHZE I e i = H A AR 85 100 1OKVETEZ
2833 LOKVERHZE I e b —H AR 40 50 10kV 5 25
2834 LOKVERH LR VY e DU 2H A 43 50 10kV & HH 28
2835 LOK VR 28 DY B DY 2H /3 A 41 50 10kVE 2
2836 10kVEFIZ Y] —H AT 81 100 10kVERE 4
2837 LOKVERHZE Y I = 2H A A 84 100 10kVEH £
2838 10KVEFIZL I —H AT 41 50 10k V8 2k
2839 10K VIS A 28 U 28 DY 2H /8 B 10 s A 41 50 10kVEHH 28
2840 10kVEM LR DA AR 81 100 10k V4% 22
2841 10kVEM LR DA —H AR 81 100 10k V4% 22
2842 1OKVEAS 28 ¥ —H A AR 26 30 10kVE RS2
2843 10kVEM L G /RITH AT 49 50 10k VT % 2k
2844 LOKVEAG LR AR AR 82 100 10KV k% 25
2845 10KV EM LR TRIER —H AR 85 100 10k V4% 22
2846 10KV EM L ERIEN —HAR 83 100 10k V4% 25
2847 10KV % 28 506 PO 4 A A 85 100 10kVEFE 28
2848 10kVEM LI IE LA RNE 86 100 10k VT % 2
2849 10kVEAG LR TTKA A4 32 40 10k V4% 22
2850 LOKVEMZIUKN —H X A% 44 50 10k V4% 22
2851 10kV A LR UK — A AR 88 100 10k VA% 22




2852 10kVEM L KIPEs A% 82 100 10k V4% 22
2853 10kVES L TH E AR 83 100 10k VT k% 2k
2854 LOKVERE LR X LA A AR 40 50 10k V4% 22
2855 LOKVELILEN T AL 86 100 10k V4% 22
2856 10kVEMZE It E VY H A IS Wi 48 80 100 10kVEFS 28
2857 10kVEM L LEMN LA AR 64 80 10kV 4% 25
2858 10kVEM L LEN —HAR 40 50 10k V4% 22
2859 LOkVEMLIUER ZHAR 83 100 10k V4% 22
2860 LOKVEMZuE N — M LA 190 200 10k V4% 22
2861 10kVEM L ILEN —HAR 17 20 10kVEFS 28
2862 10KV H RN B H A 42 50 10KV 28
2863 10KV 7 2R gl 52 648 44 50 10kV 3 7 2k
2864 10k Ve 7 2R 9011 20 & A8 43 50 10KV 28
2865 10V & f o A8 42 50 10KV i 28
2866 10KV 7 2R3 8 5 2 41 50 10kV e 1 2k
2867 10kVI &M a5 AR 42 50 10KV v 2k
2868 10kV i 200 e &5 A8 44 50 10KV i 2k
2869 10kVR i & f b 5 A8 41 50 10KV i 28
2870 10KV & 2R 4 64 44 50 10kV 3 1 2k
2871 10KV i 2R3 28 5 2 48 50 10kV 3 1 2k
2872 10kVIR &0 s s AR 42 50 10KV v 2k
2873 10kV 3 28 e B /N Je ke 5 AR 83 100 10KV i 28
2874 10KVt 28 — g &4 46 50 10KV 28
2875 10KVIEd 28 — RN 2 B S a4 84 100 10KV i 28
2876 10kVI 4 — HIBNBRSEA 48 50 10kV 32 1 28
2877 10kV3 28 — Ik 648 46 50 10KV i 2%
2878 10K V3IZE BH 2R BH 15 A 61 2 A 43 50 10k VI BH &
2879 10K VIZERH 2R BHE AT 1A A 45 50 10k VI BH &
2880 10K VIZEBH 28 FH B A #9 A AR 42 50 10k VI BH &
2881 10K VIZE BH 28 fH E5 M #8 A AR 42 50 10k V3 fH 2k
2882 10K VI BHZR BH B A #T A 41 50 10k VI BH &
2883 10K V3IZE BH 2R BH 15 A #5 A 44 50 10k VI BH &
2884 10K VIERH 2R BHEZ AT 4 A AR 40 50 10k VI BH &
2885 10K VI BH 2R FH B M #3 A AR 42 50 10k VI BH &
2886 10K VI BH 2B FH B M #2 A A 43 50 10k V33 FH 2k
2887 LOKVIERH 2R BHEE AT #10A 2R 43 50 1OKVIZERH 2%
2888 10k VIERHZR A H AT os & 48 45 50 10k VI BH &
2889 10KVIZEBH 2R 1A H A 33 A AR 41 50 10k VI BH &
2890 10k VIFE FH 283K H AT 108 5 48 41 50 10k VI BH &
2891 10KVIEBHZRIA H A #8 A AR 41 50 10k V3 fH 2k
2892 10KVIEBHZRIA H A #6 & 4 41 50 10k VI BH &
2893 10k VIFERHZR 1A H AT #5 A A8 42 50 10k VI BH &
2894 10KVIERHZRIA H A #4A AR 41 50 10k VI BH &
2895 10KVIERHZRIA H A #2 A AR 41 50 10k VI BH &
2896 10KVIERHZRIA H A #1 A AR 40 50 10k V3 fH 2k
2897 10k V3 FH 2R Bk 2 &5 4% 40 50 10k V33 fH 2k
2898 10kVIEFHZR F e AT 188 5 AR 46 50 10k V438 PH 28
2899 10KVIERHZE FL kR 178 548 40 50 10k VI BH &
2900 10kVIEPHZE Tk 168 548 21 20 10k VI BH &
2901 LOKVIERH 28 55 64T 158 5 48 24 30 10k V33 P 2k
2902 LOKVIERH 28 &5 Y6 A) 148 5 28 42 50 10k V432 FH 28
2903 10KVIEHZR T A 17 54 101 125 10k VI BH &
2904 10K VIFEPHZR T e A8 5 A8 52 50 10k VI BH &
2905 10KVIEPHZ T pl 7 54 54 50 10k VI BH &




2906 10k VIFEBHZE & e i #5 264 315 LOKVIZERH 2
2907 10KVIEBHZR = A H4 & 4 83 100 10k VI BH &
2908 10k VIFEPHZR T e pl#3 548 50 50 10k VI BH &
2909 10kVIEPHZ T pi g2 548 43 50 10k VI BH &
2910 10kVIEBHZE FOE #1354 (£) 45 50 10k VI BH &
2911 LOKVIERH 2R & k#1264 260 315 10k V432 FH 28
2912 10KVIEFHZR F e A1 548 137 160 10k V438 FH 28
2913 10k VIERHZE Fo R #1058 146 160 10k VI BH &
2914 LOKVIERHZ PO 6 141 160 10k VI BH &
2915 10k VIZEBH 28 ALV PR e | S T8N 80 100 10Kk VI BH &
2916 10k VIZE BH 28 AV PR e & e A AR 80 100 10k V33 fH 2k
2917 10k V3% FH 28 AL VA MR E | A A AR 80 100 1OKVIZERH £
2918 10k VIFEPH R K AR IA K 28 55 A8 50 50 10k VI BH &
2919 10KVIEIERAE I &4 27 30 10k VIFE AL 28
2920 LOKVIEAL 2R IR T 628 185 200 10KVIZELE LR
2921 LOKVIEAL 2R /N R 6 80 100 10k VAL 2
2922 10kVIE L 237485 48 5 A 48 50 10k VAL 2k
2923 10kVIFEAE 263748 38 &5 3 44 50 10k VIFE AL 28
2924 10kVIFEAE 263748 185 48 177 200 10k VIFEAE 22
2925 10KVIEFE 28374k #2652 41 50 10KkVIFEAE 2
2926 10KVIEFL LR /K BB Ff 2840 A8 469 630 10k VIR 28
2927 10K VIZEFZR /K H =) THAE AR 469 800 10Kk VI £
2928 10k VIFEB R s A AR 469 800 10k VIZEF 2%
2929 10K VIFEBLER MOl Ji A AR 228 250 10k VIFEF £
2930 10k VIFE 2R BUR 46 28 469 630 10KVIZEFLE
2931 10K VIR R e BB A4 A 469 630 10Kk VI £
2932 10k VIFEEZR AR ZEAH 266 315 10k VI Fr 2k
2933 PKVIEEZR 3T HL IR Be 01~ 65 [X [A] 5# fic B AP 5 469 500 10k VIFEF 2%
2934 10k VI 2 33808 H oL T4 A8 469 630 10k VIFEF £
2935 10k VIEFZR I H /N2 A AR 469 800 10k VIZEE 28
2936 10K VIR 28 FL I Bt [H A6 A 197 200 10k VI £
2937 10K VI B AR MR A A 257 315 10Kk VI F 28
2938 LOKVIEBZR AR B IR A AR 469 800 10k VIFEF 2%
2939 10K VIR I VT 36 452 465 500 10k VIFEF £
2940 | 10k V3 < 28 3 3 B FL 2 A0 ] B i FL A T 2% 469 630 10KV 2k
2941 10k Vg8 22 28 5 ORI ik A AR 469 630 10k V322 2%
2942 10K VI 2= 28 7% TR 4H A8 469 630 10k V3 228
2943 10Kk VI8 24 28 398 [ R o A 48 469 800 10k VIgE 27 2
2944 10k VI L 2R A A8 215 200 10k Vg 2 £
2945 10kV3E s 2R IS T e A 2B 24 30 10KV [ 28
2946 10k VIEPR 28 B IR A 3t A AR 42 50 10k Vg 22 £
2947 10k VIR ZR A A 1A A 41 50 10k Vg 2 £
2948 10K VIR LR B Ml g4 548 40 50 10k VIgE 22 £
2949 10k VIR 28 B iR 28 N A 45 50 10k Vg 2 £
2950 10kVIE B 2k i ALt e A 2 40 50 10KV [ 28
2951 10k VIR 28 & LA st A AR 42 50 10k Vg 22 £
2952 10k VIR 28 & BT 4 A AR 44 50 10k V4 P 2
2953 10k VIR 28 & BHAT 3 A A 43 50 10k Vg 22 £
2954 10k VIR 28 & B AT 28 A A 41 50 10k Vg 22 £
2955 10kVIE B 28 B ALY 13 A2 44 50 10KV [E 28
2956 10K VI £ 2B 4T K A AR 92 100 10k Ve P 2
2957 10K VI % 28 1350 )5 4% s A A 353 400 10k Vg 2 £
2958 |10k VIE [5= 28 i Ak Al b el 6 22 1] i Fic FE A8 T 25 279 315 10k Vg2 £
2959 10k VIZEPR £ 10 4 PR A B A AR 90 100 10k Vg2 £




2960 10k VIZEER 2RI BRI A 40 50 10k VHE e 28
2961 10k VIZE X £ 185 /R IS JE A 68 80 10KV P 28
2962 10kVIFEER 2215 H e AR 290 200 10k VIZE[R 28
2963 10k VIZE R 48 i 3 e 0 A8 167 200 10k VHE e 28
2964 10kVIFEER 4R ELE A AR 174 200 10k VI 2%
2965 10k Ve 28 ELyl IE A AR 40 50 10k VI EE 28
2966 10kVIZE R 48 BL 9% % o By A AR 326 400 10k VHE P 28
2967 10KV £& L FE AT 548 161 200 10kVIE I £&
2968 LOKVIE R 2k R ik & 48 80 100 10kVIE I £&
2969 10K VIZE Il 28 FE St S 28 5 A 259 315 10k VIl £&
2970 10k VIZE il 42 Bt <7 18 5 265 315 10kVHE I £&
2971 10K VIZE il 42 M R 1212 % 28 8 673 800 10kVHE Il £&
2972 10KVIERIZRIE O A 28 54 177 200 10k VIFE Il 28
2973 LOKVIE R ZR3E 1 & 48 130 100 10k VIl 28
2974 1OKVEEE I 28 358 11 i it 3 &5 A% 160 200 10k VIl £&
2975 10k VIR £R 2 2 A 5 A8 169 200 10kVIE I £&
2976 10KV kI 28 fnyh ks 5 748 296 315 10k VIl 28
2977 10K VIRl 4 0 24 k) & 48 44 50 10kVIE I £&
2978 10k VIFE I 28 Il £ 5 L3 5 48S9 320 400 10kVIE I £&
2979 10K VIR ZB I & SF A B R TR AR 540 630 10k VIl £&
2980 10KVIERIZE B4 5F 2 BUF &4 410 400 10kVHE I £&
2981 10kVIERI £k £ BUN & 48 168 200 10k VIl 28
2982 10K VIRl £ R B 4 A %% 28 30 10k VIl 28
2983 LOKVIRAP & 3| —H AR 504 630 10k VI Bh 28
2984 LOKVIRB RS —H T AR 356 400 10KV P 28
2985 LOKVIR P 28 it =4 L AR 172 200 10KV IR b 2k
2986 LOKVIRBR LR U AT A 83 100 10k VIk Bh 28
2987 LOKVIRAP L IP R —H A 44 50 10KV i 28
2988 10k VI ap 2k A AR 83 100 10k VI Bh 28
2989 LOKVIH 28 % B KB & [X 334 400 10k v 75 2k
2990 LOKVIRPEZR /K HL R & X 446 315 10k v /G 28
2991 LOKVIR PE R M 1 LA AR 169 200 10kv Ik it 28
2992 LOK VIR PE 4 SC e & X 642 630 10k vk i 28
2993 LOKVIR U2 3 & X 680 800 10k vk i 28
2994 10k VI 5 28 175 Ja A A8 402 400 10kv Ik P4 25
2995 10k VIk 78 28 s (A A8 640 630 10kv Ik it 28
2996 LOKVIPHZE B R B X 587 630 10k v /G 28
2997 L0kVIk P ZE 7 &5 X 538 630 10k vk it 28
2998 LOKVIR PR L T &5 X 770 800 10k vk i 28
2999 10KV PG 6 I 1T A AR 419 500 10k vk 75 2%
3000 10K VI AL 28 4 VT el 45 A8 593 630 10KVl At 28
3001 L0k VI it 20 U & X 425 500 10KV A 28
3002 LOKVIRARE 45 T A% 574 630 10KV Ik £t 28
3003 LOKVIR AL 28 2 5 57 Pk 52 Be 46 4 594 630 10KV At 28
3004 LOKVIR AL R T uh A AR 619 630 10k V Ik 7 25
3005 LOKVI AL L B A F] & X 323 315 10K VIR A 28
3006 LOKVIR AL 26/ & 2= fL S B X 328 400 10KV At 28
3007 10KV Ik 5 28 el bk A A8 357 400 10KV At 28
3008 10K VI 28 00717 i 4F A8 605 630 10KV At 28
3009 10KVIBRER & —H AT 179 200 10K VISR 2%
3010 LOKVIRSR R & R —H AR 188 200 10K VIS 2%
3011 LOKVISR ) =2 A 98 100 10k VI Jif 28
3012 LOKVIRSR &) B — A 200 200 10k VI i 28
3013 10K VIm 28 Sl L1b 3 B 82 100 10k VIl i 28




3014 LOK VA 2k /) 5 i i o A% 43 50 10K VIR A 28
3015 LOKVIRT 262 8 LI & X 834 800 10K VIBURT 2
3016 LOK VIR 26 55 < T2 4% 31 30 L0k VIR T 24
3017 LOKVI AT 2k P77 55 4 A2 418 400 10K VIBAT 2k
3018 10KVIBF 2837 11 & [X 684 800 10K VAR5
3019 LOKVIRRF 2k <5 & 7K | 286 X 530 630 10K VIRAT 2k
3020 10K VIR 2k <5 & 7K ) 186 X 378 400 10K VIRART 2k
3021 LOKVIBURT 26 Fils ) 37 &2 X 392 400 10K VI RF 22
3022 LOKVIBURT 2k 1 & VS F A 643 630 10K VIBAT 2k
3023 LOKVIR T & A 1 7 & X 766 800 10K VIl FF 25
3024 LOKVIURF A% R & X 554 630 10K VIAT 2k
3025 LOKVIR R 25 F AL & X 772 800 10K VIRAT 2k
3026 LOKVEF HE A M FL g 28 w8 AR 8 AR s 4% 640 800 10kVEF H1 28
3027 10KV 3§ 2238 A AT AT HL AR T 4% 135 160 10kV HAEZE
3028 10KV 3§ 2o 5k S BUAN3 A 48 50 10KV & 4 2%
3029 10KV HEE L SR 2 BN A A 87 100 IORYER T #27
3030 10KV JHEE 2R S BN A AR 50 50 10KV EEE 2L
3031 LOKV 452G A A AR 216 200 10KV JHFELL
3032 10KV J i 2 Bl ANT A A% 41 50 10KV JEFELL
3033 10KV JE % 20 A% L SE BEN2 A AL 44 50 10KV E 5L
3034 10KV JH5E 2L R AT BENL A AR 270 315 10KV JHFELL
3035 10KV JH4E 2 2R A% JEN2 A AL 85 100 10KV H#EZ
3036 10KV JE 5 20 A% BN A 4 46 50 10KV JHFELL
3037 10KV B4 28 (1 VT 037 9 08 JEN2 A AR 151 160 10KV E 5L
3038 10KV 528 (I U7 I H0E JENTA AR 341 400 10KV E 5L
3039 10KV JHEE L Uy HA 2 A 17 20 10KV JHFELL
3040 10KV JHEEEZ Uy RN A AR 46 50 10KV H#EZL
3041 10KV JE 5 2 vy RN A 7 104 100 10KV JEFELL
3042 10KV JHEEEZ Uy FARINT A AR 40 50 10kV kL
3043 10KV 4 28 I 4 A A8 358 400 10KV E 5L
3044 10KV #E L hi dE R K A7 262 315 10KV JHFELL
3045 10KV JEEE 2 JH v R AAR 600 630 10kV H#EZ
3046 10KV HEELL T N2 AL 49 50 10kV JHAEZE
3047 10KV EFE L ZE L IHNT AR 47 50 10KV JEFELL
3048 10KV EFE MR Ok 28 A7 84 100 10KV E 5L
3049 LOKVEFE AR O 182 87 100 10KV JHFELL
3050 10KV JHEE LR FAT & 5 AR 44 50 10KV H#EZ




3051 10KV B 2 30 35 A A8 266 315 10KV #2%
3052 10KV JE B 2 s ym] I th 8 A AR 253 315 10KV F5£%
3053 10KV E L TEHE A AR 218 250 10KV & 35 2%
3054 | 10KV JH HHLRAR 23 LR 43 ST FTT A A 7% 138 160 10kVH I 2
3055 10KV H I AR2 S 2R IR 1 AR 277 315 10KV 3 F5 2
3056 10KV E I 2R H2 A AR 172 200 10KV 35 2%
3057 10KV H 2 BHT RN A A 188 200 10KV H F5 £%
3058 10KV B A R BT RINL A A 116 100 10KV fE 34 2
3059 10KV HIG LR H BT A A8 85 100 10KV 35 2%
3060 10KV JHHH 2 /2 /R FING A AR 41 50 10KV 25
3061 10KV E 4 7% /R 352 5 e AR T 3 516 630 10KV # 2%
3062 10KV EH A Z5 /K 315 e L AR s 4% 532 630 10KV Hh 25
3063 LOKV i 3 24 JH V] i 35 4 A% 41 50 10KV 5 25
3064 10KV 3 F 4 5 o o O SCERBUM AR 403 400 10KV #2k
3065 10KV J3 B2 2 fin i s 24 % 48 50 10KV & 35 2%
3066 10KV JHEH 25 A A AR 188 200 10KV 35 2%
3067 10KV JHHh 2 3L 26 R AR 320 400 10kV HH 2%
3068 10kVHE L O LR A 94 100 10KV o ¥ 2
3069 LOKVE A b0 P AL SRS il AR 84 100 10KV i #2k
3070 LOKVE L& a34 6% 85 100 10kVHE L2k
3071 LOKVE L& a8 54 103 100 10KV 111£;
3072 L0KVE L& 146 7% 166 200 10KV 111£;
3073 10kVE L2 13} &8 84 100 10kVAE 111£;
3074 LOKVE &b AR a3 172 200 10KVE 111£;
3075 10KV h 4k FK A 62 91 100 10kVHE L2k
3076 10KV LU 2 KT L & A7 41 50 10KV 111£;
3077 L0kVE L2 KM Z 2 648 46 50 10kVE L2k
3078 10KV h & iE K 673 212 200 10KV 111£;
3079 10kVA L &K IE3 6 AL 52 160 10KV 11128
3080 10kVA 1L k28 & A8 212 400 10KV 111£;
3081 10kVAE L& KIEL1#E AL 212 400 10KV 11125
3082 LOKVE k2t 6% 93 100 10KV 111£;
3083 LOKVE L&A 186 & 84 100 10KV 1128
3084 10KV AT &3 86 100 10KVE 111£;
3085 10KV L2 AR TR I & A7 166 200 10kVE L2k
3086 10kVE ik Hx 6742 84 100 10KV 111£;




3087 10kVE IhZkFEAL &2 81 100 10KV 111£;
3088 10kVE i g7 &4 84 100 10kVE L2k
3089 10KV h 4 DY 2 & 3 98 100 10kVE 111£;
3090 10KV L2 DY Ly ymy 3l & 4% 212 250 10kVE 12
3091 LOKVE th £k =8 &% 85 100 10kVHE L2k
3092 LOKVXU YD 4 U T & X 3AH AL L AL 1097 1250 10KV XL TH 5
3093 10KV 4T & (X 284 AL L A2 1122 1250 10KV D 25
3094 10KV R0 42 0 5 g 1A A% 380 400 10KV b £k
3095 LOKVLYD 26 XU 44 &5 78 150 160 10kVILID £
3096 LOK VLD 2 XU 3t £ A7 169 200 10KV D 25
3097 LOKVXLID £ XUHH 24 15 A8 344 400 10KV VD28
3098 LOK VYD 2 XU 1 # 5 A 192 200 10KV D 25
3099 10KV st b U Sk — 2 18 A AR 67 80 10KV XU 5+ 25
3100 LOKVEUSt & 81 J5 A7 352 400 IURBIE=$57
3101 10KV 25K [ 55 15 5 A A% 367 400 10KV X 5t &
3102 10KVt 26 UM AT A 85 A AR 87 100 10k VX3t 2k
3103 10KV 2 UMAT N2 A AR 171 200 10KV 5t £k
3104 LOKV Bt 2 XA A KA A AR 163 200 10KVRUS £k
3105 10K VAUt 2 AU A = 20 Bk R AK A A8 85 100 10k VX3 2k
3106 LOKVAUS R A =2 NS RIFFAAE 189 200 10KV X 5 &
3107 10KVt TL B A AR 183 200 10KV R 5 £k
3108 10KV AR 2 B 357 B A DY 20 A AR 42 50 10kVF T2k
3109 LOKV-R TR ey 20 A AR 45 50 10kVRIT£5
3110 LOKV-R TR i e iy =20 A A8 41 50 10kVR ¥4k
3111 LOKVAR VT 2B 7 B A — 20 A AR 48 50 10KV T48
3112 LOKVARIT 2 2 AR 2 AA 85 100 10kVR ¥4k
3113 LOKVARIT 2 2 AR — 2 N A4 43 50 10kVF T2k
3114 LOKV-RIT & @A —H E AR 83 100 10kVRIT£5
3115 LOKV-R VT AR FEA P I U RA A 40 50 10kVR 2k
3116 10KVAR VT 28 K RE R DY 2 A AR 83 100 10KV T48
3117 LOKV-RF 4 RMEA —H AR 81 100 10kVR ¥4k
3118 LOKV-RF 4 KRR = H AL 86 100 10kVRT48
3119 10kV-RITER R AT —2H A AR 81 100 10kVRIT£5
3120 LOKV-RF 2k HH g i PO 4H 7R 42 50 10kVR ¥4k
3121 10KV LR P gy —H A AR 80 100 10KV-RT48
3122 LOKVARIFZe P ghidt — 20~ A8 40 50 10kVR ¥4k




3123 LOKVARVF e P ghiAt =20 A8 84 100 10kV-RV2R
3124 10kVRAFZ g —He2 A 45 50 10kVR ¥4k
3125 LOKV-RT & gty —Ha1 A48 87 100 10KV-RYT4&
3126 10kV-R R4 A 4 10 — 2280 A 43 50 10kV-R K2k
3127 10kV-R 2 LAY il — A 188448 43 50 10kV-RJKZL
3128 10kV-R R 1A A3 85 100 10kV-RJRZR
3129 10kVRJRZ 4 1A —H18 A 40 50 10kVFR K2k
3130 10KV-RIRZ & 1A =H A 40 50 10kVF £k
3131 10KV R 2 1L — 28048 163 200 10kV-R 2k
3132 10kV-R L 8 AT —H28 A4 44 50 10kVR 2k
3133 10kV-R L 8 AT —H18 A4 162 200 10kV-R R LR
3134 10KV IR L B IR A =38 A48 84 100 10kV-R KLk
3135 10kV-R L 8 AT —H18 A7 83 100 10kVF £k
3136 10kV-R L 8 A —HA# A4 80 100 10kV-R K2R
3137 10kV-R L 8 A — 38 A4 83 100 10kV-R KLk
3138 10kV-R L 8 A —H18 A4 42 50 10kV-R R LR
3139 10kV-RJRLH R B L A% 82 100 10kVFR K2k
3140 10KV IR Z AR AT BH LA AR 40 50 10KV JE L
3141 10kVRERLH R KA B A 40 50 10kV-R K2k
3142 10KV RZAF R LA AR 41 50 10kVR 2k
3143 10kV-R R H R H7IE A% 104 100 10kV-R R LR
3144 10kVR LR RA R Z A% 40 50 10kVR KLk
3145 10kV-R LA A B =4I A 2 45 50 10kVF £k
3146 10kV-RJRZLH RS HE L =228 02 41 50 10kV-R K2k
3147 L0kV-R LR RS L= 18848 80 100 10kV-R R ZR
3148 10kV-RJRZH RAE B A A2 48 50 10kV-R R LR
3149 L0kVR IR E AT R A T A% 41 50 10kVFR K2k
3150 10kV-R R E A R KRB T A4 41 50 10kVF B2k
3151 10kV-R R H R —H2a A4 86 100 10kV-R K2k
3152 10kV-R LR R —H18 A7 11 50 10kV-RJRZR
3153 10kVAR JIRZ A — 24 % A 47 50 10kV-R R LR
3154 10kV-R R A — 40 A % 42 50 10kVFR K2k
3155 10KV R 2 A — RS2 K A 42 50 10kV-E R LR
3156 10KV S L HAT 28 5 28 43 50 10kV {52
3157 10KV IS L AT 155 22 40 50 10K VIH B 22
3158 10k VIH B 26 KL 2 T8 6 48 167 200 10kV f# 52




3159 10KV B 2 K E &' 68 5 4% 65 50 10kV f# 5 2
3160 10KV #5222 K 2 448 & 42 109 100 10k V#5285
3161 10KV IS 2% 2 K % 38 5 48 107 125 10KV i £
3162 10KV B 26 2 K &' 28 5 48 104 125 10kV {52
3163 10KV IS 2 2 KB 18 6748 160 200 10KV f i 2
3164 10KVIHES 2 40 B 38 5 A8 212 400 10kV f# 5 2
3165 10KV ES L H V8 & 2 64 80 10k V {#B5 28
3166 10kVIE S 2R3 & A% 168 200 10k VI# i 2%
3167 LOKVTH B 2 1 72 58 & A% 40 50 10kV 52
3168 10K VA 2 20 8 T A 70 I AR e 25 212 315 10k V{# AT 28
3169 | TOKVIEHETZ KT B /N 46 A0 e FEL AR T 4% 212 630 10k VI fr 2
3170 | 10KV £ )1 UG bRl Joy AR T AL AR He 4% 212 630 10k VI# AT 28
3171 10KV AR 28 T AR e 4 740 I HL AR e 25 212 630 10k VI fr 2
3172 10KV A 2 52 DA A S TE FEL AR [ 2% 212 400 10KV fr 2
3173 10k VAL 2 WU AR AT A8 e 4 212 630 10k V{# AT 28
3174 10kVTH 2 2 KU & 42 80 100 10kVTE 2 2
3175 10kVIH £ 2 K138 & A48 212 400 10kVIH 2 2
3176 10kVTH 2 Ze K ii2s & 42 212 500 10kVIH 2 2
3177 10kVIH 2 2 KImil18 6 48 212 500 10kVTE 2 2
3178 10kVIH 2 £ BEof 5 28 84 100 10kVIH 2 ¢
3179 10kVIH 2 AR BE 18547 212 250 10kVTE 2 2
3180 10kVIH 2 2 )\ i B 38 & A% 212 400 10kVIH 2 2
3181 10kVTH 2 2 )\ fi 28 6 4% 212 400 10kVTH 2 2
3182 10KV 2 &l £ 648 43 50 10kVTE 2 2
3183 10KV 2 L =K E & 78 80 10kVIH 2 ¢
3184 | 10KV HEZ MR b Joy 4% 8] b Fic FEL AR He % 299 315 10kVH B2k
3185 10k VEG IR 2 Hh L — A AR AR T FL AR He 4% 891 800 10kVH IR ZE
3186 10KV g 12 VEETR] 2 A A 618 630 10KV U 22
3187 10KV AB B2k o7 B W il A A% 418 400 10kVAE B 2k
3188 10KVAL B 2R H rh 2 A AR 220 200 10k VAL ELZ
3189 10KVALE A AR 1 A A 176 200 10kVAE B 2k
3190 10KVAEB 2k TR J/ A4 264 250 10kVAL B
3191 10k VAL IR 57 T A A2 365 400 10kVAL Bk
3192 10kVAE AR E B MR AT 2 22 182 200 10KVAL 2k
3193 10KVAL 72 2 At A AR 142 160 10KVAL 22k
3194 10kVAE AREL PRI 1 284 A2 124 150 10KVAE AR 2k




3195 10KVAEAREL PRI 1 18422 51 50 10KVAE AR 2k
3196 10kVIE RE AR LA 28 A28 164 200 10KVAL 722k
3197 10kVIE AR AR AL TR 1A AL 84 100 10KVAL A% 2k
3198 10k VAL 7o 2 WLBG A S 2 il X A A 783 400 INEWIR57
3199 | 10kVIb ok WE A LA R BT X —H A% 585 315 10kVAb G2k
3200 10KV b T2k B8 P S0 22 BE SR A 342 400 INEIR57
3201 | 10KVALTCL BE MBS L fis = Ff 28 A4 109 125 10kVAb G2k
3202 | 10KVALTCL BE WS L i —Ff 28 A4 983 1000 INEIR57
3203 | 10KVAbTCLBE RIS L i — F 18 A4 227 250 10kVAETcEk
3204 10kVALTTE A AV HTA A AR 223 250 10kVAb G2k
3205 10k Vb o2 % it DU A 2 22 360 400 INEIR57
3206 10kVELIL KD FE N AR 164 200 10k VAL ik 2R
3207 10KVELIE 2B HF RN A A 86 100 10kVALIA 2k
3208 10KVALIE 2B H AINL A AR 43 50 10kVALIA 2
3209 10KVALIE ZiE 4 -F A4 90 100 10kVALIA 2k
3210 | 1OKVALIAZR R A S 20 KA 5 e A AR 41 50 10kVALIA 2k
3211 10kVEL AL AR A A 25 30 10k VAL ik 2R
3212 10kVALIA 2R S 2R JE AT A AR 42 50 10kVALIA 2k
3213 10kVALIA 2 oA (3 2R IA S FE AR 44 50 10kVALIA 2k
3214 10kVALIA 2R SRR KA A AR 25 30 10k VAL 2R
3215 10kVALIA AR S 2k H B FR A A 25 30 10kVALIA 2k
3216 10kVALIA 2R S 2RI JE A AR 25 30 10k VL ik 2R
3217 10kVALIA ZoR TS 2k IE AT A AR 66 80 10kVALIA 2k
3218 10KVALIE 2 S RINS A A 41 50 10kVALIA 2k
3219 10KVALIE 2 /R SCRIN2 A AR 161 200 10k VAL Ik 25
3220 10KVALIE 2 SCRINT A A 165 200 10kVALIA 2k
3221 10kVALIE 2 A0 i £ BURMN2 & A8 91 100 10k VAL ik 2R
3222 10k VALK 25 B 2 BURNL A AR 85 100 10kVALIA 2k
3223 10KVALIE 2T AT A AR 82 100 10kVALIA 2k
3224 10K VAR 73 2700 A8 el R AR BT AL [ 4 365 400 10kVA 2 2k
3225 10K VAR A e 28 ARl = AR AR T L AR s 4% 391 400 10k VAR 528
3226 | 10KVARA L UFidE H b A AL TE FEL AR He % 358 400 10kVA 2 2k
3227 10k VA A 2 LA Jim 7 7 AR TE FEL AR 1 2 425 400 10kVA A 2k
3228 10k VA 25 28 ¥ e OBAH A8 it LA [ 7% 338 400 10kVA A 2k
3229 10KV A& 73 2832 Bt 10B47 A48 it B A% T 4% 380 400 10kVA 2 2k
3230 | 1OKVARAF 2RSS 0 8BAH AL L FL AR [ % 369 400 10k VAR 528




3231 | 1OKVASA LS5 ot LHAR AR C HL AR e 4% 425 1000 10kVA 2 2k
3232 10k VAR 7 2 4y ) L el 4 28 37 48 s 4% 425 630 10kVAR 75 25
3233 10KV A A 2 R i AR AR TiC L AR S 4% 416 400 10kVA A 2
3234 10KVAR B L IlAs A 7] 5 22 328 400 10kVA A 2k
3235 10k VA 7% 24 [F B A AL T L AR e 4 425 630 10k VAR 75 25
3236 10KVAR AR 20 75 HE A A ACTE FELA [ 2% 425 630 10kVA A 2k
3237 L1OKV AR 73 28 B 23 ) i A1 7R TiC FL AR TR 4 425 400 10kV A4 25
3238 10K VAR A 2 28 2 DA AR AR TiC FL A s 4% 385 400 10kVA A 2
3239 10KV o7, B 2K BT A B A A2 S 11 41 50 10k Ve 2L
3240 10kV 58, FLZR BT AT A A AR S 11 83 100 10kV g Bi 4k
3241 10kV o HE A R 2 33 A A48S11 445 400 10kV e 2L
3242 10kVyE FEA R £ 28 A A48S 11 358 400 10KV b B¢
3243 10kV g BELR B 5 £ 1#A45S 11 181 200 10KV 37 B 2%
3244 10kVHE B 28 ZRAEAS 38 A AES 11 85 100 10k Ve 2L
3245 10kVyE B 28 ZRAEAS 28 A A8S 11 216 200 10KV o5 HE2%
3246 10kVyE B 2L ZRAEAS 1# A AES 11 163 200 10kV e 2L
3247 10KV o7 AR J&) AR 24 30 10kV o B 2R
3248 10KV 5L FEZR J& 4h Ji 22 48 S9 68 80 10k Vo5 HE2%
3249 10KV 58 2555 i 3# 2 22 S9 183 200 10k Ve 2L
3250 10kV 7 B 28 <F i 2# A2 S 11 45 50 10kV 77 L
3251 10kV 5 28 T B 32H 38 A A8 S11 81 100 10kV e 2L
3252 10kV o7 B 28 5 il 24 28 A S 11 91 100 10kV o B 2R
3253 10KV 5 BE 28 5 i 220 1# A A8 S 11 41 50 10KV 37 B 2%
3254 10kV o 2L br AL 141 A A8S 11 83 100 10k Ve 2L
3255 10kVIEAH 2R T i Z A A ST 42 50 10kVIEgh 2k
3256 10kVIE AL T VR AT 28 A A2 40 50 10kV 42k
3257 10kVIE N 5B AAEST1 89 100 10KV 5 444k
3258 10KV 5 gH 2 i 5 A A AES11 84 100 10kV e gh 2k
3259 10kVFEANLZE R A A AES 11 135 160 10kVIE g Zk
3260 10KV FE A 2R (A A2 S11 88 100 10kV e gh £k
3261 10kVEEANZE K D A A AEST1 44 50 10kV 42k
3262 10KV IE g Z i 9h 2 B R AAEST L 54 50 10k Vo 442k
3263 10KV FL AR AHE Y AT AAESTL 129 160 10kV 5T 4k
3264 10kVIE AN ZA% 1 A 220 A AES1 41 50 10kVIE 42k
3265 10kVEEANZRA% Y AT 1#AAEST1 11 50 10kVIEgh 2k
3266 10kV e I LRARAT A 420 A AES11 78 80 10kV 42k




3267 10kVIEANE T )\ & £ AAEST1 222 200 10kV 342k
3268 10kVEE g2k b\ FEBUR A LS9 405 400 10kVrE g2k
3269 10kVyE H &k &42 49 50 10kV 5, H £&
3270 10kVE H £ H T AT #5 5 42 329 400 10kVye H 28
3271 10kVE H £ H TAf#4 &5 42 84 100 10kVe H £k
3272 10kV3E H £ H T At #2 &5 42 9 10 10kVre H 2k
3273 10kVE H 2 HrAf#1 6 42 65 80 10kVe H £k
3274 10KV e H 4 & m Bk k#3648 44 50 10kV 7 H &
3275 10kV o H 2 & o ks At 42 648 41 50 10kVre H 28
3276 10kV o H 2k B sn ke pT#1 6748 44 50 10kV7E H £k
3277 10kVyE H £ 75 R #7 5 42 54 50 10kVyE H £k
3278 10kVE H 25 75 hudf#6 5 42 42 50 10kVe H £k
3279 10kVyE HZ&F R AT #5642 65 80 10kV 5, H £&
3280 10kVE H 275 fipf#4 542 42 50 10kVye H 2k
3281 10kVyE H 235 i #3 65 42 41 50 10kVe H £k
3282 10kVyE H 275 it #2 5 42 40 50 10kVre H 2k
3283 10kVyE H 255 hidf#1 648 41 50 10kVe H £k
3284 10kVIE 2 & FEA 9 # 63 44 50 10kVIE £ 2
3285 10kVE £ R A8 5 A2 41 50 10kVrE 2 28
3286 10kVIE 2 & FEH T H# 63 42 50 10kVIE £ £
3287 10kVIE 2 & faFEht6 # 53 45 50 10kV3E 2 &
3288 10kVIE 2 & A5 # 63 41 50 10kVIE £ £
3289 10kVIE 2 Al iEhT4 # 63 41 50 10kVIE £ 2
3290 10kVIE 2 &3R8 # 53 43 50 10kVTE 2 28
3291 10kVIE 2 &t iEhf2 # 53 43 50 10kVIE £ £
3292 10kVIE 2 &A1 # 63 42 50 10kV3E 2 &
3293 10kVE 2 Tt 14 # 642 67 80 10kV3E 2 28
3294 10kVIE 2 et 124 642 41 50 10kVIE £ 2
3295 10kVIE 2 2 fEAt 11 # 6748 41 50 10kVyE £ 28
3296 10kVyE 2 TR 108 5748 40 50 10kVIE £ £
3297 10kVyT 2 2 L7 i3 6 42 41 50 10kV3E 2 &
3298 10kVIE 2 A iE-FRi2 # 63 65 50 10kVHL £ 4
3299 10kVIE 2 A FE-FRi L # 63 170 200 10kV 3 £ 25
3300 10kV3E 2 £ 75 55 K <5 i 5 22 188 200 10kVTE 2 28
3301 10kVFE 2 2k PH T3 16 # 673 60 50 10kVIE £ £
3302 10kVE 2 kP T35 # 63 45 50 10kV3E 2 &




3303 10kVE 2 2k PE T34 # 62 40 50 10kV3E 2 &
3304 10kVyE 2 2k T3 # 6 47 50 10kVIE £ £
3305 10kVIE 2 e 5 M2 # 6748 41 50 10kV g £ £&
3306 10kVE 2 kP T3 1 # 538 47 50 10kVrE 2 28
3307 10kVoe £ 2k 5 su i pI 88 & A8 43 50 10kV7E 2 2%
3308 10kVyE 2 28 w R T8 6 42 42 50 10kV3E 2 &
3309 10kVyE £ 25 o He A6 6 48 44 50 10kVoe £ 2k
3310 10KV L 2 48 Bk kbR 6 4 40 50 10kV g £ £&
3311 10kVIE 2 28 o FE AT 48 6 48 42 50 10kVrE 2 28
3312 10kV 5 £ 2k FALRT 2 BURT 6748 240 250 10kV3E 2 28
3313 10kVIE 2 4 EALRT 2 i 648 256 315 10kVIE 2 2
3314 10K VAT B 28 REACSENA A A8 193 200 10KV HE 22
3315 10KV B 4 21 B2 L HE AR ST Bt A A8 302 315 10KV HE £k
3316 10KV RIS 2 21 F2 #H B R S BEN3 A AR 275 315 10k VAR BB 2k
3317 10KV RS 2 21 2 B RS AR ST BEN2 A AR 98 100 10KV HE 22
3318 10KV Ak BR 2R 41 B2 f ] e A AR 176 200 10k VAR BE 2k
3319 10k VA BR 2 41 22 SR B A NS AR 84 100 10k VA HE 28
3320 10KV HE 4 21 2 0] B R NA A AR 84 100 10k VA HE £k
3321 10KV RIS 2 21 B B8] B AINS A AR 86 100 10k VAR BB £k
3322 10k VA RIS 2 21 22 £ ' AIN2 A AR 84 100 10k VA HE 28
3323 10kVHE RE £ 41 B 4147 7) 8 AR 86 100 10k VAR BE 2k
3324 LOKVHE BE 4 21 2 44T 7) ZEN2 A AR 163 200 10KV HE 22
3325 10KV RE £ 21 B i Ml R A NA & A 353 400 10k VA HE £k
3326 10K VAR BR 28 21 B2 4 ] R AN &5 748 345 400 10k VAR BB £k
3327 10KV RIS 2 21 J2 45 1] FO AT N2 A AR 308 315 10k VA ER 28
3328 10KV RIS 2 21 J2 48 1] R AINT 5 748 332 400 10k VAR BE 2k
3329 10KV RIS 2 21 F B IR R AN A AR 92 100 10k VA HE 28
3330 1OKVHE BE R 21 2 R RAIN2 A AR 182 200 10KV HE £k
3331 10KV B 2 21 B LR RAINL AR 169 200 10k VAR BB £k
3332 10k VAR BR 2R 41 2 L FE 7k 28 6 728 41 50 10k VA HE 28
3333 10K VAR Bl 2 21 B2 LA /R F A AR 166 200 10k VAR EE 2k
3334 10KV BE A 75 8 A AR 168 200 10k VA HE 22
3335 10KV B 2% B e AN2 A AR 96 100 10KV HR 2%
3336 1OKVHR AL R Fe A AR 86 100 10kVH A Z
3337 10KV 4L 2 B e 38 AR 42 50 10KV Lk
3338 10KV AL B 3L 2 Bl D FE A AR 82 100 10k VA #v 2k




3339 LOKVAR P 3L 2 HTIA TR A AR 43 50 10k VA #A Lk
3340 LOKVER VAL PR HL 2 H RN A T A% 86 100 10KV # 2k
3341 LOKVAR P 3L 2 #6 35 FR A AR 43 50 10KV # 2k
3342 LOKVAR A 3L 2 Je W\ FE A AR 43 50 10k VAL
3343 10KVERIAZL B3l 2 1B . A AR 27 30 10KV # 2k
3344 LOKVAR P 3L 2 AR FE A AR 28 30 10k VAL
3345 LOKVER A B L 2 K/ 5 R JE A AR 42 50 10KV # 2k
3346 1OkVEFAZ L 2 N IRBURNTA AR 183 200 10KV #v
3347 LOKVAR A 3L 2 T 2 FE A AR 41 50 10k VAL
3348 10KV A L 2 B e A AR 26 30 10KV # 2k
3349 LOKVIR LR PR L & LB IR AR 26 30 10k VA #A 2k
3350 LOKVARR PR BT ik 28 A A 25 30 10KV # 2k
3351 1OKVERFAZRIE 4 F- AN AR 46 50 10KV #v
3352 10KV FA LR 2 0k AR 52 50 10k VAL
3353 10KV LR 41 B AL & AT 43 50 10KV AR FAZL
3354 LOKVHR A 21 B A IS B AN I R A A 82 100 10k VA #A 2k
3355 10KV LR 21 R SIS F A2 A AR 88 100 10KV # 2k
3356 10KV IR 21 B B AT ZE A A8 48 50 10KV FAZL
3357 LOKVAR AR 2T B 1 IR IR AR 91 100 1OKVHE # L
3358 LOKVHR A 21 B 4 B AR R IEN2 A AR 122 100 10KV AR FAZL
3359 1OKVHER AL 245 SENT A AR 19 20 10k VA #A 2k
3360 10KV P2k A% S Bt A8 86 100 10KV # 2k
3361 10KV T £ 8 A% 25 30 10KV 2L
3362 LOKVHR LR I SR S 28 2 HE 2 4 2R A 83 100 10k VAL
3363 10KVHER ALK 5 AR I 28 A AR 25 30 10KV # 2k
3364 LOKVARR P A SR 5 A A3 44 50 10k VA #A 2k
3365 LOKVARR P SR 5 4 T 1) F8 A AR 82 100 10KV # 2k
3366 LOKVARR P s 5 1 B2 e FE A AR 26 30 10KV # 2k
3367 LOKVAR A7 28 A% 28 30 1OKVHE # L
3368 1OKVHERFAZE e AT A AR 231 200 10KV # 2k
3369 10KV P2k e FIN3 A 4 328 315 10k VA ALk
3370 1OKVHR LR FE B AIN2 A AR 340 400 10KV # 2k
3371 10KV P2k BE i <5 Be A8 91 100 10k VA #A Lk
3372 10KV AR LR BE I RINT A A5 171 200 10k VAL
3373 10K VAT R 2k BE I AN3 A AR 327 315 10KV # 2k
3374 10KV R 2R B N T A 48 165 200 10k VA #A Lk




3375 LOKVERFAZL 15 TESF B A AR 84 100 10k VA #A Lk
3376 LOKVER AL N 2R R A AR 83 100 10KV # 2k
3377 LOKVHERHI 2 & AINT A A7 168 200 10k VA2
3378 LOKVHRH 2 & AIN6 A A2 167 200 10k V&2
3379 1OKVHR 231 B AN A AR 160 200 10k V12
3380 10KVHERHI 2L B AING A A 88 100 10KV 2
3381 10K VAR e 2 78 PE A A IR s s A A 166 200 10k VA& ¥ 2k
3382 10K VAR Je 2 % it A 8# 4 22 42 50 10k VAR e 2k
3383 10KVAR Je 2 5 it A 784 22 164 200 10kVAR e 2k
3384 10KV Je 2 2 i A 68 A 22 162 200 10k VA& ¥ 2k
3385 10K VAR Je 2 % it A 58 4 22 40 50 10kVAR ek
3386 10KV Je 2 2 A 48 A A2 43 50 10k VA& ¥ 2k
3387 10K VAR Je 2 % it A 38 4 22 44 50 10kVAR e 2k
3388 10K VAR Je 2 5 it A 28 4 22 40 50 10kVAR e 2k
3389 10KV Je 2 2 A 1# A 22 11 50 10k VA& ¥ 2k
3390 10KV B2k 8 50 5 A AR 164 200 10kVAR e 2k
3391 10KV Je 2B AR A 5# A AR 71 80 10k VA& ¥ 2k
3392 10KV R 2 B AT 48 2 A 81 100 10k VAR e 2k
3393 10KV 2 5 R 38 A A8 81 100 10kVAR e 2k
3394 10KV Je 2B AR A 28 A 22 11 50 10k VA& ¥ 2k
3395 10KV S 2 B AT 18448 41 50 10kVAR e 2k
3396 10KV e 2R e AT os A AR 40 50 10k VA& ¥ 2k
3397 10KV 2~ AT 88 A AZ 24 30 10kVAR e 2k
3398 10KV B2~ A T8 A A 41 50 10kVAR e 2k
3399 10KV e 2R e ft6a A48 49 50 10k VA& ¥ 2k
3400 10kVAR Je 2k R e Af 158438 320 400 10kVAR e 2k
3401 LOKVAR JE 2k R e pf 148828 329 400 10k VA& ¥ 2k
3402 10kVIK e 2~ JeAT 138438 41 50 10k VK 82k
3403 10KV Je 2k R Jepf 128838 40 50 10kVAR e 2k
3404 10kVIK e 2R AT 118438 42 50 10KVAK e 4k
3405 10kVAR JE 2k R A 108438 40 50 10k VAR e 2k
3406 10KV e 2R oAt 18448 40 50 10k VA& ¥ 2k
3407 LOKVAK T 2 SR Al 5 48 405 500 10k VAR T 2
3408 10K VAR 7 22338 5 Ao 5 748 41 50 10k VAR 7 24
3409 LOKVAK o 23 i Ay sa & A48 81 100 10k VA& 1 2k
3410 10KVAR y 3 A 78 5 A2 50 50 10kVAK 7 24




3411 10K VAR 7 23 7 A 64 5 42 40 50 10k VAR 7 2
3412 LOKVAK o 23 i Ay b8 & A8 42 50 10k VA& ¥ 2k
3413 10KV T 233 5 A48 6 42 40 50 10k VAR i 2
3414 10K VAR 7 22338 5 ) 38 5 42 42 50 10k VAR 1 ¢
3415 10KVAK 7 3 5 A 24 5 42 44 50 10k VA& ¥ 2k
3416 L0KVAK 7 23 5 A 18 65 42 40 50 10kVAK 7 24
3417 10KVAK 7 2B KA 8# A AR 40 50 10k VA& ¥ 2k
3418 10KV 2 B AR T8 A A 41 50 10k VAR T 2
3419 10KVAK 7 2B AR AT 68 A 22 144 160 10kVAK 7 24
3420 LOKVAR oy 2 E AR A 10842 38 40 50 10k VAR 1t 2k
3421 10kVIK 7 B R AT 9R 5 42 42 50 10k VAR 7 2
3422 10KV it 28 RAY8# 6 A2 40 50 10k VAR ¥ 2k
3423 L0KVIK i 2z R A T8 642 40 50 10k VAR i 24
3424 10kVIK 7 B R AT 68 A 22 40 50 10k VAR i 24
3425 10KVAK 7 M8 RAS5# A AR 11 50 10k VAR 1t 2k
3426 10KVAK 7 B R A48 A 22 24 30 10kVAK 7 24
3427 10KV 7 8 RAS 38 A A2 40 50 10k VA& ¥ 2k
3428 10KV 2z R A28 A A8 42 50 10k VAR i 24
3429 10KV 2k 2 R A 108638 40 50 10kVAK 7 24
3430 LOKVIK & 2B RATR1I AR 66 80 10k VA& ¥t 2k
3431 10KV 7 28 12538 HE A 25 41 50 10kVAK 7 24
3432 10KV IT 2 55 1L VY20 A AR 49 50 10kv P T 2%
3433 1OKVIUT 255 1L — 2 AR 48 50 10k v F5 T 2%
3434 10KV UT 2R AT A — 2 A AR 94 100 10kv P T 2k
3435 10KV U 2 g Vr] Pk 47y A A% 46 50 10kv 7 T 2%
3436 10KV UT 2 V] /N 2 A AR 87 100 10kv UL 25
3437 10KV P U 2 Ve 1) 45 — 20 A AR 25 30 10kvFH T 2%
3438 10KVIRHT 2 7] 2 W16 =2 A AR 84 100 10kv 7 0L £k
3439 10KV AT 2 VR 2 BURN A AR 369 400 10kv P T 2k
3440 10KV ¥ ML 2R P ¥RT 0o 12 4 A8 67 80 10kv P HT 2%
3441 LOKV P U 2k 9 SLIR] A AR 29 30 10kv P T 2k
3442 10KV ARZ S LA T A AR 116 100 10kv A 2k
3443 10KV ARZ S 1L =2 A4 112 100 10kv AL
3444 10KV AR R =2 A% 46 50 10kvF AR
3445 10KV AR R — 2 A2 43 50 10k AL
3446 10KV ARZ AT A B A AR 25 30 10kvF AR




3447 10KV AR ZAIR K IKVE A AR 24 30 10kv A2k
3448 LOKVPI AR Ze /NEHE M Sk A7 43 50 10kv i AR
3449 10KV A2 AR 38 BPE A AR 81 100 10kvI A2
3450 10KV AR LR A — 2 A AR 88 100 10kv ALk
3451 10KV ARZ R R — 2 A AR 325 400 10kv i AR
3452 10KV AR LR AT AR 1 A7 30 30 10kv A2k
3453 LOKV P A 2 P Vr] AR A AR 167 200 10kv I AR
3454 | 10KV AL I HI A —H A 0H 64 163 200 10kv F A £%
3455 10KV 5 4 Ty R 1K A A% 53 50 10KV b5 2k
3456 10KV 5 2k e A — H AR 46 50 10KV 57 £&
3457 10KV 5 26 1 R PP A A 86 100 10k Vb5 2k
3458 10KV 35 Ze i 377 DU 4H A% 82 100 10KV 37 2%
3459 10KV 3 &3 4 A% 40 50 10KV 5 35 £&
3460 10KV 55 2k i 35 = 2 X8 5 1L A AR 41 50 10KV b5 2k
3461 10KV H5 2 ¥ — 21 5 08 A AR 83 100 10KV b5 2k
3462 LOKV P 5 2t 35 — U E AL A AR 88 100 10KV 37 4%
3463 10KV 5 2k 52 40198 A A% 84 100 10KV 37 £&
3464 1OV 37 £k 52 /N A AR 25 30 10KV 157 £&
3465 10KV 8 K I A AR 87 100 10KV b5 2k
3466 10KV 3 2 R 58— 2 A AR 65 80 10KV b5 2k
3467 10KV 55 2 157 2 7% BB A A2 44 50 10k Vb5 2k
3468 10KV 7 k802 /A 43 50 10KV 37 48
3469 10kV & £ = i A 38 40 50 10kV & &
3470 10KV N & 4 G A AR 46 50 10kV FE 2k
3471 10KV & 2 5 0 A AR 82 100 10kV FE 2k
3472 10kV N & L& LA 40 50 10kV FE 2k
3473 10KV N E LB K BT AL 44 50 10KV N &£k
3474 10KV & W35 5 AR 24 30 10kV & &
3475 10KV & 2B HL A AR 30 30 10kV FE 2k
3476 10kV N ELZEK BRI AL 41 50 10KV N 25
3477 10KV R ELEE —HAKE 173 200 10kV & 2k
3478 10KV M E & EE = H28 A% 81 100 10kV & £
3479 10KV M E&LEE = H1s A% 81 100 10kV N & £
3480 LOKV N B 488 — U [ A A8 95 100 10kV FE 2k
3481 10KV NE&EE —HAE 281 315 10kV FE 2k
3482 10kV M ELH K b7 AL 81 100 10kV FE 2k




3483 10KV R EAH RGN 41 50 10kV FE 2k
3484 10KV R E 2 H I A% 41 50 10KV N &£k
3485 10kV & & [ 2 A% 83 100 10kV N & £
3486 10KV 5 Zefif [ = H A 7% 43 50 10kV FE 2k
3487 10KV & 2 [l — 2 A AR 65 80 10kV & £
3488 10KV FELEXBA A 90 100 10KV N E 4
3489 10KV N E 2z tbi — A4 42 50 10KV N &£k
3490 10KV N E Azt i — 1 A4 43 50 10KV N & &
3491 10kV N EAR] N X A% 164 200 10kV FE 2k
3492 10KV N E AT P AL 85 100 10kV FE 2k
3493 10KV & 4 S At A% 48 50 10kV FE 2k
3494 10KV N EZCK VYA AR 85 100 10KV N E 2R
3495 10kV R & 2 R A A 42 50 10kV R & 2%
3496 10KV R E 2 RB =H A8 46 50 10kV FE 2k
3497 10KV M EZRB— AL 26 30 10kV FE 2k
3498 10KV 5 2 [ 4= 24 w] 46748 259 315 10kV FE 2k
3499 10KV T & 2 H7 7 RGBT A AR 17 20 10kV &2k
3500 10kV & & HrPU2H A2 42 50 10KV N 25
3501 10KV N E 2N i — 2 A AR 44 50 10kV FE 2k
3502 10KV N E 2N i =20 A AR 43 50 10kV & £
3503 10KV & &M i =4 A7 82 100 10KV N E 4
3504 10KV 5 2 f— H A A8 26 30 10KV N E 28
3505 10KV R & XU 2 A AR 90 100 10kV N & £
3506 10kV M E L E RIS AL 42 50 10kV FE 2k
3507 10kV & LK I AL 43 50 10kV & £
3508 10kV B ¥ K BiF A48 80 100 10kV FE 2k
3509 10KV & 2k 2211 U H A AR 51 50 10KV N &£k
3510 10kV FE & 221 AH AR 44 50 10KV N 25
3511 10kV R & 2k 2211 = H A AR 41 50 10kV FE 2k
3512 10kV R E & 221 —HAR 41 50 10kV & £
3513 10KV R E 2 2 58 A% 26 30 10kV & 2k
3514 10KV R E L AL —HAE 25 30 10KV N E £k
3515 10KV FE LA B =ZH AL 25 30 10KV N 25
3516 10KV FE LA B —HAE 41 50 10kV FE 2k
3517 10KV N E 2 AT ZK A AR 40 50 10kV & £
3518 10KV & 2 T LA A 42 50 10kV FE 2k




3519 10kV & & —HAE 42 50 10kV FE 2k
3520 10KV R E S T HliKub A48 1 81 100 10kV & £
3521 10KV T 7 Ze bk /2 28 A3 50 50 10KV N A5 5
3522 10KV T 78 e i J 1 A 3% 82 100 10kV 2k
3523 10KV 7= 2 78 J2 VB A% 43 50 10kV 45 25
3524 10kV R 2 HE AR 84 100 10kV 2k
3525 10KV T 7 Zeik H /K A7 45 50 10KV N A 4%
3526 10kV A g 1A AR 93 100 10kV T %5 &
3527 10KV F = & KE 1 A7 81 100 10kV 2k
3528 10KV Rk XK & A% 171 200 10kV R 2k
3529 10kV R LN R TLE XA 86 100 10kV 2k
3530 10KV R 7 2k KK VA DU H A 7R 85 100 10KV N A 2%
3531 10KV I 7 2k KKvE FLH AR 42 50 10KV N A5 5
3532 10KV R 78 2 KKE —H AR 87 100 10kV 2k
3533 10KV T % 2k KIKVE = H A7 66 80 10kV 45 £&
3534 10KV R 78 2k KIKiE — H AR 133 160 10kV 2k
3535 10KV T 7 2 J3 S LA AR 85 100 10KV N A 4%
3536 10KV N AEZ N ) A A4 149 160 10KV~ A2 45
3537 10kV R 2N &) YA AR 42 50 10kV 2k
3538 10kV I REZ NG 2 BUN AL 143 160 10kV 2k
3539 10kV =Lk 3HE M A2 512 630 10kV=HE4k
3540 10kV =B ZE#7 A D20 & 4% 165 200 10kV=HiZg
3541 10KV = FER M = H 5748 128 160 10kV=#14k
3542 10KV =2 A =228 548 506 630 10kV=Hi4k
3543 10KV = Figh BibE — 4118 B 48 542 630 10kV =iz
3544 10kV =L RIPE — 20 #7128 5 A8 345 400 10kV=HE4k
3545 10KV =FEBEE —H 1L E AR 46 50 10kV=HiZg
3546 10kV = B4R BdF = 2H o8 4 AF 172 200 10kV =22
3547 10KV =FE B bE—H 578 334 400 10kV=HE4k
3548 10KV =R X ZKIF G 269 315 10kV =iz
3549 10KV =K P28 548 252 315 10KV =22k
3550 10KV =2 %' 58 % 1 AR 325 400 10kV=HiZg
3551 10kV =B REMTE28# 5 4 375 400 10kV = %14k
3552 10kV =B REMTE 1#E AL 447 500 10kV =114k
3553 10kV=H 2 B X PP 2 B X 48 346 400 10kV=HiZg
3554 10KV =FEZ IR PUAH & 748 375 400 10kV=HE4k




3555 10kV =2 20 1L R DY 2H 38 5 A8 170 200 10kV=HE4k
3556 10kV =2 2011 A — 228 578 86 100 10kV=HiZg
3557 10kV =B 2RI — 28 548 183 200 10kV = #E £
3558 10kV =B 20 1M — 186748 141 160 10kV=Hi4k
3559 10KV =FE 2RI DY 28 5748 334 400 10KV = B2k
3560 10KV=FE4 201 —H 6748 174 200 10KV =i £k
3561 10kV =2 g e AR X 548 222 250 10kV=HiZg
3562 10kV=F8 2k Ty ik £ 3 360 500 10kV =F4 45
3563 10kV=F8 4k 1 rh #2108 360 1250 10kV =2k
3564 10kV=F8 2k ) R #1704 360 800 10kV=H £
3565 10KV =R L 25k T A A% 349 400 10kV=F4 45
3566 10KV=B & TR AL 360 630 10kV = £k
3567 10kV =B R AR 1A AR 360 800 10kV=F 2%
3568 10KV=F8 24k HAT I A% 360 630 10kV = £k
3569 LOKV=R 2 s A48 360 1250 10kV=H £
3570 10KV=R 2 s B A7 360 400 10kV =F4 45
3571 10KV =% 2 JH AR 1 = ic A% 360 630 10kV=F £
3572 10KV =R & 1/ A% 360 800 10kV =5 £;
3573 10KV =R 2 B A Ful A AR 160 200 10kV =2k
3574 10KV =R A I 42 360 630 10kV = £k
3575 10KV =F 2 rprt I b L AR 360 630 10kV =F4 45
3576 10KV =4 4 ik /R B a2 A A7 360 800 10KV =42k
3577 10KV =45 2k i 0 K JH 205 A% 360 800 10KV =4 &
3578 10KV =2 i K S 185748 360 630 10kV =12k
3579 LOKV =M A LA 18 A 360 500 10kV =4k 2k
3580 IURERVE ¥ 2 43 50 10KV =H £k
3581 LOKV =42k BRAtL b5 A% 360 1250 10KV =42k
3582 10kV =42k KRR 2 Va#1T AR 360 800 10kV =42k
3583 10kV =i 2k 414514748 360 1000 10KV =H £k
3584 10KV =2 B 454738 A AR 360 630 10KV =42k
3585 10KV =40 2k Bl g 28 a4 360 630 10kV =42k
3586 10KV =R ZH A A 7] A4 360 630 10kV =2k
3587 10KV =R ZIA 5 i A8 360 630 10kV =y £k
3588 10KV =R AT B 2 6 48 175 200 10kV =14k
3589 10KV =R 2L PR B 1A 161 200 10KV =54k
3590 10KV =0 AR #1648 360 400 10kV =14k




3591 10KV =R ARG X 638 360 630 10KV =525
3592 10KV =2 VL BE A AR 360 630 10kV =2k
3593 10kV =528 LB A AR 360 630 10kV =2k
3594 10KV =R 2k 5% R JE A 7R 355 400 10kV =14k
3595 10KV =2 BRI A AR 360 800 10KV =52k
3596 10KV =02 H i 6 48 360 800 10KV =525
3597 10KV =12 a4 548 360 800 10kV =2k
3598 10KV =025 A 642 360 630 10KV =925
3599 10kV=AEE Dy /R e ) A m) B A7 327 400 10kV=3T.28
3600 10kV =YL& i A AL 360 500 10kV =T £k
3601 10KV =VLZ /R HETT 3 A48 360 630 10KV =918
3602 10KV =YL 2R /R HE =20 A AR 360 630 10kV =9T.£k
3603 10kV = B2 BT AT A N EE AR AR 541 630 10kV = 2%
3604 10KV =2k A — 286748 322 400 10kV = 2k
3605 10KV =B A — 186 7% 202 250 10KV = & £&
3606 10KV =Bk =T HTIE A AE 406 400 10kV=J 2k
3607 10kV =B 2k =T BURF A48 370 315 10kV = 2k
3608 10KV =Bk = VT/NEFE A 445 400 10KV = Jf £&
3609 10kV =Bk =V TAE B fe AR 93 100 10KV = Ji5 £&
3610 10kV = LR XS 53 3 — 41 5 A5 80 100 10KV = 2
3611 10KV = B 28 X3 58 3 — 41 5 A% 160 200 10kV = 2%
3612 10KV =I5 2 5 110 6 7% 80 100 10kV = & £&
3613 10KV = Ji 2RI A = 4H & 48 342 400 10KV = J3 £&
3614 10KV = 2 R =228 548 161 200 10KV = Ji5 £&
3615 10KV =i 2T U 68 & A% 385 400 10kV =2k
3616 10KV =i e 91U 4H & 48 178 200 10kV =% £&
3617 10KV =i 26 i B DU 4H 748 80 100 10kV = 2k
3618 10KV= A = 548 80 100 10KV = Ji5 £&
3619 10KV= 2w — 548 160 200 10kV = 2k
3620 10KV =N Ze 3 — R A% 360 800 10kV =Ml £k
3621 10KV = H 27K 55 Jmy A AR 360 800 10KV =M1 5
3622 10KV =N e M = e #3474 360 800 10KV =1 £k
3623 10KV =524 Oy HL A28 360 1000 10kV = 52£%
3624 10KV=24 R B AR 360 1250 10kV =524k
3625 10KV = 522 g = g B A7 360 630 10kV =522k
3626 10kV =22 BUE KA 360 1250 10kV =524k




3627 10KV = 5226 Bedl i 1 A A7 360 500 10kV =22k
3628 10KV =24 AN K LA 360 1000 10kV =422k
3629 10KV =Z MR R A48 360 800 10kV =22k
3630 10KV =240 RIEUR A 78 360 800 10kV =524k
3631 10KV =24 520 A% 360 1250 10kV =522k
3632 10KV = Z A MR/RTE TLAH#2 A AR 360 800 10kV =522k
3633 10KV = S22 /R HE TLZH# 1 A A 360 400 10kV =422k
3634 10KV =AY AR A A8 360 1250 10kV =312k
3635 10KV R 2 H B AR H vl A A8 172 200 10KV AE 25
3636 LOKV B T 2 5 = B /)N [X 46 A2 849 1000 10KV R 5
3637 LOKVELK 2D hi 8 A% 88 100 10KVEH KL
3638 10KV J& e 18 2t 4ih 4 3 A A8 86 100 10K VIA 2k
3639 10KV ik S 2R3 24 /N 4 A 212 200 10kVik e 2
3640 10KVIE R 2B 2 BUN A AL 373 400 10kVik Je 2k
3641 10KV e 2 18 24— ZH R < A A2 87 80 10K VIA 2k
3642 10KVIE e 2R fHFL 4 A AF 41 50 10kVik e 2
3643 LOKVIA R HIL — & F A% 25 30 10K VIA 2k
3644 10KVIE e LR AL — A AF 83 100 10kVik e 2
3645 10KVIk Je 2R L — 7 5 A AR 133 160 10kVik e 2
3646 10KVIE R 2 1 soht — 2 A AR 107 125 10KVIA 2k
3647 1OKVIE e 4 1 5ht = H AR IR FE A AR 165 200 10k Vik 32 5
3648 10KV e 2 i 7R DY 2 12 1L A AR 84 100 10K VIA £k
3649 10KV Je 263 7K A 20 2= Zim Il AR 180 200 10kVik ¢ £&
3650 10KVIE e A KA — AR IR AR 344 400 10k Vik 32 5
3651 10KV J& 2 i /KA = H AR 357 400 10K VIA £k
3652 10KV ik Je 2k 2 4 = 4H A A5 167 200 10kVik e 2
3653 10KVik e 2 e s — —H AL 155 160 10K VIA 2k
3654 LOKV L 22 R BT L S A2 A AR 40 50 10KV 5 27 £
3655 10KV B2 22 28 3 52 - M1 A AR 54 50 10KV 5 27 £
3656 10KV5L 22 2R ve. A AR 171 200 10kVHL 22 2k
3657 LOKVE IS4 58 i i A A% 82 100 10KV H #5425
3658 10KV E 15 £ 4 18 A A8 8 10 10KV H 1525
3659 10KVE IS 2Rk 25 A AR 40 50 10KV H #5425
3660 LOKVE HE L A% HE A AR 16 20 10KV H 15 25
3661 LOKVH B LR AL 84 100 IRE=7:257
3662 LOKVE B 2 IR A SF A 98 100 10KV H 15 25




3663 10KV BE 2R 35 IR 4 A AR 42 50 10KV H 1525
3664 10KV B B 22 0 11 A A 81 100 10KV H 1525
3665 10KV Z 22 AR AL F AR 80 100 10kV ;22 25
3666 10KV 22 4 H /RN — PR PRI A AR 50 50 10kVZ 222k
3667 10KV Zi %2 4 H /R B I A7 84 100 10kV 2 %2k
3668 10KV Z 22 2 H/RE I AR 86 100 10kVZ 222k
3669 10KV 2, % 2 A% L3 AR 51 50 10kVZ 222k
3670 LOKVE RER RIS A w] A% 41 50 10KV & % £;
3671 10KV R L AR 86 100 10KVZE AR 2k
3672 10KVZERAM EH AL 90 100 10KVZ AR 2k
3673 L0KVZ AR 2k B 5T R AR 90 100 10KVZE AR 2k
3674 LOKVID e 4+ o A AR 44 50 10kVib 25
3675 LOKV A b 2 ik A& IR I 48 A8 41 50 10KV AT Vb 25
3676 LOKVET VD 235 4% SR 382 A8 41 50 10k VAT 2k
3677 LOKV A b 2 ib 4% IR b 28 2 78 44 50 10K VA 70 2%
3678 10KVET VYD 25 BAT 58 A A8 42 50 10k VAT 2k
3679 LOKVAT YD 42 2 i3 A AR 163 200 10K VA 70 25
3680 LOKV AR b 2 F 7 A A 24 30 10KV AT Vb 25
3681 LOKVET Vb S bTin] 2 — A U2 A AR 22 20 10k VAT 2k
3682 LOKVAT b kb A AR 44 50 10k VAT b 2k
3683 L0KVFTYD 2k H ARTE AR 24 30 10k VAT 2k
3684 10KVET YD 2 H AR 38 A AR 42 50 10KV AT Vb 25
3685 LOKVA[ Vb 2 SF VA R T8 A AR 43 50 10KV AT Vb 25
3686 LOKVET VD 25 Ve A 688 A8 41 50 10k VAT 2k
3687 LOKVET YD 2 L5 VA 1 38 A AR 40 50 10K VA 70 2%
3688 LOKVET YD 2 355 58 A8 45 50 10k VAT 2k
3689 LOKVRT YD 2 L5 VR 48 A AR 41 50 10KV AT Vb 25
3690 LOKVAR[¥b 2 S5 VR 28 A % 40 50 10KV AT Vb 25
3691 LOKVET YD 258 18878 41 50 10k VAT 2k
3692 LOKVA Vb 2 EARIK1# A 45 50 10KV AT Vb 25
3693 LOKVRW &5 0) 2 2 HHF28 A A 175 200 10k VAT 2k
3694 LOKVAR[Vb 2570 £ £ B AR 86 100 10KV AT Vb 25
3695 LOKVA[ Vb 2 PG AR HE 1A 43 50 10KV AT b 25
3696 LOKVETVD 2 —HF — 2 A4 40 50 10k VAT 2k
3697 LOKVETVD 2 —H —2H A AR 17 20 10k VAT b 2k
3698 LOKVA A —H = A XA 83 100 10kVA i 2k




3699 LOKVAS A 2 405 111 A 43 50 10kVA i 2k
3700 1OKVA 2 AR VUL A AR 40 50 10KVA f1 2%
3701 10KVA M ZA L — 28078 43 50 10kVA ff £
3702 LOKVAR LA —H 18/ 78 95 100 10KVA f1 42
3703 10KVAR M ZA I —H AL 46 50 10KV A ff1 25
3704 LOKVA 2RI — A AAR 49 50 10KV A f1 25
3705 LOKVA f 2o K FHAY —H A7 164 200 10KVA f1 2%
3706 10KV A f 2 K FH A =2 38 A48 83 100 10KV A #1 45
3707 10KV A f 2 K FH A =228 A A8 69 80 10kVA i 2k
3708 LOKVA f 2 R B Al A7 84 100 10KVA ff1 28
3709 10KVA 2R = AA 82 100 10kVA i 2k
3710 LOKVA f 2o KIF—H AL 80 100 10KVA f1 45
3711 LOKVAR A4\ —HE X A 85 100 10KV A 1 25
3712 LOKVA A 2k )\ ff1 98 —H N7 45 50 10kVA i 2k
3713 LOKVAR 4 )\ e —H 6 X A% 80 100 10KVA f1 45
3714 LOKV S} 2 KA VR <5 i A AR 320 400 10kV 2| 2k
3715 LOKV I 2 5248 & WU A8 167 200 10k VA Ik 25
3716 LOKVE M4 b £ A T A7 80 100 10KV 42
3717 LOKVE 2 EVUH A A 255 315 10kVE Hr gk
3718 10KVE & £ A AL 85 100 10KV E Hr 4k
3719 10OKVE R E O £ —H A% 81 100 10kVE Hr gk
3720 LOKVE M EHT £ BUN A AL 282 315 10KV E #r 4k
3721 LOKVE M ek RA —H AL 25 30 10kV B #r 2k
3722 LOKVE Ak R — A4 48 50 10kVE Hr gk
3723 LOKVE M ek~ Ll A7 43 50 10KV B #r 2k
3724 1OKVE Ak R =H A 47 50 10kVE Hr Lk
3725 10KV E M2k A1 45 VU 20 A AR 25 30 10KV E #r 4k
3726 10KV E MR & 145 — =H A7 25 30 10KV E HF £k
3727 LOKVE MR &k Bl 45— H A% 25 30 10kVE Hr gk
3728 10KV 2 /R LA A AR 324 400 10kVE 2k
3729 10KV B 2k H v AHE 1A AR 81 100 10kVE T2k
3730 10KV = 23 E BAT )L & X 376 400 10K V3% 5 28
3731 10KV s 2R g Bl 2 &5 [X 469 2000 10kVEE R £k




